

1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

675.4 - 70.00 107.006 - 624.90 636.5 - 262.50 620.6 - \$208.80

APPROVED

By Arthur Faiello at 3:50 pm, Sep 26, 2022

Project

KY-Center Ridge Water District 2

Serviced	Item Code	Class	Description		Qty	Price Each	Amount	
5/11/2022	Non-contract (Operat	General Plant W	Lawn maintenance		1	675.4 70.00	70.00	1
5/20/2022	Non-contract (Operat	Services, Meters&Fire	WO 273077758 service line repair.		4.5	105.00	472.50	107.006
5/24/2022	Non-contract (Operat	Transmission & Distri	WO 273033431 Measure distribution	on lines.	2.5	636.5 105.00	262.50	
	*Reimb Group							_
5/31/2022		Source of Supply W	Central Bank Credit Card			620.6 ^{121.01}	121.01	
			Charges-Repairs/Maintenance					
5/31/2022		Services, Meters&Fire	Central Bank Credit Card			152.40	152.40	
			Charges-Repairs/Maintenance					107.006
5/31/2022		General Plant WW	Central Bank Credit Card			87.79	87.79	
			Charges-Repairs/Maintenance - Key	ys		620.6		
			Total Reimbursable Expenses			020.0	361.20	
	L	1		Total		I	\$1,166.20	



Date	Invoice #
5/31/2022	07952

0343 000 CENTER RIDGE 4	PO # CENTER RIDGE 4	TERMS: NET 10TH		E / TIME: /20/22 10:44
SOLD TO: MIDWEST WATER OPERATIONS LLC ***CASH ACCOUNT***	SHIP TO: FREDDIE OBRYAN /	DUE DATE: 5/10/22	TERMINAL: 557	
		SALESPERSON: SP SHE TAX: 001 KY	RRY POAT	
Louise		INV	OICE: A10	191
SHIPPED ORDERED UM SKU	DESCRIPTION SIMMONS YD HYDNT 2' BURY	SUGG UI		XTENSION
2 2 EA 40755 1 1 EA 4217253	2" 90 SCH80 3/4" SS ST 90		1 77.99 /EA 2 12.49 /EA	77.99 24.98
1 1 EA 4214979 1 1 EA 4215364	3/4" SS 90 3/4" SS CLOSE NIPPLE		1 8.79 /EA 1 7.99 /EA	8.79 7.99 *
1 1 EA 4217022 1 1 EA 47509	3/4X4 SS NIP 1/2"X 260" TEFLON TAPE WH		1 4.19 /EA 1 7.99 /EA	4.19 * 7.99
2 2 EA 43149 1 1 EA 45864	2X1-1/2 BS SCH40 1-1/2X3/4 BT SCH40	4.05	1 0.99 /EA 2 3.645 /EA	.99 7.29
	1 MERCINE DT SOTI40	3.95	1 3.555 /EA	3.56
	tt DAID IN SULL			
	** PAID IN FULL **	152.40	TAXABLE	143.77
			NON-TAXABLE SUBTOTAL	0.00 143.77
				(40.11
	BANKCARD PAYMENT		TAX AMOUNT	8.63
	RANKCADD DAVOR			8.63

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2252

	B.NO: PL	JRCHAS	INC.		IURRAY RENTAL AND 206 E MAIN MURRAY, KY 42 PHONE: (270) 7 RETURNS MUST BE ACCOMP. 2% ADDITIONAL CHARGE ON P	SAL N ST 2071-; 753-3	ES CEN1 2184 361	TER		PAGE N	01
	000	CR02		PO	# CR02	JER0	ET 10TH	CLER		DATE / TIME:	10.00
OLD TO: MIDWEST WA		ATION	ISLLC	SHIP TO	o: EDDIE OBRYAN /	10000	UE DATE: 5/10/	11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HIL RMINAL: 557	3/31/22	10:54
	-					SALES	PERSON: PS TAX: 001	KY			
SHIPPED	ORDERE	MILIC	CKII				IN	VOI	CE: A)622	0
1	1	EA	47509		DESCRIPTION 1/2"x 260" TEFLON TAPE WH		SUGG	UNITS	PRICE/ PE	REXTEN	SION
1 1 4 2	1 1 4 2	EA EA	49782 4011987 41024 43121		1/4 PT PVC CLEANER 1/2 PT RAIN/SHINE 2" MA SCH80		5.19 9.99	1 1 1 4	0.99 /E 4.67 /E 8.99 /E	A	.99 4.67 8.99
2	2	EA	43115		2 MA SCH40 2 FA SCH40		3.10	2	19.99 /E	A	79.96 5.58
1	1		43116 43110		1/2" MA SCH 40 PVC 436005 85/	001	3.70 .96	2	3.33 /E		6.66 .86
1	1		45917N001	_	1/2" FA SCH40 1 1/4 X 1 PUMP ADAPTER		1.07	1	0.963 /E	A	.96 5.49
_		1		_	** PAID IN FULL **		121.01	-			
							121.0		TAXABLE NON-TAXAB SUBTOTAL	LE	114.16 0.00 114.16
									TAX AMOUN	т	6.85
					BANKCARD PAYMENT BKCRD# XXXXXXX	(XXXX	1	21.01	TOTAL	1	21.01
21				AP	P: 061406 XR: 006220		X	Inl	LO'By Receive	-	

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2253

11:47 Amazon						This will be divided among all KY sites
< colored and set of the set of t		¥	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
<u> </u>	COM TRAFT					
to me ∨						PPROVED / Arthur Faiello at 3:51 pm, Sep 26, 2022
amazon business			Your Acco	ount Amazo		,
				er Confirma 13-9290262-17		
				PO# CAPb	villable	
Hello Chris Carroll, Thank you for shopping w Your order details are indi on the order invoice. If yo to it, please visit Your Ord	cated below. The pay u would like to view th lers on Amazon.com.	ment details of he status of yo	f your transa	action can be f	ound	
This order is placed on be						
Arriving: Delivery date pending. V soon as we have a deliv	Ve'll email you as (very date.	Your order will Chris Carroll CUB RUN, KY United States				
Order Details						
Order #113-9290262-1783 Placed on today, May 16	455					
	125 x Master Loc Combination Padl Tools & Home Im Sold by Amazon.c Condition: New	ock, Brass Fin provement	ish	\$15.55		
	Order Tot	tal:		\$2,106.87		
To learn more about orde						
If you want more informat Thank you for shopping w Amazon.com		istance, go to	нер.			
Recommended for	[.] you based on it	ems in you	ır order			
ABUS 5 Padlock	5/40 Solid Brass with	Ō.	Master L Padlock	ock 3D Outdoc with	or	
\$11.59		Master	\$8.98			
The payment for your inve Seattle, Washington 9810 1075					6-	
By placing your order, you Unless otherwise noted, it in accordance with the ap from a seller other than A depending upon the seller	ems sold by Amazon. plicable laws of that s mazon.com, it may be	com are subje tate. If your or subject to sta	ct to sales f der contains ate and loca	tax in select sta s one or more Il sales tax,	ates items	
about tax and seller inforr This email was sent from	nation.					
Please do not reply to this		noos mat udill		soming ciridii.		



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

636.6 - \$630.00 675.4 - \$70.00 636.5 - \$262.50 620.6 - \$87.79

Date	Invoice #
5/31/2022	07953

APPROVED By Arthur Faiello at 3:51 pm, Sep 26, 2022

Project

KY-Center Ridge Water District 3

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/9/2022 5/10/2022 5/11/2022 5/24/2022 5/31/2022	Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat	Transmission & Distri Transmission & Distri General Plant W Transmission & Distri General Plant WW	WO 273065881 excavated possib WO 273071124 repair Watermain Lawn maintenance. Wo273033431 Measure distributi Central Bank Credit Card Charges-Repairs/Maintenance - K	n leak. ion line.	2 4 1 2.5	636.6 105.00 636.6 105.00 675.4 70.00 636.5 105.00 620.6 87.79	210.00 420.00 70.00 262.50 87.79
				Total			\$1,050.29

11:47 Amazon						This will be divided among all KY site
		₹	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
	com i sui a					
to me 🗸					Δ	PPROVED
			Your Acco	unt Amazo		/ Arthur Faiello at 3:53 pm, Sep 26, 202
amazon business				r Confirma 13-9290262-17		
				PO# CAPI	oillable	
Hello Chris Carroll, Thank you for shopping wi Your order details are indic on the order invoice. If you to it, please visit Your Orde	ated below. The payn would like to view the	nent details o	of your transa	action can be t	found	
This order is placed on be	half of Midwest Water	OP.				
Arriving: Delivery date pending. W soon as we have a delive	e'll email you as C	our order will hris Carroll UB RUN, KY				
	U	nited States				
Order Details						
Order #113-9290262-17834 Placed on today, May 16	155					
	125 x Master Lock Combination Padlo Tools & Home Imp Sold by Amazon.cc Condition: New	ck, Brass Fir rovement	nish	\$15.55	i	
	Order Tota	ıl:		\$2,106.87		
To learn more about orderi If you want more informatio						
Thank you for shopping wi Amazon.com			nop.			
Recommended for	you based on ite	ems in you	ur order			
ABUS 55 Padlock	5/40 Solid Brass with	Ā	Master Lo Padlock	ock 3D Outdoo with	or	
\$11.59		Manter	\$8.98			
The payment for your invo Seattle, Washington 98108 1075					6-	
	agree to Amazon.com					
By placing your order, you Unless otherwise noted, ite in accordance with the app from a seller other than Ar depending upon the seller's	ems sold by Amazon.co blicable laws of that sta nazon.com, it may be	ate. If your o subject to st	rder contains ate and loca	one or more sales tax,	items	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

675.4 - \$140.00 636.5 - \$210.00 620.6 - \$87.79

APPROVED

By Arthur Faiello at 3:53 pm, Sep 26, 2022

Project

KY-Center Ridge Water District 4

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/11/2022	Non-contract (Operat	General Plant W	Lawn maintenance		1	675.4 70.00	70.00
5/11/2022	Non-contract (Operat	General Plant W	Lawn maintenance		1	675.4 70.00	70.00
5/24/2022	Non-contract (Operat	Transmission & Distri	WO 273033431 Measure distribut	tion line.	2	636.5105.00	210.00
5/31/2022		General Plant WW	Central Bank Credit Card			620.6 87.79	87.79
			Charges-Repairs/Maintenance - K	eys		620.6	
				Total			\$437.79



Date	Invoice #
5/31/2022	07954

11:47 Amazon						This will be divided among all KY sites
		₹	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
∕ to me ∽				-		
					Δ	PPROVED
						/ Arthur Faiello at 3:53 pm, Sep 26, 2022
amazon business		1	Your Acco			
				er Confirma 13-9290262-17		
				PO# CAPI	pillable	
Hello Chris Carroll, Thank you for shopping with Your order details are indicat on the order invoice. If you v to it, please visit Your Orders	ed below. The pay rould like to view t on Amazon.com.	rment details of the status of yo	your transa	action can be t	found	
This order is placed on beha						
Arriving: Delivery date pending. We'l soon as we have a delivery	l email you as ⁄ date.	Your order will Chris Carroll CUB RUN, KY United States	be sent to:			
Order Details Order #113-9290262-1783455	5					
Placed on today, May 16	125 x Master Loc Combination Pad Tools & Home Im Sold by Amazon. Condition: New	lock, Brass Fini	ish	\$15.55	5	
	Order To	tal:		\$2,106.87		
To learn more about ordering If you want more information Thank you for shopping with Amazon.com	or need more ass					
Recommended for y	ou based on i	tems in you	r order			
ABUS 55/4 Padlock wit \$11.59	0 Solid Brass h	Ā	Master Lo Padlock v \$8.98	ock 3D Outdoo with	Dr	
The payment for your invoice Seattle, Washington 98108-1 1075					6-	
By placing your order, you at Unless otherwise noted, item in accordance with the applic from a seller other than Ama depending upon the seller's I	s sold by Amazon able laws of that s zon.com, it may bousiness policies a	.com are subject state. If your on e subject to sta	ct to sales t der contains ite and loca	ax in select st s one or more I sales tax,	ates items	
about tax and seller informat This email was sent from a r Please do not reply to this	otification-only add	dress that cann	ot accept in	coming email.		



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 711 - \$105.00 714 - \$682.79 107.006 - \$682.50 722 - \$2240.00 705 - \$22.25 704 - \$2101.18

APPROVED By Arthur Faiello at 3:09 pm, Sep 26, 2022

Project

KY-Darlington Creek Wastewater

Serviced	Item Code	Class	Description		Qty	Price	Each	Amount	
5/11/2022	Non-contract (Operat	Services, Meters&Fire	Weedeating and mowing grass		1.5	711	70.00	105.00	
5/13/2022	Non-contract (Operat	Treatment & Disposal	WO 273065698 Replaced battery	on generator	2	714	105.00	210.00	
5/13/2022	Non-contract (Operat	Treatment & Disposal	Wo273063503 TNT replaced che starters for both pumps	ck valve and	6.5		105.00	682.50	107.006
5/20/2022	Non-contract (Operat	Collection & Pumping	Wo 273077738 unstopping line o system		1	714	105.00	105.00	
5/20/2022	Non-contract (Operat	Treatment & Disposal	Wo273077734 Buchanan pumpin tanks and sludge from digester a gallons	total 5600	4		105.00	420.00	722
5/26/2022	Non-contract (Operat	Treatment & Disposal	WO 273077738 Working on back making it operational, replace filt pumps discharge line ,working or	ers, work on	4	714	70.00	280.00	
	*Reimb Group								
5/23/2022		Treatment & Disposal	Buchanan Invoice 19091 WO 273	3077734		1,	820.00	1,820.00	722
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance			705	22.25	22.25	
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - H	Keys		714	87.79	87.79	
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charge Chemicals	es-Facility		² , 704	101.18	2,101.18	
			Total Reimbursable Expenses					4,031.22	
	1	1		Total			I	\$5,833.72	





Date	Invoice #
5/31/2022	07955

BUCHANAN CONTRACTING INC

711 BOONE AVE WINCHESTER, KY 40391 8594987824 info@buchanancontracting.net

INVOICE

BILL TO MIDWEST WATER OPERATIONS, LLC PO BOX 580 DENHAM SPRINGS, LA 70727 BUCHANAN CONTRACTING INC.

 INVOICE #
 19091

 DATE
 05/24/2022

 DUE DATE
 06/23/2022

 TERMS
 NET 30

5277 307773	4		PROJECT DARLINGTON WWTF	P-BUTLER		
DATE	ACTIVITY		QTY	RATE	AMOUNT	
05/20/2022	VAC DEBRIS HIGH PRESSURE CLEANING AN TREATMENT PLANT	ID VACUUM REMOVAL OF DEBRIS FROM	8	190.00	1,520.00	
05/20/2022	DISPOSAL FEE FEE TO DUMP DEBRIS FROM CI	LEANING OF WWTP PER LOAD	2	150.00	300.00	
PM BALLARD		BALANCE DUE		\$1,8	320.00	



7918 ALEXANDRIA PIKE ALEXANDRIA, KY 41001 (859) 592-9133 www.oreillyauto.com

Store hours: Mon-Sat: 07:00 AM-09:00 PM Sun: 09:00 AM-08:00 PM

Counter #: 419105 Date: 05/02/2022 08:47 AM Drawer: 4 Invoice #: 5175-263909

WIX 46235 AIR FILTER

20, 99 T

JOE

1 Item

Sub-Total	20, 99
Sales Tax	1.26
Total	22, 25

MC 5428 22, 25

MC XXXXXXXXXXX5428 Auth CD: 041646 REF# 223163692863

Chip Indicator: Y AID: A000000041010 Mastercard TVR: 0000008000 TSI: E800 IAD: 1010A040012200000000000000000000000



Thank you for Shopping at O'Reilly Auto Parts!

We value your opinion! Be 1 of 5 monthly winners of a \$100 OReilly gift card. Enter at OREILLYCARES. COM. Rules at OREILLYCARES. COM. Participa en Espanol.

*********** WORK AT THE O! ********	**
*	*
* JOIN OUR WINNING TEAM	*
* To learn more, text "JOBS" to 64078	*
 or visit OReillyAuto, com/Careers 	*
*	*
* ÚNETE A NUESTRO EQUIPO	*
* Para más información, envie un mensaje	*
* de texto a 64078 con la palabra "JOBS"	*
 vista OReillyAuto.com/Careers 	*
*	*
******	k k

	BE COMP P.O. Box 6 Ty Ridge, KY 4 Phone: (859) 824-4 B-mail: jebeco@sol.o	1035 055 om		
Invoice 202223 Number 202223				
Date 5-25-22	1			
Sold To:	Shipped To Darlington	Creek Development Job	#PES-0128	
Aidwest Water barles Begley	Hwy 27	County KY		
ashington, Missouri 63090	Charles Be	gley 502-759-7650		
ashington, Missouri 05070				
D. No. Charles Begley Delivery Instructions Set behind building		Salesman Jerry W. B	each	
1 Media Kit 5BMF5 .02MM Star	maland		\$403.00	\$403.00
for drum filter	ruel u			\$0.00
ICI CI CI CITA INCO	Contraction of the			\$0.00
				\$0.00
	Constanting to			\$0.00
		and the second second		\$0.00 \$0.00
The second press and the second	19 19 19 19 19 19 19 19 19 19 19 19 19 1			\$0.00
				\$0.00
				\$0.00
				\$0.00
Test and the second second	The States of States		The second second second	\$0.00
			Inclusion and the	\$0.0
				\$0.0
	dit card fee	Stand Participant	\$12.82	\$12.8
Master Card -5428				\$0.0
				\$0.0
	Mileage			\$0.0 \$0.0
	S/H			\$0.0
	ales Tex			\$24.9
	Labor			\$0.0
				\$0.0
				\$440.7
			and the second s	states and as the short of the state of the
	dit card fee Total			

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2262

A service charge of 1.5% per month will be applied to unpaid invoices over 30 days. Thank you. We appreciate your business.	Mileage S/H Sales Tax Labor Account Credit Sub Total Credit card fee Total	JE BB: COMPANY JE BB: COMPANY Provide State States Provide
ices over 30 days.	\$0.00 \$0.000\$0 \$0.000\$0 \$0.000\$0 \$0.000\$00\$0 \$0.000\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$	33.00

11:47 ▲ Amazon				.ıl Ş		This will be divided among all KY sites.
<		₩	Ū	\square	•••	Woodland Acres \$87.70 All other KY sites \$87.79
AITAZON	601W (1944) (4			6		
to me v					E	APPROVED By Arthur Faiello at 3:11 pm, Sep 26, 2022
amazon business			Your Acco	r Confirma		
				13-9290262-17		
				PO# CAPt	oillable	
Hello Chris Carroll, Thank you for shopping with Your order details are indica on the order invoice. If you to it, please visit Your Orde This order is placed on beh	ated below. The payme would like to view the rs on Amazon.com.	ent details of status of yo	f your transa	action can be f	found	
Arriving:		ur order will	be sent to:			
Delivery date pending. We soon as we have a delive	'llemailyouas Ch rydate. CU	iris Carroll IB RUN, KY ited States				
Order Details Order #113-9290262-17834						
Placed on today, May 16	55					
	125 x Master Lock Combination Padloct Tools & Home Impro Sold by Amazon.cor Condition: New	k, Brass Fin	ish	\$15.55	5	
	Order Total	:		\$2,106.87	,	
To learn more about orderir						
If you want more informatio Thank you for shopping with Amazon.com		ance, go to	neiþ.			
Recommended for	you based on iter	ms in you	ır order			
ABUS 55/ Padlock v	40 Solid Brass	Ō.	Master Lo Padlock v	ock 3D Outdoo with	Dr	
\$11.59		Master	\$8.98			
The payment for your invoid Seattle, Washington 98108- 1075					6-	
By placing your order, you Unless otherwise noted, ite in accordance with the app from a seller other than Am depending upon the seller's	ns sold by Amazon.co icable laws of that stat azon.com, it may be s business policies and	m are subje te. If your or subject to sta	ct to sales to der contains ate and local	ax in select sta one or more sales tax,	ates items	
about tax and seller informa This email was sent from a Please do not reply to this	notification-only addre		iot accept in	coming email.		



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 711 - \$1330.00 714 - \$144.44 722 - \$1575.00

APPROVED

By Arthur Faiello at 3:11 pm, Sep 26, 2022

Project

KY-Delaplain WW

Serviced	Item Code	Class	Description	Qty	Price	e Each	Amount	
5/5/2022	Non-contract (Operat	General Plant WW	Mow and lawn care	2	711	70.00	140.00	1
5/12/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed/removed weeds form plant	6		70.00	420.00	
	_		and 5 lift stations. Zw		711			
5/12/2022	Non-contract (Operat	General Plant WW	Mow and yard work	2	711	70.00	140.00	
5/23/2022	Non-contract (Operat	General Plant WW	Yardwork. Removed weeds from 5/5 lift	7		70.00	490.00	
			stations and around fence					
			line/poles/tanks/buildings @ plant. Zw		711			
5/24/2022	Non-contract (Operat	General Plant WW	Mow and yard work	2	711	70.00	140.00	
	*Reimb Group							722
5/23/2022		Treatment & Disposal	Martins Invoice 119998 WO 273080512		1	,575.00	1,575.00	722
5/31/2022		Treatment & Disposal	Central Bank Credit Card			56.65	56.65	
			Charges-Repairs/Maintenance		714			
5/31/2022		General Plant WW	Central Bank Credit Card			87.79	87.79	
			Charges-Repairs/Maintenance - Keys		714			
			Total Reimbursable Expenses				1,719.44	
			<u> </u>					-
			Total				\$2 040 44	
							\$3,049.44	

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2265



Date	Invoice #
5/31/2022	07956



Invoice

DATE	INVOICE #
5/23/2022	119998

BILL TO:

MIDWEST WATER OPERATIONS, LLC ACCOUNTS PAYABLE PO BOX 580 DENHAM SPRINGS, LA 70727

			P.O. NO.	TERMS
				Due on receipt
QUANTITY	DESCRIPTION	RATE	SERVICED	AMOUNT
3	(LOADS) PUMPING TREATMENT PLANT @ DELAPLAIN GEORGETOWN, KY - 12,000 GALLONS TOTAL	525.00	5/23/2022	1,575.00
Thank you for your b	usiness.	Tota	al	\$1,575.00
		Ba	lance Due	\$1,575.00

A finance charge of 2% per month will be applied to your unpaid due balance if payment is not received by the due date on this invoice. In the event any indebtedness owed to Martin's Sanitation Service, Inc., its' successors or assigns, is referred to a collection agency or an attorney, not a salaried employee of Martin's Sanitation Services, Inc., for collections, the undersigned expressively agrees to pay any and all costs and expenses including reasonable attorneys' fees incurred by Martin's Sanitation Service, Inc.

Phone #	Fax #	E-mail	Web Site
859-987-2529	859-987-2583	accounting@mss-kpt.com	www.martins-services.com



KOI AUTO PARTS

1470 South Main St. Paris, KY 40361 859-987-5318



SOLD TO: PARSKY Cash Sale Account 1470 Main St

Paris KY 40361

REF #	AC	CT #	P.O. #		SLM	PG	INV	DATE	TYPE	INVOICE #	TIME
			MIDWEST	WATER	DM	1		2022		754-186035	
QTY	LINE	PART	NUMBER	DESCRIE	TION	heles willing	LI	ST	COST	EXTEND	TAX
4	294	AP56		FRACT/H Acces	IPOWER/I sory D			91	13,36	53.44	Y
UNITS	BATT	FRI	LABOR	MIS	SC	COR	E	NC	N-TAX	TAXABLE	TAX
4										53.44	3.21
RECEIV	ED BY:					PAY	THIS	AMOUN	[T ==>	56.65	
			MPANY RET TRICAL PA								
	0.						ومرين		124		

1318 115 754 AAIN ST 0361 12:54:16 ARD	L VIONAAVVVVVE100	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	A0000000041010	13	1454	14	039580	Chip Read	Issuer	\$0.00	\$56.65	OUR BUSINESS	r copy
(859)987-5318 KOI AUTO PARTS 754 1470 SOUTH MAIN ST PARIS, KY 40361 M/02/2022 CREDIT CARD		Card # Chin Card:	AID:	SEQ #:	Batch #:	INVOICE	Approval Code:	Entry Method:	Mode:	Tax Amount: Cust Code:	SALE AMOUNT	THANK YOU FOR YOUR BUSINESS	CUSTOMER COPY

Quality Automotive Parts and Accessories

11:47 Amazon				.ıl Ş		This will be divided among all KY sites.
Amazou		₩	Ū	\square	•••	Woodland Acres \$87.70 All other KY sites \$87.79
✓ to me ∨					_	
			Your Acco	unt Amazo	By	PPROVED Arthur Faiello at 3:12 pm, Sep 26, 2022
amazon business			Orde	r Confirma 3-9290262-17	ation	
				PO# CAPb		
Hello Chris Carroll, Thank you for shopping wit Your order details are indic on the order invoice. If you to it, please visit Your Orde	ated below. The pays would like to view th	ment details of	your transa	iction can be f	ound	
This order is placed on beh			h			
Arriving: Delivery date pending. We soon as we have a delive	e'll email you as (ry date. (Your order will Chris Carroll CUB RUN, KY Jnited States	de sent to:			
Order Details Order #113-9290262-17834	55					
Placed on today, May 16	125 x Master Loc Combination Pade Tools & Home Imp Sold by Amazon.c Condition: New	ock, Brass Fini provement	sh	\$15.55		
	Order Tot	al:		\$2,106.87		
To learn more about orderii If you want more informatic Thank you for shopping wit Amazon.com	n or need more assi					
Recommended for	you based on it	ems in you	r order			
ABUS 55 Padlock v \$11.59	/40 Solid Brass vith	Â	Master Lo Padlock v \$8.98	ock 3D Outdoo vith	οr	
The payment for your invoi Seattle, Washington 98108- 1075					6-	
By placing your order, you Unless otherwise noted, ite in accordance with the app from a seller other than Am depending upon the seller's	ms sold by Amazon. licable laws of that s nazon.com, it may be business policies ar	com are subject tate. If your ord subject to sta	t to sales ta der contains te and local	ax in select sta one or more sales tax,	ates items	
about tax and seller informa This email was sent from a Please do not reply to this	notification-only add	ress that canno	ot accept in	coming email.		



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 711 - \$350.00 714 - \$87.79 107.006 - \$612.50

APPROVED

By Arthur Faiello at 3:12 pm, Sep 26, 2022

Project

KY-Fox Run Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/2/2022 5/3/2022	Non-contract (Operat Non-contract (Operat	Collection & Pumping General Plant WW	WO 273065042 Reset liftstation p WO 273065042 Assisted the with maintenance and cleaning of pum	removal,	2.5 5	105.00 70.00 107.006	262.50 350.00
5/13/2022	Non-contract (Operat	General Plant WW	Mowed/removed weeds from plan stations. Zw		3	70.00	210.00
5/26/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed site. Mowed I Zw	lift stations.	2	711 70.00	140.00
5/31/2022	*Reimb Group	General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - K	Keys		714 87.79	87.79
			Total Reimbursable Expenses				87.79
	1	1	1	Total			\$1,050.29

 Date
 Invoice #

 5/31/2022
 07957

Invoice

11:47 Amazon				all		This will be divided among all KY sites
<		¥	Ū	\square	•••	Woodland Acres \$87.70 All other KY sites \$87.79
/ to me ~	Sally Trans					
to nie 🗸					By	PPROVED Arthur Faiello at 3:12 pm, Sep 26, 2022
amazon business			Your Acco		on.com	
				er Confirm 13-9290262-17		
				PO# CAP	billable	
Hello Chris Carroll, Thank you for shopping with Your order details are indica on the order invoice. If you to it, please visit Your Order	ted below. The pa would like to view	ayment details o the status of yo	f your transa	action can be	found	
This order is placed on beha	alf of Midwest Wat	ler OP.				
Arriving: Delivery date pending. We soon as we have a deliver	•	Your order will Chris Carroll CUB RUN, KY United States	,			
Order Details Order #113-9290262-178345 Placed on today, May 16	125 x Master Lo Combination Pa	dlock, Brass Fir		\$15.5	5	
	Tools & Home In Sold by Amazor Condition: New		LLC			
	Order T	otal:		\$2,106.87	7	
To learn more about orderin If you want more information Thank you for shopping with Amazon.com	or need more as					
Recommended for y	ou based on	items in you	ır order			
Padlock w	0 Solid Brass th	Ā	Padlock	ock 3D Outdo with	or	
\$11.59		Master	\$8.98			
The payment for your invoic Seattle, Washington 98108-1 1075						
By placing your order, you a Unless otherwise noted, iten in accordance with the appli from a seller other than Ama depending upon the seller's	is sold by Amazo cable laws of that azon.com, it may l business policies	n.com are subje state. If your of be subject to sta	ect to sales t rder contains ate and loca	tax in select st s one or more Il sales tax,	tates items	
about tax and seller informa This email was sent from a Please do not reply to this	notification-only ad	ddress that can	not accept in	ncoming email.		



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - \$140.00 714 - \$87.79 712 - \$586.16 704 - \$393.53

APPROVED

By Arthur Faiello at 3:12 pm, Sep 26, 2022

Project

KY-Golden Acres Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/9/2022	Non-contract (Operat	General Plant WW	Mow, trim, spray weeds around trea plant and lift station. TT	atment	2	70.00 711	140.00
5/31/2022	*Reimb Group	Collection & Pumping	Central Bank Credit Card Charges-Repairs/Maintenance			586.16 712	586.16
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - Key			87.79 714	87.79
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charges- Chemicals Total Reimbursable Expenses	Facility		393.53 704	393.53 1,067.48
				Total			\$1,207.48



Date	Invoice #
5/31/2022	07958



Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2272

SHEWENT NUMBER	1028032-0001-01 01		DATE 05/16/22 PAGE NO	1	156.75	214.50	RECEIVED MAN 18 JULZ	e 0.00 44 0.00 45 22.28 0.00 0.00 20 2017 DUB 2013 333,53	111
SHPMEN	420		05/: 05/:	2 2	UNIT PRICE 156.7500	214.5000	REC REC MAY	SUB TOTAN MISC: CHANGE FREIGHT TOTAL FED.JOTHER TAX STATE TAX PAYMENT RECO. TOT	
PETTER 5110 CHARTER OAK DR. PADUCAH, KENTUCKY 42001	SHP TO: TODD TEAS WILL CALL3 FADUCAH KY	CUSTOMER P.O.NO. GOLDEN ACRES	TAKEN CUSTOMER P.O. NUMBER 228 GOLDEN ACRES	WILL CALL - PICKUP	ITEN CODE AND DESCRIPTION UM RC 703122 PL DECHLORINATION 45# L)	PL P		RDER***	CUSTOMER COPY
A Patradian KY 4200 P.O. Box 2350-5110 Charter Oak Dr. Paducah, KY 4200 (270) 443-241	ссоцит	-		WILL CA	Dise. ITEM COCE AND DESCHWITON * (1) GSRC 703122 TABLET DECHLORINATION 45# PAIL (PL)	 BIN: M51C4 1-M51C4 (2) EES A100 TABLET CHLORINE OXIDIZER 45 LB PAIL UN2880 PETTER# 110434 1-N10C1 BIN: N10C1 			
HENRY A. DO Email And Sup Paulon Paulon 270	CRECAR BUL TO: CREDIT CARD ACCOUNT	GOLDEN	SHPARKT NUMBER SI 1028032-0001-01	33	ORDERED SO.RET. SHIPPED	r B		CODE DYLANTION CODE DYLANTION STRT TAX APPLORALE STATE TAX APPLORALE STATE OVERDIAL TAX STATE DAY OF TAX APPLORALE STATE OWNER DAY OF TAX APPLORALE DAY OF T	OVER, SHORT, AND DAMAGE REPORTS MUST BE MADE TO US WITHIN 10 DAYS OF SHIPMENT, NO RETURNS ACCEPTED OF SHIPMENT, NO RETURNS ACCEPTED

11:47 Amazon				. il 🤅		This will be divided among all KY sites.
<		₹	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
\smile	com traits					_
to me 🗸						APPROVED By Arthur Faiello at 3:13 pm, Sep 26, 2022
amazon business			Your Acco	ount Amazo	on.com	,
				er Confirma 13-9290262-17		
				PO# CAPt	oillable	
Hello Chris Carroll, Thank you for shopping with Your order details are indice on the order invoice. If you to it, please visit Your Order	ted below. The pays would like to view th	ment details of	your transa	action can be f	found	
This order is placed on beh	alf of Midwest Water	r OP.				
Arriving: Delivery date pending. We soon as we have a deliver	ʻllemailyouas (ydate. (four order will Chris Carroll CUB RUN, KY Jnited States	be sent to:			
Order Details Order #113-9290262-178348 Placed on today, May 16	125 x Master Loc Combination Padl Tools & Home Imj Sold by Amazon.c Condition: New	ock, Brass Fini provement	ish	\$15.55	5	
	Order Tot	al:		\$2,106.87	,	
To learn more about orderin If you want more information Thank you for shopping with Amazon.com	or need more assi					
Recommended for y	ou based on it	ems in you	r order			
ABUS 55/ Padlock w \$11.59	40 Solid Brass ith	C.	Master L Padlock \$8.98	ock 3D Outdoo with	Dr	
The payment for your invoic Seattle, Washington 98108- 1075					6-	
By placing your order, you a Unless otherwise noted, iter in accordance with the appl from a seller other than Am depending upon the seller's	ns sold by Amazon. cable laws of that s azon.com, it may be business policies ar	com are subject tate. If your or subject to sta	ct to sales t der contains ite and loca	ax in select sta s one or more I sales tax,	ates items	
about tax and seller informa This email was sent from a Please do not reply to this	notification-only add		ot accept in	coming email.		



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

722 - \$1140.00 711 - \$128.33 715 - \$70.00 714 - \$317.65

APPROVED

By Arthur Faiello at 3:13 pm, Sep 26, 2022

Project

KY-Great Oaks Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/6/2022	Non-contract (Operat	Treatment & Disposal	WO 273072951 2 Loads Sludge V	Vasting	2	722 70.00	140.00
5/12/2022	Non-contract (Operat	General Plant WW	Mow and trim entire site		1.83333	711 70.00	128.33
5/23/2022	Non-contract (Operat *Reimb Group	General Plant WW	WO 273033431 ERP Information		1	70.00	70.00
5/6/2022	•	Treatment & Disposal	Mike Petter Invoice 11398 WO 27	73072951	722	1,000.00	1,000.00
5/31/2022		Treatment & Disposal	Central Bank Credit Card			229.86	229.86
		_	Charges-Repairs/Maintenance		714		
5/31/2022		General Plant WW	Central Bank Credit Card			87.79	87.79
			Charges-Repairs/Maintenance - K	leys	714		
			Total Reimbursable Expenses				1,317.65
				Total			\$1,655.98

Date Invoice # 5/31/2022 07959

Invoice

715





Septic Tank Pumped 2/ords out of plant

Sink Lines Unstopped

Unstop Inlet Line

Clean Field Line

Grease Trap Pumped

Cut Roots from Line

Unstop Commode

Washer Drain

Floor Drain

Dumping Fee

Replace Line

Other

Total Payment due upon completion of job. A late penalty will be added to all unpaid invoices after 30 days from date listed above.

4

Sewer lines unstopped, grease traps, septic tanks & cesspools pumped. Licensed, Bonded and Insured in Kentucky & Illinois





Exhibit 1-13 Page 2277

cei	pt		5110 C	harter Oak E	H.A. Petter Supply Cor Dr. Paducah, Kentucky 2 270	npany LLC 120015209 1-443-2441
r Contact Infor	mation	No. of Concession, Name of	No. of Concession, Name		1.	C. S. D. S.
ardholder Name ardholder Phone ardholder Emai Customer Name	n h		Вії То А	ddress:		
п Туре				-	The Martin	Sec. 1
Created Date	Authorize And Capture 4/22/2022 10:03:36 AM EDT 4/22/2022 10:03:36 AM EDT None		Authorizatio Authorization	Status: Subn n Date: 4/22/ n Code: 0827 VS Zip: None	2022 10:03:36 AM EDT 35	
Information				and the state	A CONTRACTOR OF THE OWNER	
and the state of the	TODD TEAS		Card	Brand: MC		
	xxxxx-xxxx-xxxx-1382		Security Code :		ded	
Card Number	xxxxx-xxxx-xxxx-1382				ded	
Card Number Code Response	2000-3000-3000-1382 Matched 1026452-01 420015209		Security Code	Status: Provi e umber: 1026 4 Date:		
Card Number Code Response formation omer Ref Value: nvoice Number: m Postal Code:	2000-3000-3000-1382 Matched 1026452-01 420015209		Security Code : Order Nu Invoice	Status: Provi e umber: 1026 4 Date:		
Card Number Code Response formation omer Ref Value; nvoice Number; m Postal Code; acking Number; Totals Code	: XXXX-XXXX-XXXX-1382 Matched 1026452-01 420015209 Description	UOM Code EA	Security Code : Order Nu Invoice Shipping Con	Status: Provi umber: 10264 Date: npany: None	153-01 AMT	EXTAMT
Card Number Code Response formation omer Ref Value; nvoice Number; m Postal Code; acking Number; Totals Code	: xxxx-xxxx-xxxx-1382 Matched 1026452-01 420015209	UOM Code EA	Security Code : Order Nu Invoice Shipping Con	Status: Provi umber: 10264 Date: upany: None	153-01	EXT AMT \$393.53
Card Number Code Response formation omer Ref Value; nvoice Number; m Postal Code; acking Number; Totals Code	: XXXX-XXXX-XXXX-1382 Matched 1026452-01 420015209 Description		Security Code : Order Nu Invoice Shipping Con	Status: Provi umber: 10264 Date: npany: None	453-01 AMT \$393.53 Sub-Total:	\$393.53 \$393.53
Card Number code Response ormation omer Ref Value; nvoice Number; m Postal Code; acking Number; Totals Code	: XXXX-XXXX-XXXX-1382 Matched 1026452-01 420015209 Description		Security Code : Order Nu Invoice Shipping Con	Status: Provi umber: 10264 Date: npany: None	453-01 AMT \$393.53 Sub-Total: Sales Tax:	\$393.53 \$393.53 \$0.00
Card Number Code Response formation omer Ref Value; nvoice Number; m Postal Code; acking Number; Totals Code	: XXXX-XXXX-XXXX-1382 Matched 1026452-01 420015209 Description		Security Code : Order Nu Invoice Shipping Con	Status: Provi umber: 10264 Date: npany: None	453-01 AMT \$393.53 Sub-Total: Sales Tax: Freight Amount:	\$393.53 \$393.53 \$0.00 \$0.00
Card Number Code Response formation omer Ref Value; nvoice Number; m Postal Code; acking Number; Totals Code	: XXXX-XXXX-XXXX-1382 Matched 1026452-01 420015209 Description		Security Code : Order Nu Invoice Shipping Con	Status: Provi umber: 10264 Date: npany: None	453-01 AMT \$393.53 Sub-Total: Sales Tax: Freight Amount: Freight Tax:	\$393.53 \$393.53 \$0.00 \$0.00 \$0.00
Card Number Code Response formation omer Ref Value; nvoice Number; m Postal Code; acking Number; Totals Code	: XXXX-XXXX-XXXX-1382 Matched 1026452-01 420015209 Description		Security Code : Order Nu Invoice Shipping Con	Status: Provi umber: 10264 Date: npany: None	453-01 AMT \$393.53 Sub-Total: Sales Tax: Freight Amount:	\$393.53 \$393.53 \$0.00 \$0.00

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2278

11:47 Amazon		il 🗢 🔳			This will be divided among all KY sites
	₹	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
to me v				(
					APPROVED
					By Arthur Faiello at 3:14 pm, Sep 26, 202
amazon business		Your Acc			
			er Confirm 13-9290262-17		
			PO# CAP	billable	
Hello Chris Carroll,					
Thank you for shopping with us. We'll send Your order details are indicated below. The on the order invoice. If you would like to vi o it, please visit Your Orders on Amazon.c	payment details ew the status of	of your trans	action can be	found	
This order is placed on behalf of Midwest \					
Arriving: Delivery date pending. We'll email you a		vill be sent to:			
soon as we have a delivery date.	CUB RUN, H United State	(Y			
Order Details					
Order #113-9290262-1783455 Placed on today, May 16					
Combination Tools & Home	Lock 175 Set Y Padlock, Brass F e Improvement zon.com Services	Finish	\$15.5	5	
Orde	r Total:		\$2,106.87	7	
Fo learn more about ordering, go to Orderin f you want more information or need more					
Thank you for shopping with us. Amazon.com	assistance, go t	u neip.			
Recommended for you based o	on items in yo	our order			
ABUS 55/40 Solid Brass Padlock with	Ō	Master L Padlock	.ock 3D Outdo	or	
\$11.59	Master	\$8.98			
The payment for your invoice is processed Seattle, Washington 98108-1226. If you ner 1075					
By placing your order, you agree to Amazo Juless otherwise noted, items sold by Ama n accordance with the applicable laws of th from a seller other than Amazon.com, it ma depending upon the seller's business polici	azon.com are sub hat state. If your ay be subject to s	oject to sales order contain state and loca	tax in select st s one or more al sales tax,	tates items	
about tax and seller information.					



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - \$630.00 714 - \$87.79

APPROVED By Arthur Faiello at 3:14 pm, Sep 26, 2022

Project

Date

5/31/2022

Invoice

Invoice #

07960

KY-Herrington Haven WW

Serviced	Item Code	Class	Description	Qty	у	Price Each	Amount
5/11/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowed/removed weed Zw	ds from yard.	5	70.00	350.00
5/26/2022 5/31/2022	Non-contract (Operat	General Plant WW General Plant WW	Zw Yardwork. Mowed site. Zw Central Bank Credit Card Charges-Repairs/Maintenance - K	ζeys	4	711 70.00 87.79 714	280.00 87.79
				Total			\$717.79

11:47				all		
Amazon		₽	ĪŪ	M	•••	This will be divided among all KY sites Woodland Acres \$87.70
			ш			All other KY sites \$87.79
) to m	ne ~				(-
						APPROVED
						By Arthur Faiello at 3:14 pm, Sep 26, 2022
amazonbusines	s		Your Acco	ount Amazo		• • • • •
				er Confirma 13-9290262-17		
				PO# CAPI	billable	
Your order details on the order invo	Carroll, opping with us. We'll send a s are indicated below. The pa ice. If you would like to view Your Orders on Amazon.com	yment details o the status of yo	f your transa	action can be t	found	
This order is place	ced on behalf of Midwest Wat	er OP.				
	ending. We'll email you as e a delivery date.	Your order will Chris Carroll CUB RUN, KY United States	,			
Order Details						
Order #113-92902 Placed on today,						
C	125 x Master Lo Combination Pac Tools & Home In Sold by Amazon Condition: New	dlock, Brass Fir	lish	\$15.55	5	
	Order To	otal:		\$2,106.87	7	
	out ordering, go to Ordering f information or need more as					
Thank you for sh Amazon.com		sistance, go to	пер.			
Recommend	ded for you based on	items in you	ır order			
	ABUS 55/40 Solid Brass	Ō		ock 3D Outdoo	or	
(CED)	Padlock with \$11.59	Manter	Padlock \$8.98	with		
	your invoice is processed by ton 98108-1226. If you need i					
By placing your of Unless otherwise in accordance will from a seller othe	order, you agree to Amazon.cr noted, items sold by Amazon th the applicable laws of that er than Amazon.com, it may b the seller's business policies a	a.com are subject state. If your on the subject to state	ect to sales f rder contains ate and loca	tax in select st s one or more Il sales tax,	tates items	
about tax and sel	ller information.					
	ent from a notification-only ad		not accept in	coming email.		



1351 Jefferson Street, Suite 301 Washington, MO 63090

Invoice

Date	Invoice #
5/31/2022	07961

Т

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - \$1610.00 107.006 - \$1769.86 712 - \$455.00 714 - \$367.79 722 - \$600.00

APPROVED

By Arthur Faiello at 3:14 pm, Sep 26, 2022

Project

KY-Kingswood Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
5/2/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowed site. Got dark, have to return to weed eat. Zw	3	711 70.00	210.00	1
5/4/2022	Non-contract (Operat	General Plant WW	WO 273067057 took apart the pressure relief valve for blower 1 made a temporary gasket and measured it to order a new one JD	4	70.00 107.006	280.00	
5/4/2022	Non-contract (Operat	Treatment & Disposal	WO 273067057 Temporary replacement of pressure relief valve gasket	4	107.006 70.00	280.00	
5/5/2022	Non-contract (Operat	General Plant WW	Finished yardwork. Removed weeds. Zw	4	711 70.00	280.00	
5/10/2022	Non-contract (Operat	Treatment & Disposal	WO 273067057 installed the new pressure relief valve for the aeration system and adjusted the spring to the right psi JD	2.5	70.00 107.006	175.00	
5/10/2022	Non-contract (Operat	Treatment & Disposal	WO 273067057 Replacement of pressure relief	2.5	107.006 70.00	175.00	
5/13/2022	Non-contract (Operat	Collection & Pumping	WO273073085 answered call out about the lift station alarm.K.C.	4	105.00 107.006	420.00	
5/13/2022	Non-contract (Operat	General Plant WW	Yard care JD	3	711 70.00	210.00	
5/13/2022	Non-contract (Operat	General Plant WW	Yard care	3	711 70.00	210.00	
5/14/2022	Non-contract (Operat	Collection & Pumping	WO 273073085 Check liftstation due to customer service complaint.	1	105.00 107.006	105.00	
5/15/2022	Non-contract (Operat	Collection & Pumping	WO 273073085 Check liftstation due to customer service complaint. Wire in alarm speaker.	1	105.00 107.006	105.00	
5/16/2022	Non-contract (Operat	Collection & Pumping	WO 273074955 Call out for lift station alarm K.C.	3	712 105.00	315.00	
5/23/2022	Non-contract (Operat	Collection & Pumping	WO 273033431 Kingswood station	2	70.00	140.00	712
5/24/2022	Non-contract (Operat	Treatment & Disposal	WO 273081246 Cleaned the contact chamber. K.C.	4	70.00 714	280.00	
5/25/2022	Non-contract (Operat	General Plant WW	Mowed the yard outside the fence along the road and inside around the plant JD	5	711 70.00	350.00	
5/25/2022	Non-contract (Operat	General Plant WW	Yard work	5	711 70.00	350.00	1
5/27/2022	Non-contract (Expert *Reimb Group	Treatment & Disposal	WO 273080635 Vacuum Truck Service SSS	6	722 100.00	600.00	
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance		229.86	229.86	107.00
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - Keys		714 87.79	87.79	
	1	1	Total		<u> </u>		1



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131



Date	Invoice #
5/31/2022	07961

Project

KY-Kingswood Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
			Total Reimbursable Expenses				317.65
				Total			\$4,802.65

AT&T LTE

11:20 AM





UO

USABlueBook Orders Wednesday To: jduncan@midwestwaterop.com >

USABlueBook Order Confirmation

USABlueBook Order Confirmation

*** PLEASE PRINT ORDER CONFIRMATION OUT AND RETAIN IT FOR FUTURE REFERENCE ***

Order Number 777205

Bill To: Chris Conley Midwest Water Operations LIC P O BOX 580 Denham Springs, LA 70727 UNITED STATES		Customer ID 1040590 Order Date 5/4/2022 2:01:09 PN Ship To: Midwest Water Operations Llc Midwest Water Operations Llc 470 GEORGE CHILDRESS RD Cub Run, Ky 42729					
UNITED ST 636-432-21	TATES	United States 270-218-2155					
Order Date	e: 5/4/2022 2:01:09 PM	Locale/ Currency: en-US	/ USD				
Payment Method:	CREDITCARD	Name On Card: Josh D	Juncan				
Card Type	MASTERCARD	Card Number: ****754	40				
SKU: 63729	Product Spring-Loaded Pressure Relief Valve (3")	Quantity 1	Price Ext. I \$202.95 \$20				
Order Note	es:	SubTotal:	\$202				
None		Estimated Shipping:	FedEx \$12 Ground Service				
		Estimated Tax:	\$12				
		Total:	\$228				

To learn more about ordering, gr	We'll send a below. The pa dd like to view a Amazon.com f Midwest Wa mail you as	ayment details v the status of n. ater OP. Your order w	Order # once your ite of your trans your order of rill be sent to II (Y	er Confirm 113-9290262- PO# CA ms have shipp saction can be r make any cl	zon.com nation 1783455 Pbillable ped. e found	Woodland Acres \$87.70 All other KY sites \$87.79 APPROVED By Arthur Faiello at 3:15 pm, Sep 26, 20.
to me ~ Amagon business Hello Chris Carroll, Thank you for shopping with us. Your order details are indicated I on the order invoice. If you would to it, please visit Your Orders on This order is placed on behalf o Arriving: Delivery date pending. We'll en soon as we have a delivery dat Order Details Order Platis Order #113-9290262-1783455 Placed on today, May 16 Conter #113-9290262-1783455 Placed on today, May 16 To learn more about ordering, getting the source of the s	We'll send a below. The pa dd like to view a Amazon.com f Midwest Wa mail you as	ayment details v the status of m. ater OP. Your order w Chris Carrol CUB RUN, K	Order # Order # once your ite of your trans your order of will be sent to	er Confirm 113-9290262- PO# CA ms have shipp saction can be r make any cl	zon.com nation 1783455 Pbillable ped. e found	
Amaxon business Hello Chris Carroll, Thank you for shopping with us. Your order details are indicated on the order invoice. If you would to it, please visit Your Orders on This order is placed on behalf o Arriving: Delivery date pending. We'll er soon as we have a delivery dat Order Details Order Petails Order #113-9290262-1783455 Placed on today, May 16 I2 Co To Sc Cc Sc Cc To Sc Cc Sc	below. The pa Id like to view Amazon.com f Midwest Wa mail you as	ayment details v the status of m. ater OP. Your order w Chris Carrol CUB RUN, K	Order # Order # once your ite of your trans your order of will be sent to	er Confirm 113-9290262- PO# CA ms have shipp saction can be r make any cl	zon.com nation 1783455 Pbillable ped. e found	
Hello Chris Carroll, Thank you for shopping with us. Your order details are indicated I on the order invoice. If you would to it, please visit Your Orders on This order is placed on behalf o Arriving: Delivery date pending. We'll en- soon as we have a delivery date Order Details Order Details Order #113-9290262-1783455 Placed on today, May 16 12 Control Control Cont	below. The pa Id like to view Amazon.com f Midwest Wa mail you as	ayment details v the status of m. ater OP. Your order w Chris Carrol CUB RUN, K	Order # Order # once your ite of your trans your order of will be sent to	er Confirm 113-9290262- PO# CA ms have shipp saction can be r make any cl	zon.com nation 1783455 Pbillable ped. e found	
Hello Chris Carroll, Thank you for shopping with us. Your order details are indicated I on the order invoice. If you would to it, please visit Your Orders on This order is placed on behalf o Arriving: Delivery date pending. We'll en- soon as we have a delivery date Order Details Order Details Order #113-9290262-1783455 Placed on today, May 16 12 Control Control Cont	below. The pa Id like to view Amazon.com f Midwest Wa mail you as	ayment details v the status of m. ater OP. Your order w Chris Carrol CUB RUN, K	Order # Order # once your ite of your trans your order of will be sent to	er Confirm 113-9290262- PO# CA ms have shipp saction can be r make any cl	nation 1783455 Pbillable ped.	Sy Arthur Paleno at 3. 15 pm, Sep 20, 20.
Thank you for shopping with us. Your order details are indicated to on the order invoice. If you woul to it, please visit Your Orders on This order is placed on behalf on Arriving: Delivery date pending. We'll en soon as we have a delivery date Order Details Order #113-9290262-1783455 Placed on today, May 16 12 Con Soc Con To learn more about ordering, gr	below. The pa Id like to view Amazon.com f Midwest Wa mail you as	ayment details v the status of m. ater OP. Your order w Chris Carrol CUB RUN, K	Order # once your ite of your trans your order of rill be sent to II (Y	113-9290262- PO# CA ms have ship saction can be r make any cl	Pbillable ped.	
Thank you for shopping with us. Your order details are indicated to on the order invoice. If you woul to it, please visit Your Orders on This order is placed on behalf on Arriving: Delivery date pending. We'll en soon as we have a delivery date Order Details Order #113-9290262-1783455 Placed on today, May 16 12 Con Soc Con To learn more about ordering, gr	below. The pa Id like to view Amazon.com f Midwest Wa mail you as	ayment details v the status of m. ater OP. Your order w Chris Carrol CUB RUN, K	of your trans your order of rill be sent to II (Y	ms have ship saction can be r make any cl	bed.	
Thank you for shopping with us. Your order details are indicated to on the order invoice. If you woul to it, please visit Your Orders on This order is placed on behalf on Arriving: Delivery date pending. We'll en soon as we have a delivery date Order Details Order #113-9290262-1783455 Placed on today, May 16 12 Con Soc Con To learn more about ordering, gr	below. The pa Id like to view Amazon.com f Midwest Wa mail you as	ayment details v the status of m. ater OP. Your order w Chris Carrol CUB RUN, K	of your trans your order of rill be sent to II (Y	saction can be r make any cl	found	
Arriving: Delivery date pending. We'll er soon as we have a delivery da Order Details Order #113-9290262-1783455 Placed on today, May 16 12 Co To Sc Co To Sc Co	mail you as	Your order w Chris Carrol CUB RUN, K	ll KY	Y:		
soon as we have a delivery da Order Details Order #113-9290262-1783455 Placed on today, May 16 12 Cc To Sc Cc To Sc Cc		CUB RUN, K	(Y			
Order #113-9290262-1783455 Placed on today, May 16 12 Co To So Co To So Co						
Order #113-9290262-1783455 Placed on today, May 16 12 Co To So Co To So Co						
Placed on today, May 16 12 Co To So To So To So To So To So To So To So To So To So To To So To So To So To So To To To To To To To To To T						
To learn more about ordering, gr						
	ombination Pa ols & Home I	n.com Services	inish	\$15.	55	
	Order T	Total:		\$2,106.	37	
	o to Ordering	from Amazon.	com.			
If you want more information or Thank you for shopping with us. Amazon.com	need more as	issistance, go to	o Help.			
Recommended for you	based on	items in yo	our order			
ABUS 55/40 S Padlock with		Ō	Master Padlock	Lock 3D Outd	001	
\$11.59		Master	\$8.98			
The payment for your invoice is Seattle, Washington 98108-1226 1075						
By placing your order, you agree Unless otherwise noted, items so in accordance with the applicabl from a seller other than Amazon depending upon the seller's busi	old by Amazo e laws of that i.com, it may	on.com are sub it state. If your be subject to s	oject to sales order contair state and loc	tax in select ns one or mor al sales tax,	states e items	
about tax and seller information. This email was sent from a notif						



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - \$140.00 715 - \$70.00 107.006- \$3000.00 714 - \$87.79 -\$140.00 Total due \$3297.79

Invoice

Date	Invoice #
5/31/2022	07962

APPROVED By Arthur Faiello at 3:15 pm, Sep 26, 2022

Project

KY-Lake Columbia Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/11/2022	Non-contract (Operat	General Plant WW	WO 273076584 straighten fence pos reattached the temporary fence to th likely cause was vandalism K.C.		1	70.00 715	70.00
5/26/2022	Non-contract (Operat	Collection & Pumping	WO 273080480 2205240212 120 Columbia ln Locates at 120 Columbia ln and 240 ln) Columbia	2	70.00 coi paj	— <u>140.00</u> ntract ops don' /
5/27/2022	Non-contract (Operat *Reimb Group	General Plant WW	Weed eat around plant		2	711 70.00	140.00
5/1/2022		Treatment & Disposal	Advanced Electrical Invoice 4252 W 273056132	VO		500.00 107.006	500.00
5/25/2022		Collection & Pumping	Scott's Sewer Invoice 000026 WO 2	73022689	107.006	2,500.00	2,500.00
5/31/2022		General Plant WW	Central Bank Credit Card		10,1000	87.79	87.79
			Charges-Repairs/Maintenance - Key	vs		714	
			Total Reimbursable Expenses	, 		,	3,087.79
	L	<u> </u>		Total			\$3,437.79


Issue date May 25, 2022

This one was'nt paid and i Canceled It....18 Invoice Still Active

Bill To Angela Armand Midwest Water Operations,LLC Ap@midwestwaterop.com 225-278-6287 1351 Jefferson Street suite 301 Washington, MO 63090	Invoice Details PDF created June 23, 2022 \$2,500.00 Date of service March 11, 2022		Payment Due August 19, 2022 \$2,500.00	
Item		Quantity	Price	Amount
work order 273022689camera, aug columbia In mr ledforddug pipe up daysdug up 165 columbia In east 135 columbia In 250 ft from house,th 175 columbia In	in two places in two mud causing backup at	1	\$2,500.00	\$2,500.00
Subtotal				\$2,500.00
Total Due				\$2,500.00



Pay online

To pay your invoice go to https://gosq.me/u/MCONvx1f

Or open your camera on your mobile device, and place the code on the left within the camera's view.

Page 1 of 1



Invoice

Invoice Number 4252 Invoice Date 4/21/2022

Bill To: Midwest Water Treatment ap@midwestwaterop.com

RE: Midwest Water-295 Columbia Ln

Cathy Terry

Job No	Customer Job No	Customer PO	O Terms		Due Date	
220290			Due Upo	on Receipt	4/21/2022	
Work Date	Descr	Description		Rate / Per Uni	t Amount	
Labor:						
4/21/2022	Foreman		4.(93.	75 375.00	

	Total Amount Due:	500.00
	Sales Tax:	0.00
	Service Charge:	125.00
	Subtotal:	375.00
	Equip Rental:	0.00
Louisville, KY 40233	Subcontractor:	0.00
PO Box 36503	Material Subtotal:	0.00
Remit To:Advanced Electrical Systems	Labor Subtotal:	375.00

11:47 Amazon						This will be divided among all KY site
	₩			•••	Woodland Acres \$87.70 All other KY sites \$87.79	
Hosenia	cam (Cal			- 6-		
to me v					ſ	APPROVED
						By Arthur Faiello at 3:15 pm, Sep 26, 202
amazon business			Your Acco	ount Amazo	on.com	by Arthur Faleno at 3. 15 pm, Sep 20, 202
- <u>G</u>				r Confirm		
				PO# CAP	billable	
Hello Chris Carroll, Thank you for shopping wit Your order details are indic on the order invoice. If you to it, please visit Your Orde	ated below. The p would like to viev	ayment details on withe status of y	of your transa	action can be	found	
This order is placed on bel	nalf of Midwest Wa	ater OP.				
Arriving: Delivery date pending. We soon as we have a delive		Your order wil Chris Carroll CUB RUN, KY United States	(
Order Details Order #113-9290262-17834 Placed on today, May 16	125 x Master L Combination Pa Tools & Home	n.com Services	nish	\$15.5	5	
	Order ⁻	Total:		\$2,106.87	7	
To learn more about orderi If you want more informatic Thank you for shopping wit Amazon.com	n or need more a					
Recommended for	you based on	items in yo	ur order			
	/40 Solid Brass with	Â	Master Lo Padlock v \$8.98	ock 3D Outdo vith	or	
\$11.59				Box 81226		
\$11.59 The payment for your invoi Seattle, Washington 98108						
Contraction of the second	1226. If you need agree to Amazon. ms sold by Amazo licable laws of tha azon.com, it may business policies	I more information com's Privacy N on.com are subject at state. If your o be subject to st	on, please co otice and Co act to sales ta rder contains ate and local	ntact (866) 21 nditions of Us ax in select st one or more sales tax,	16- se. tates titems	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

107.006 - \$640.00 711 - \$560.00 715 - \$175.00 714 - \$192.79 722 - \$4872.50 total Due \$6440.29 -\$140.00

APPROVED

Invoice

Date	Invoice #
5/31/2022	07964

Project

By Arthur Faiello at 3:15 pm, Sep 26, 2022

KY-LH Treatment Wastewater

contract ops

							don't pay	-
Serviced	Item Code	Class	Description		Qty	Price Each	Amount	
5/4/2022	Non-contract (Operat	General Plant WW	273065873 273065603 locates for and 112 prater. Zw	t10 Thomas	2	70.00	140.00	+
5/10/2022	Non-contract (Operat	Treatment & Disposal	WO273071706 #1blower not worl Andy TNT, trouble shooting switc only using #2		0.5	70.00 714	35.00	
5/11/2022	Non-contract (Operat	Treatment & Disposal	WO 273071706 Working with TN blower	T on #1	0.5	714 70.00	35.00	
5/12/2022	Non-contract (Operat	Treatment & Disposal	WO 273071706 TNT replaced bre blower put blower back in service		0.5	714 70.00	35.00	
5/20/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowing/weed removal	l. Zw	3	711 70.00	210.00	
5/23/2022	Non-contract (Expert	Treatment & Disposal	WO 273079732 Annual test for B Preventer, install complete rebuild		4.3	100.00 107.006	430.00	
5/23/2022	Non-contract (Operat	General Plant WW	273079732 Met w/ Joe Arnold and leaking back flow. Zw		3	70.00 107.006	210.00	
5/23/2022	Non-contract (Operat	General Plant WW	Wo 273033431 ERP Gather Data		1	70.00	70.00	715
5/25/2022	Non-contract (Operat	General Plant WW	273080597 Assisted Buchanan's in haul. 3 loads. Zw	n a sludge	5	70.00 722	350.00	
5/25/2022	Non-contract (Operat	Collection & Pumping	Wo273080597 pumping sludge fro and scum baffles total of 5loads 12		3	70.00 722	210.00	
5/27/2022	Non-contract (Operat	General Plant WW	Retrieved mower from kingswood was placed back from mechanic.) removed weeds from LH. Zw		5	70.00 711	350.00	
5/27/2022	Non-contract (Operat	General Plant WW	Wo 273080513 Put hose bib on hy repaired gate entrance	ydrant and	1	105.00 715	105.00	
	*Reimb Group							
5/31/2022		Treatment & Disposal	Buchanan Invoice 19387 WO 273	08597		4,312.50	4,312.50	72
5/31/2022		General Plant WW	Central Bank Credit Card			87.79	87.79	
			Charges-Repairs/Maintenance - K Total Reimbursable Expenses	eys		714	4,400.29	
				Total			\$6,580.29	



BUCHANAN CONTRACTING INC

711 BOONE AVE WINCHESTER, KY 40391 8594987824 info@buchanancontracting.net

INVOICE

BILL TO

MIDWEST WATER OPERATIONS, LLC PO BOX 580 DENHAM SPRINGS, LA 70727 BUCHANAN CONTRACTING INC.

 INVOICE #
 19387

 DATE
 05/31/2022

 DUE DATE
 06/30/2022

 TERMS
 NET 30

PO # 273080597	JOB # 91002022	PROJECT LONGVIEW GOLF	COURSE		
DATE	ACTIVITY	QTY	RATE	AMOUNT	
05/24/2022	WASTE HAULING PUMPING OF WWTP - RATE STATED PER 1,000 GALI	12.50 LONS	285.00	3,562.50	
05/24/2022	DISPOSAL FEE FEE TO DUMP DEBRIS FROM CLEANING PUMP STAT	5 FION	150.00	750.00	
BALLARD		BALANCE DUE	\$4,	312.50	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - \$600.00 714 - \$87.79

> **APPROVED** By Arthur Faiello at 3:16 pm, Sep 26, 2022

> > Project

KY-Marshall Ridge Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/9/2022	Non-contract (Expert	General Plant WW	Mow, trim around lagoon system.	. TT	3	711 100.00	300.00
5/12/2022	Non-contract (Expert	General Plant WW	Spray weed killer around lagoon TT	levee, fence.	3	711 100.00	300.00
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - K	ζeys		714 87.79	87.79
				Total			\$687.79



Date	Invoice #
5/31/2022	07965

11:47 Amazon				.ıl 🔶	· 🔲 ,	This will be divided among all KY sites.
<		₽	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
\smile	Solution of the					
to me 🗸						APPROVED By Arthur Faiello at 3:16 pm, Sep 26, 2022
amazonbusiness				unt Amazon		
				r Confirma 3-9290262-178		
				PO# CAPbi	llable	
Hello Chris Carroll, Thank you for shopping with Your order details are indica on the order invoice. If you to it, please visit Your Order	ted below. The paym would like to view the	ent details of	your transa	iction can be fo	ound	
This order is placed on beh	alf of Midwest Water	OP.				
Arriving: Delivery date pending. We soon as we have a deliver	'll email you as Cl y date. Cl	our order will I hris Carroll UB RUN, KY nited States	be sent to:			
Order Details						
Order #113-9290262-178345 Placed on today, May 16	5					
	125 x Master Lock Combination Padlor Tools & Home Impi Sold by Amazon.co Condition: New	ck, Brass Finis	sh	\$15.55		
	Order Tota	I:		\$2,106.87		
To learn more about orderin						
If you want more information Thank you for shopping with Amazon.com		tance, go to F	ieip.			
Recommended for y	ou based on ite	ms in you	r order			
ABUS 55/ Padlock w	40 Solid Brass ith	Ō.	Master Lo Padlock v	ock 3D Outdoor vith	r	
\$11.59		Manter	\$8.98			
The payment for your invoic Seattle, Washington 98108- 1075					-	
By placing your order, you a Unless otherwise noted, iter in accordance with the appl from a seller other than Am depending upon the seller's	ns sold by Amazon.co cable laws of that sta azon.com, it may be business policies and	om are subjec ate. If your orc subject to stat	t to sales ta ler contains le and local	ax in select sta one or more il sales tax,	tes tems	
about tax and seller informa This email was sent from a Please do not reply to this	tion. notification-only addre					

-



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

107.006 - \$595.00 713.001 - \$140.00 711 - \$1821.47 715 - \$245.00 712 - \$227.50 714 - \$681.91 722 - \$2150.00

Invoice

Date	Invoice #
5/31/2022	07966

APPROVED By Arthur Faiello at 3:16 pm, Sep 26, 2022

Project

KY-Persimmon Ridge Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
5/10/2022	Non-contract (Operat	Collection & Pumping	WO 273071057 alarm from lift station KY-LS-2 @Persimmon, K.C.	1.5	712 70.00	105.00	
5/12/2022	Non-contract (Operat	Treatment & Disposal	WO 273074076 got in the boat in the lagoon went across to the aerator pulled the steel cable up and ran it across to the bank and reattached it back to the anchor in the ground JD	3.5	70.00 107.006	245.00	
5/12/2022	Non-contract (Operat	General Plant WW	Had to pick the mower up from kingswood weedeated around the plant had to put the belt and tensioner back on the mower JD	8.5	70.00 711	595.00	
5/12/2022	Non-contract (Operat	General Plant WW	Picking up mower from kingswood, yard care, fixing of slipped belt and thrown tensioning spring	8.5	70.00 711	595.00	
5/12/2022	Non-contract (Operat	Water Treatment & Pu	WO 273074076 Repairing steel cable after it was cut	3.5	70.00 107.006	245.00	
5/13/2022	Non-contract (Operat	General Plant WW	Weed eat lagoon 2	2	711 70.00	140.00	
5/13/2022	Non-contract (Operat	General Plant WW	Finished mowing and trimming	4	711 70.00	280.00	
5/13/2022	Non-contract (Operat	Treatment & Disposal	WO 273074076 added another cable clamp to put on the steel cable JD	2.5	70.00 107.006	175.00	
5/13/2022	Non-contract (Operat	Water Treatment & Pu	WO 273074076 Adding extra clamps to secure steel cable	2.5	70.00 107.006	175.00	
5/18/2022	Non-contract (Operat	Collection & Pumping	WO 273074955 after receiving several low level alarms back to back went to check the Villa's pump station. Cleaned transducer and asked Andy with TNT to temporarily change the level settings until I can have the well	2	70.00 713.001	140.00	713
5/20/2022	Non-contract (Operat	Treatment & Disposal	cleaned. WO 273077870 Arrived at plant an noticed blower four in lagoon one wasn't running. Checked control panel and found that timer wasn't working correctly. Replaced timer and blew a couple fuses. Unable to locate specific fuse. Called tht in to replace fuses with a breaker	3	70.00	210.00	714
5/20/2022	Non-contract (Operat	Collection & Pumping	WO 270386448 checked effect of raising the wet well level at the villa's lift station	0.5	105.00 712	52.50	
	1	1	Total		<u> </u>		1



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131



Date	Invoice #
5/31/2022	07966

Project

KY-Persimmon Ridge Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
5/20/2022	Non-contract (Operat	Treatment & Disposal	WO 273077870 simple timer replacement Friday evening gone wrong	on a 2	105.00	210.00	714
5/25/2022	Non-contract (Operat	Collection & Pumping	WO 273066115 Emergency locate 225 persimmon ridge dr	1	712 70.00	70.00	
5/25/2022	Non-contract (Operat	Collection & Pumping	WO 273076448 Met derby city vac truck a persimmon to suck out deep liftstation and liftstation at lagoons		70.00 722?	280.00	
5/26/2022	Non-contract (Operat	General Plant WW	Trimmed grass, not all, and applied pre-emergent to the plant beds K.C.	0.25	105.00 711	26.25	
5/26/2022	Non-contract (Operat	General Plant WW	Trimmed grass, not all, and applied pre-emergent to the plant beds K.C.	0.75	711 105.00	78.75	
	*Reimb Group						
5/25/2022						1,870.00	
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Lawn Maintenance		722 1,870.00 106.47 711	106.47	
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance		174.12 714	174.12	
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - Keys		87.79 714	87.79	
			Total Reimbursable Expenses			2,238.38	
	1		Tota	al		\$5,860.88	1

Derby City Environmental 3336 Kramers Lane Louisville, KY 40216 US 502-447-3000 kdempster@derbycityenvironmental.com



DATE 05/25/2022 DUE DATE 06/24/2022 TERMS Net 30

BILL TO

INVOICE

Midwest Water Ops Accounts Payable P.O. Box 580 Denham Springs, LA 70727 SHIP TO Midwest Water Ops Persimmon Ridge

PLEASE DETACH TOP PORTION AND RETURN WITH YOUR PAYMENT.

		BALANCE DUE	\$1	,870.00
05/25/2022 05/25/2022	Vactor Vactor Solidification	Vactor Truck Hourly Fee - 2 Lift Stations Solidification of material pumped by Vactor	2 1,000	1,150.00 720.00
DATE	ACTIVITY	DESCRIPTION	QTY	AMOUNT



ax: (502) 0001			1	ild	(10n
7. 11				PACKING	LIST
LD TO ACCOUNT 222222226	DUDDUUS	and the second	and the second	EMPLOYEE PAGE	
RANCH 448	PURCHASE ORDER NUMBER	DELIVERY DATE A		XAXG327 1 0	DF 1
01 PLANTSIDE DR	DEPARTMENT NUMBER	UNUTIEUEE	SALES ORDER NUMB	ER DELIVERY	
DUISVILLE KY 40299-1919	DEL ANTMENT NOMBER	DBT/CRD CODE	1443953016	6545708056	
ULER 40299-1919	REQUISITIONER	CASH BRANCH ADDRES			242 TO
ATHY CAREY	REQUISITIONER	1901 PLANTS	IDE DR		CONTRACTOR OF
ELEPHONE NUMBER	PROJECT/JOB NUMBER		KY 40299-1919		
026505124	PROJECTIJOB NUMBER	502-499-0001		CASH REC'D/PAID TRA	NS TYPE
	PO RELEASE NUMBER	CHECK NUMBER	CHECK AMOUNT	CASH REC DIFAID	
HIP TO	TO RELEASE NOMBER			E WILL FOLLOW	
	SPECIAL INSTRUCTIONS	A LONG DALLAND	CALES TERMS AND C	CONDITIONS ON REVERSE	SIDE
BRANCH 448	OF ECIAL INSTRUCTIONS	State In	SALES TERMOTOR	TOD VOUR OR	DER
1901 PLANTSIDE DR	the second second second	and the second s	THANK YOU	FOR YOUR ORI	
LOUISVILLE KY 40299-1919	1		FREIGHT TERMS	DATE SHIPPED/PICKED	JP
	CARRIER NAME	# OF BOXES			and the second
	NONE		PPA		TOTAL
ATTENTION	NONE	BACKORDER MESSAGE	TAX	UNIT PRICE	129.84
TEM DESCRIPTION	ITEM NUMBER SHIP QTY	BACKORDER	Т	43.28	120.04
THIS PURCHASE IS GOVERNED EXCLUSIVELY BY GRAINGER TERMS OF SALE IN CEUTORIS () DISPUTE RESOLUTION	CRAINGER.	cartify that if I am purchasing the of trade" as defined in the Hazards in Title 49 of the Code of Federal I use the material(s) in direct suppor Which is not transportation), and	Regulations. I intend to rt of my principal business I do not intend to resell the	Shipping Tax Total	0.0 7. 137
REMEDIES, ANUT DISCLAMERS IN EFFECT AT THE TIME TO LIMITATIONS AN ADDISCLAMERS IN EFFECT AT THE TIME TO GROER, WHICH ENCORPORATED BY REFERENCE HERE GRAINGERS TERMIS OF SALE ARE AVAILABLE AT WWW.GRAINGER.COM. PRODUCT RETURN INSTRUCTIONS ARE AVAILABLE AT	SAP DELIVERY	which is not transport them in a ve			
WWW.GRAINGER.COM/RETURNS	6545708056		Visit our web	site @ www.grainger.com	
These items are sold for domestic consumption in the United States. If exported, purchaser assumes ful responsibility for compliance with US export controls.					



LOWE'S HOME CENTERS, LLC 4930 NORTON HEALTHCARE BLU LOUISVILLE, KY 40241 (502) 420-1452

- SALE -SALES#: S2245BMX 3817269 TRANS#: 2080313 05-20-22

735336	ETH I	FNN 30A 1	IME-DELAY FU	32.56
			16.28	
251314	ICE I	MOUNTAIN	7CONL SPORT	1.98

	SU	BTOTAL:		34.54
		TAX:	1 S	1.95
INVUICE 02	466	TOTAL:		36.49
		H/C:		36.49

 H/C: X.(XXXXXXXXX7884 AHOUNT:36.49 AUTHCD: 023613 CH IP REFID:224502123250 05/20/22 16:58:30 APL: Mastercard TVR: 0000008000 AID: A000000041010 TSI: E800
 STORE: 2245 TERNINAL: 02 05/20/22 16:58:33
 ITEMS PURCHASED: 3 EXCLUDES FEES, SERVICES AND SPECIAL ORDER ITEMS



THANK YOU FOR SHOPPING LOWE'S. FOR DETAILS ON OUR RETURN POLICY, VISIT LOWES.COM/RETURNS A WRITTEN COPY OF THE RETURN POLICY IS AVAILABLE AT OUR CUSTOMER SERVICE DESK

STORE MANAGER: PRESTON SMITH

LOWE'S PRICE PROMISE FOR HORE DETAILS, VISIT LOWES.COM/PRICEPROMISE

<u>ተ</u> ጥቶ የቆ የቆት ቆለእጅ ቆቶ እጅ ቆቶ ቆቶ ቆቶ ቆቶ ቆሳ ቀጥ የ ጥጥ የ የ የ የ የ የ የ የ የ የ የ የ የ የ የ የ	
SHARE YOUR FEEDBACK!	X
ENTER FOR A CHANCE TO BE	×
DIE OF FIVE \$500 VINNERS DRAWN NONTHLY!	
IENTRE EN EL SORTEO MENSUAL	*
PARA SER UND DE LOS CINCO GANADORES DE \$500!	
	×
ENTER BY COMPLETING A SHORT SURVEY	*
WITHIN ONE VEEK AT: www.lowes.com/survey	4
YOUR ID #024666 224521 405200	*
	*
HO DIDCHOSE NECESSARY TO ENTER OR WIN.	*

SPEEDWAY 0009451 Louisville KY 40245 TRAN#: 5137537 5/13/2022 9:47 AM Pump 12 Regular Unleaded 4.305 @ \$4.399/GAL GAS TOTAL \$18.94 TAX \$0.00 TOTAL \$18.94 MastercardFleet Card Num : TERM: 0050009451001 TRANS TYPE: CAPTURE APPR#: 097485 ENTRY METHOD: Chip Card JSD\$ 18.94 Mastercard AID: A0000000041010 05/13/2022 09:45:32

PIN Bypassed

Cardholder agrees to bay to issuer total charges per the agreement between cardholder & issuer. Now Hiring! Apply at Speedway.com/careers or text Speedway to 25000 NWW.speedway.com





1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

I	nv	'0i	ce

Date	Invoice #
5/31/2022	07967

711 - \$544.98 714 - \$87.79

APPROVED

By Arthur Faiello at 3:17 pm, Sep 26, 2022

Project

KY-Randview Wastewater

Serviced	Item Code	Class	Description		Qty	Price Ea	ch	Amount
5/13/2022	Non-contract (Operat	General Plant WW	Spray weed killer around lagoon T lift stations. TT	levee, both	4	70 711	.00	280.00
	*Reimb Group							
5/31/2022		General Plant WW	Central Bank Credit Card Charge Maintenance	es-Lawn		711 ²⁶⁴	.98	264.98
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - F	Kevs		87 714	.79	87.79
			Total Reimbursable Expenses					352.77
				Total				\$632.77

11:47 Amazon						This will be divided among all KY sites Woodland Acres \$87.70
a mazor		*	Ū		•••	All other KY sites \$87.79
∪′ to me ∨					By	PPROVED Arthur Faiello at 3:17 pm, Sep 26, 2022
amazon business				er Confirma	ation	
			Order #1	13-9290262-17 PO# CAPI		
Hello Chris Carroll, Thank you for shopping Your order details are int on the order invoice. If y to it, please visit Your Or This order is placed on t	with us. We'll send a d dicated below. The pay ou would like to view ders on Amazon.com.	yment details of the status of yo	your transa	action can be t	found	
Arriving: Delivery date pending. soon as we have a deli	very date.	Your order will Chris Carroll CUB RUN, KY United States	be sent to:			
Order Details Order #113-9290262-178 Placed on today, May 16		llock, Brass Fini aprovement	sh	\$15.55	5	
	Order To	tal:		\$2,106.87	,	
To learn more about ord/ If you want more informa Thank you for shopping Amazon.com	tion or need more ass					
	r you based on i 55/40 Solid Brass	tems in you		ock 3D Outdoo with	or	
\$11.59		Master	\$8.98			
The payment for your inv Seattle, Washington 9810 1075					6-	
By placing your order, you Unless otherwise noted, in accordance with the a from a seller other than depending upon the seller shout the and college infection.	items sold by Amazon pplicable laws of that Amazon.com, it may b r's business policies a	.com are subject state. If your ore e subject to sta	ct to sales t der contains te and loca	tax in select st s one or more I sales tax,	ates items	
about tax and seller infor This email was sent from Please do not reply to the	a notification-only ad	dress that cann	ot accept in	ncoming email.		

-



Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2305



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

715 - \$332.79 712 - \$140.00 107.006 - \$19562.22

> **APPROVED** By Arthur Faiello at 3:17 pm, Sep 26, 2022

> > Project

KY-River Bluffs Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
5/1/2022	Non-contract (Operat	Collection & Pumping	WO 273010640 Fill up generator	1	715 105.00	105.00	1
5/1/2022	Non-contract (Operat	Collection & Pumping	WO 273062672 Meet with Scott to camera sewer main on locust ct East. Talked to customer. Determined clog was in his lateral line	2	70.00 712	140.00	
5/1/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	107.006105.00	210.00	
5/2/2022	Non-contract (Operat	Collection & Pumping	WO 273018630 filled up the generator and fuel cans for the lift station JD	3.5	70.00	245.00	
5/2/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2.5	70.00	175.00	
5/3/2022	Non-contract (Operat	Collection & Pumping	WO 273018630 filled the generator and refilled the fuel cans JD	3	70.00	210.00	
5/3/2022	Non-contract (Operat	Treatment & Disposal	WO 273065630 had to unclog the raz lines and skimmer lines in both tanks JD	4	70.00	280.00	
5/3/2022	Non-contract (Operat	Treatment & Disposal	WO 273065545 sprayed all the thick sludge off the top of both clarifiers to break so the skimmer lines would suck it down JD	4	70.00	280.00	
5/3/2022	Non-contract (Operat	Treatment & Disposal	WO 273065630 Unclogging of return lines	4	70.00	280.00	
5/3/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	70.00	140.00	
5/3/2022	Non-contract (Operat	Collection & Pumping	W/O 273065545 set up generator and pump to plant liftstation due to no power and spray down both clarifiers	4	70.00	280.00	
5/4/2022	Non-contract (Operat	Collection & Pumping	WO 273010640 Fill up generator	1	70.00	70.00	
5/4/2022	Non-contract (Operat	Treatment & Disposal	WO 273065630 one of the skimmer lines on tank 1 was clogged got it unclogged and working again JD	4	70.00 107.006	280.00	
5/4/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	107.00670.00	140.00	
5/4/2022	Non-contract (Operat	Treatment & Disposal	W/O 273067142 Wasting out plant 2 for reseeding	6	105.00	630.00	107
5/5/2022	Non-contract (Operat	General Plant WW	WO 273074079 Picking up of trailer from kingswood and loading debris and trash onto it	9	70.00	630.00	107
5/5/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	70.00	140.00	107
5/5/2022	Non-contract (Operat	Collection & Pumping	W/O 273067142 reseeding plant	4.5	105.00	472.50	107
			Total				1

 Date
 Invoice #

 5/31/2022
 07968

Invoice



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
5/31/2022	07968

Project

KY-River Bluffs Wastewater

5/6/2022 No 5/7/2022 No 5/7/2022 No 5/7/2022 No 5/8/2022 No 5/9/2022 No 5/9/2022 No 5/9/2022 No 5/10/2022 No 5/10/2022 No 5/10/2022 No	Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat	General Plant WW Collection & Pumping Collection & Pumping Collection & Pumping Collection & Pumping General Plant WW Collection & Pumping General Plant WW	WO 273035209 Met Beto and max to load up equipment needed at timberland W/O 273018630 generator check WO 273010640 Fill up generator W/O 273018630 generator check WO 273010640 Fill up generator W/O 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD WO installed a new fernco and v notched it for	1 2 1 2 1 2 6 2 2.5 2.5	715 70.00 70.00 105.00 105.00 105.00 105.00 70.00 70.00 70.00	70.00 140.00 105.00 210.00 105.00 210.00 420.00 140.00 175.00	107.0
5/7/2022 No. 5/7/2022 No. 5/8/2022 No. 5/8/2022 No. 5/8/2022 No. 5/9/2022 No. 5/9/2022 No. 5/9/2022 No. 5/10/2022 No. 5/10/2022 No. 5/10/2022 No.	Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat	Collection & Pumping Collection & Pumping Collection & Pumping Collection & Pumping General Plant WW Collection & Pumping General Plant WW	needed at timberland W/O 273018630 generator check WO 273010640 Fill up generator W/O 273018630 generator check WO 273018630 generator check WO 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	1 2 1 2 6 2 2.5	70.00 105.00 105.00 105.00 70.00 70.00 70.00	105.00 210.00 105.00 210.00 420.00 140.00	107.0
5/7/2022 No. 5/7/2022 No. 5/8/2022 No. 5/8/2022 No. 5/8/2022 No. 5/9/2022 No. 5/9/2022 No. 5/9/2022 No. 5/10/2022 No. 5/10/2022 No. 5/10/2022 No.	Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat	Collection & Pumping Collection & Pumping Collection & Pumping Collection & Pumping General Plant WW Collection & Pumping General Plant WW	 W/O 273018630 generator check WO 273010640 Fill up generator W/O 273018630 generator check WO 273010640 Fill up generator W/O 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD 	1 2 1 2 6 2 2.5	105.00 105.00 105.00 70.00 70.00 70.00	105.00 210.00 105.00 210.00 420.00 140.00	107.0
5/7/2022 No 5/7/2022 No 5/8/2022 No 5/8/2022 No 5/8/2022 No 5/9/2022 No 5/9/2022 No 5/10/2022 No 5/10/2022 No 5/10/2022 No	Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat	Collection & Pumping Collection & Pumping Collection & Pumping Collection & Pumping General Plant WW Collection & Pumping General Plant WW	WO 273010640 Fill up generator W/O 273018630 generator check WO 273010640 Fill up generator W/O 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	1 2 1 2 6 2 2.5	105.00 105.00 105.00 70.00 70.00 70.00	105.00 210.00 105.00 210.00 420.00 140.00	
5/7/2022 No. 5/8/2022 No. 5/8/2022 No. 5/9/2022 No. 5/9/2022 No. 5/10/2022 No. 5/10/2022 No.	Non-contract (Operat Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat	Collection & Pumping Collection & Pumping General Plant WW Collection & Pumping General Plant WW	 W/O 273018630 generator check WO 273010640 Fill up generator W/O 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD 	1 2 6 2 2.5	105.00 105.00 70.00 70.00 70.00	105.00 210.00 420.00 140.00	
5/8/2022 No 5/8/2022 No 5/9/2022 No 5/9/2022 No 5/9/2022 No 5/10/2022 No 5/10/2022 No 5/10/2022 No	Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat Non-contract (Operat	Collection & Pumping Collection & Pumping General Plant WW Collection & Pumping General Plant WW	WO 273010640 Fill up generator W/O 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	1 2 6 2 2.5	105.00 105.00 70.00 70.00 70.00	105.00 210.00 420.00 140.00	
5/8/2022 No. 5/9/2022 No. 5/9/2022 No. 5/10/2022 No. 5/10/2022 No.	Non-contract (Operat Ion-contract (Operat Non-contract (Operat Non-contract (Operat	Collection & Pumping General Plant WW Collection & Pumping General Plant WW	Fill up generator W/O 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	6 2 2.5	105.00 70.00 70.00 70.00	210.00 420.00 140.00	
5/9/2022 No 5/9/2022 No 5/10/2022 No 5/10/2022 No 5/10/2022 No	Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat	General Plant WW Collection & Pumping General Plant WW	 W/O 273018630 generator check WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD 	6 2 2.5	70.00 70.00 70.00	420.00 140.00	
5/9/2022 No 5/9/2022 No 5/10/2022 No 5/10/2022 No 5/10/2022 No	Ion-contract (Operat Ion-contract (Operat Ion-contract (Operat	General Plant WW Collection & Pumping General Plant WW	WO 273074079 Went to the dump to unload the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	6 2 2.5	70.00 70.00 70.00	420.00 140.00	
5/9/2022 No 5/10/2022 No 5/10/2022 No 5/10/2022 No	Jon-contract (Operat Jon-contract (Operat	Collection & Pumping General Plant WW	the trailer that had the old materials from the old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	2	70.00 70.00	140.00	
5/10/2022 No. 5/10/2022 No. 5/10/2022 No.	Ion-contract (Operat	General Plant WW	old blower building JD W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	2.5	70.00		
5/10/2022 No. 5/10/2022 No. 5/10/2022 No.	Ion-contract (Operat	General Plant WW	W/O 273018630 generator check WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	2.5	70.00		
5/10/2022 No. 5/10/2022 No. 5/10/2022 No.	Ion-contract (Operat	General Plant WW	WO 273074079 went to the dump to unload the second load of materials from the old blower building JD	2.5	70.00		
5/10/2022 No 5/10/2022 No	······································		the second load of materials from the old blower building JD			175.00	
5/10/2022 Not	Jon-contract (Operat	Treatment & Disposal	blower building JD	2.5			
5/10/2022 Not	Jon-contract (Operat	Treatment & Disposal		2.5			
5/10/2022 Not	Ion-contract (Operat	Treatment & Disposal	WO installed a new fernco and v notched it for	25			
				2.5	70.00	175.00	
	_	_	the skimmer line JD				
	Ion-contract (Operat	General Plant WW	WO 273074079 Dumping of debris	2.5	70.00	175.00	
5/10/2022 Not	Ion-contract (Operat	Treatment & Disposal	WO 273074077 Replacement of furncoat	3	70.00	210.00	
			header for raz line				
5/10/2022 No	Ion-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	70.00	140.00	
5/11/2022 No	Ion-contract (Operat	Collection & Pumping	WO 273010640 Checked on generator. Tried	1	70.00	70.00	
			to fill up but credit card wasn't working				
5/11/2022 Not	Ion-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	70.00	140.00	
5/12/2022 No	Ion-contract (Operat	Collection & Pumping	WO 273010640	1	105.00	105.00	
			Fill up generator				
		Collection & Pumping	W/O 273018630 generator check	2	70.00	140.00	
5/13/2022 No	Ion-contract (Operat	Collection & Pumping	WO 273010640	1	70.00	70.00	
			Fill up generator				
5/13/2022 No	Ion-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	70.00	140.00	
5/14/2022 No	Ion-contract (Operat	Collection & Pumping	WO 273010640	1	105.00	105.00	
			Fill up generator				
5/14/2022 No	Ion-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
5/31/2022	07968

Project

KY-River Bluffs Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
5/15/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	107.0
5/16/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	70.00	140.00	
5/17/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/18/2022	Non-contract (Operat	Collection & Pumping	WO 273010640	1	105.00	105.00	
	_		Fill up generator				
5/18/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/19/2022	Non-contract (Operat	Collection & Pumping	WO 273010640	1	105.00	105.00	
	_		Fill up generator				
5/19/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/20/2022	Non-contract (Operat	Collection & Pumping	WO 273010640	1	105.00	105.00	
	_		Fill up generator				
5/20/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/21/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/22/2022	Non-contract (Operat	Collection & Pumping	WO 273010640	1	105.00	105.00	
			Fill up generator				
5/22/2022	Non-contract (Operat	Collection & Pumping	WO 273010640	1	105.00	105.00	
			Check generator still on full				
5/23/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/24/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2.5	105.00	262.50	
5/24/2022	Non-contract (Operat	General Plant WW	W/O 273080427 pressure wash facility	5	70.00	350.00	
5/25/2022	Non-contract (Operat	General Plant WW	WO 273074079 cleaned up the rest of the junk	5	70.00	350.00	
			from the old blower building JD				
5/25/2022	Non-contract (Operat	General Plant WW	WO 273074079 Loading trash and debris onto	5	70.00	350.00	
			trailer				
5/25/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/26/2022	Non-contract (Operat	Collection & Pumping	WO 273010640 Fill up generator	1	70.00	70.00	
5/26/2022	Non-contract (Operat	General Plant WW	WO 273074079 went to the dump and emptied	4	70.00	280.00	
			the old materials off the trailer JD				
5/26/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00	
5/27/2022	Non-contract (Operat	Collection & Pumping	WO 273010640 Fill up generator	1	70.00	70.00	
5/28/2022	Non-contract (Operat	Collection & Pumping	WO 273010640 Fill up generator	1	105.00	105.00	
5/29/2022	Non-contract (Operat	Collection & Pumping	WO 273010640 Fill up generator	1	105.00	105.00	
	*Reimb Group						
5/9/2022		Collection & Pumping	Sunbelt Invoice 123134087-0003 WO 273018630		1,952.48	1,952.48	
		1	Total		<u> </u>		1



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
5/31/2022	07968

Project

KY-River Bluffs Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charges-Capital Improvements, Construction Materials		1,134.13 107.006	1,134.13	
5/31/2022		Collection & Pumping	Central Bank Credit Card Charges-Equipme Rentals	ent	3,941.94 107.006	3,941.94	
5/31/2022		Collection & Pumping	Central Bank Credit Card Charges-Repairs/Equipment Rental			276.90	107.006
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance		31.77	31.77	107.006
5/31/2022		Collection & Pumping	Central Bank Credit Card Charges-Repairs/Maintenance		150.00	150.00	107.006
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - Keys		715 87.79	87.79	
			Total Reimbursable Expenses			7,575.01	
			Tota	I		\$20,035.01	

11:47 Amazon				.ill 🤤		This will be divided among all KY sites
		¥	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
	on com li sui			- S.	10.00	
to me	~					
						PPROVED
amazonbusiness			Your Acc	ount Amazo		y Arthur Faiello at 3:18 pm, Sep 26, 2022
				er Confirma 13-9290262-17		
				PO# CAPI	billable	
Your order details are on the order invoice. I	DII, ng with us. We'll send a d indicated below. The pay f you would like to view f Orders on Amazon.com.	yment details o the status of yo	f your trans	action can be t	found	
This order is placed o	n behalf of Midwest Wate	er OP.				
Arriving: Delivery date pendin soon as we have a d	g. We'll email you as lelivery date.	Your order will Chris Carroll CUB RUN, KY United States	,			
		Childa Olales				
Order Details						
Order #113-9290262-1						
Placed on today, May	16 125 x Master Lo	ok 175 Sot Vou		\$15.55		
	Combination Pad Tools & Home Im Sold by Amazon. Condition: New	dlock, Brass Fin	lish	¥10.50	,	
	Order To	otal:		\$2,106.87	,	
To learn more about o	ordering, go to Ordering f	rom Amazon.co	om.			
If you want more infor Thank you for shoppin Amazon.com	mation or need more ass	sistance, go to	Help.			
Recommended	for you based on i	items in you	ır order			
	IS 55/40 Solid Brass lock with	Ā	Master L Padlock	ock 3D Outdoo with	or	
\$11.	59	planter	\$8.98			
	invoice is processed by 8108-1226. If you need r					
Unless otherwise note in accordance with the from a seller other that	you agree to Amazon.co d, items sold by Amazon e applicable laws of that an Amazon.com, it may b eller's business policies a	n.com are subje state. If your or be subject to sta	ect to sales rder containa ate and loca	tax in select st s one or more al sales tax,	ates items	
about tax and seller in						
Please do not reply to		urcəə uldı udfil		coming email.		

-

INVOICE TO INVOICE TO INVOIC	INVOICE ND ALL PAYMENTS TO: SUNBELT RENTALS, INC. PO BOX 409211 TLANTA, GA 30384-9211 RECEIVED BY MCLAIN PURCHASE OR	, CHRIS DER NO.	0. 79259 E 5/09 PAGE	/22 1 of 1
JOB ADDRESS WWTP 3719 E LOCUST CIR PROSPECT, KY 40059 8025 239-270-4108	BRANCH SHEPHERI 550B SP/	DSVILLE PC24 ARROW DR DSVILLE, KY		473
QTY EQUIPMENT # 1.00 20KW DIESEL GENERATOR 701849 Make: MQ POWER Model: D HR OUT: 7167.327 HR IN: 8877.755 #after hour charge under delivery SALES ITEMS: Qty Item number Unit 1 ENVIRONMENTAL EA ENVIRONMENTAL/HAZMAT FEE 2133XXX000 1 RENTAL PROTECTION PLAN EA BILLED FOR FOUR WEEKS 4/23/22 THRU	Price 30.710	695.00 1 7150992	4 week 575.00	Amount 1575.00 1575.00 30.71 236.25
Quipment. Service. Guaranteed. EMIT TO: JNBELT RENTALS, INC. JNBELT RENTALS, INC. NET 30 D BOX 409211 Invoices not paid within 30 days FLANTA, GA 30384-9211 BARBARA FINNERTY barbar	s may be subject to a 1-1/2%	TOTAL ES TAX E TOTAL EK BILL		1,841.96 110.52 1,952.48

🖬 AT&T 🗢 VPN	12:14 PM		•	97% 🔳
<	Ŧ	Û		

======= GENERAL INFORMATION

========

Merchant : Derby City Environmental (1914241) Date/Time : 25-May-2022 6:51:20 PDT

======= ORDER INFORMATION

========

Invoice : 114142 Description : Haul and dispose Amount : 5290.00 (USD) Payment Method: MasterCard xxxx7884 Transaction Type: Authorization and Capture

============= Line Items

========= RESULTS

==================

Response : This transaction has been approved. Auth Code : 000661 Transaction ID : 43416316542 Address Verification : Street Address: No Match -- First 5 Digits of Zip: Match

==== CUSTOMER BILLING INFORMATION === Customer ID : First Name : James



P.O. Box 242 Memphis, IN 47143

1.80 31.77 31.77 \$29.97 SALE 101060700122000056880000000000 \$9.99 EA EXPR: XXXX THANK YOU FOR SHOPPING AT BRIDWINSBORD HARDWARE AND PAINT (502) 292-2595 570 AMT: \$ Bat# Authorizing Network: MASTERCARD 69 69 69 MID:********6526 TID:***9578 BK CARD#: XXXXXXXXXXX7540 TOTAL: TAX: N. 4114 BC AMT: 29.97 420785 3X3 FLEXIBLE COUPLING Chip Read A0300000041010 05/10/22 4:12PM RK Host reference #:07 Name : Mastercard ATC :000E 000000000000 : 1125115951 AUTH: 064614 : Issuer M : NO CVM SUB-FOTA_:\$ TxnID/Vai0 00 Bank car AC

Welcome to Shell	SHELL 13142 W HIGHWAY 42 PROSPECT, KY 40059 12395859007 12395859007 05/03/2022 129701887 12:17:44 PM	PUMP# 8 25.000G DIESEL 25.000G PRICE/GAL \$5.099	FUEL TOTAL \$ 127.48 CREDIT \$ 127.48	Mastercard USD\$127.48

MasterCard cams 112.86 112.86 23.0376 \$4.899 05/02/2022 129701465 13142 W HIGHWAY 42 60 69 X 11:54:53 AM 12395859007 FUEL TOTAL -PRICE/GAL Welcome to Shell PROSPECT PUMP# 1 DIESEL 40059 USD\$112.86 SHELL CREDI Mastercard

trodit. Leam more and apply today! www.shelicrediteard.com	Welcome to Shell	SHELL 13142 W HIGHWAY 42 13142 W HIGHWAY 42 PROSPECT, KY 40059 12395859007 12395859007 05/05/2022 129702724 05/05/2022 129702724	PUMP# 8 DIESEL 18.814G PRICE/GAL \$5.099	Mastercard USD\$95.93 XXXX XXXX XXXX 7540 Chip Read

agair



42	9695634	24.000G \$4.899	117.58	\$ 117.58
4	926	4.001 \$4.81	N- T	1-
é a	000	2 4 4	T	T
MH >			69	69
UT C	307 22 AM		AL	
SHELL 13142 W HIGHWAY 42 PROSPECT, KY	12395859007 04/20/2022 129695634 10:34:25 AM	PRICE/GAL	FUEL TOTAL	CREDIT
JNLO	20/02 34:	SEL CE/		DI
SHELL 13142 PROSP 40059	12300 12300 10:00	PUMP# DIESE PRICE	IJ.	CRE
Str H	TTOT	000	ш	

SHELL

13142 W HIGHWAY 42 PROSPECT, KY 40059 12395859007 04/17/2022 129694343 11:28:45 AM

PUMP# 8 DIESEL 14.862G PRICE/GAL \$4.899

FUEL TOTAL \$ 72.81

CREDIT \$ 72.81

Mastercard USD\$72.81 XXXX XXXX XXXX 7884 Chip Read APPROVED AUTH # 056424 INV # 312348 Mode: Issuer AID: A0000000041010 TVR: 0000000000000 00000000000000000 0000FF TSI: E800 ARC: 00

Please come again

SHELL 13142 W HIG PROSPECT, K 40059 12395859007 04/14/2022 03:59:08 PM	129692984		
PUMP# 8			
DIESEL	10.2536		
PRICE/GAL	\$4.899		
A Constant State	3 damas 11 y N		
FUEL TOTAL	\$ 50.23		
CREDIT	\$ 50.23		
Mastercard USD\$50.23 XXXX XXXX XXXX 7884 Chip Read APPROVED AUTH # 030022 INV # 304063 Mode: Issuer AID: A00000000041010 TVR: 000000000000000000000000000000000000			

Please come again




Welcome to Shell

SHELL 13142 W HIGHWAY 42 PROSPECT, KY 40059 12395859007 05/14/2022 129707353 03:41:34 PM

*** REPRINT *** REPRINT *** REPRINT *** PUMP# 2 DIESEL 23.608G PRICE/GAL \$5.099

FUEL TOTAL \$ 120.38 *** REPRINT *** REPRINT *** REPRINT ***

CREDIT \$ 120.38

Mastercard USD\$120.38 XXXX XXXX XXXX 7884 Chip Read APPROVED AUTH # 082784 INV # 394205 Mode: Issuer AID: A0000000041010 TVR: 0000000000000 IAD: 1010A0400122000 00000FF TSI: E800 ARC: 00



Welcome to Shell	
SHELL	
13142 W HIGH PROSPECT, KY 40059 12395859007	
05/08/2022 1 10:02:52 AM	29703781
PUMP# 8 DIESEL PRICE/GAL	19.889G \$5.099
FUEL TOTAL \$	101.41
CREDIT \$	101.41
Mastercard USD\$101.41 XXXX XXXX XXXX 7884 Chip Read APPROVED AUTH # 061051 INV # 372425 Mode: Issuer AID: A00000000041010 TVR: 00000000000000 0000FF TSI: E800 ARC: 00	
Please come again	and the second

	ana (BA)	an amprocean an	annan freisean
Welcome to Shell			
SHELL 13142 W HIC PROSPECT, k 40059 12395859007 05/01/2022 09:48:11 AM	(Y , 129		
PUMP# 1 DIESEL PRICE/GAL		0.004G \$4.899	
FUEL TOTAL	\$	49.01	
CREDIT	\$	49.01	
Mastercard USD\$49.01 XXXX XXXX XXXX 7884 Chip Read APPROVED AUTH # 062141 INV # 353466 Mode: Issuer AID: A0000000041010 TVR: 0000000000000 IAD: 1010A0400122000 0000FF TSI: E800 ARC: 00			

						Second St.	
Welcome to Shell M&S food mart#2019 4500 N. Dixie Elizabethtown Ky 42701 4500 N. DIXIE ELIZABETHTOWN, KY 42701 12853827009 057/01720000000000000000000000000000000000	05:10:49 PM PUMP# 5	Regular 10.9006 PRICE/GAL \$3.599	FUEL TOTAL \$ 39.23	TOTAL = \$ 39.23	CREDIT \$ 39.23	Mastercard USD\$39.23 XXXX XXXX X884 Chin Baad	APPROVED AUTH # 069124 AUTH # 069124 INV # 581850 Mode: Issuer AID: A6000000041010 TVR: 00000000041010 TVR: 00000000000

	N. A.S.
Welcome to Shell	
SHELL 13142 W HIG PROSPECT, K 40059 12395859007 04/28/2022 11:04:17 AM	Y 129699508
PUMP# 8 DIESEL PRICE/GAL	19.0226 \$4.899
FUEL TOTAL	\$ 93.1
CREDIT	\$ 93.19
Mastercard USD\$93.19 XXXX XXXX XXXX 7884 Chip Read APPROVED AUTH # 060322 INV # 344903 Mode: Issuer AID: A00000000041010 TVR: 000000000000000000000000000000000000	
Please come again	



Welcome to Shell

SHELL 13142 W HIGHWAY 42 PROSPECT, KY 40059 12395859007 05/19/2022 129709478 11:27:26 AM

 PUMP# 8

 DIESEL
 15.478G

 PRICE/GAL
 \$5.099

 FUEL TOTAL
 \$ 78.92

 CREDIT
 \$ 78.92

Mastercard USD\$78.92 XXXX XXXX XXXX 7884 Chip Read APPROVED AUTH # 096038 INV # 407759 Mode: Issuer AID: A00000000041010 TVR: 000000000000000 IAD: 1010A0400122000 00000FF TSI: E800 ARC: 00

Please come adain





PROSPECT, KY 40059 12395859007 04/04/2022 129689199 12:02:21 PM	PUMP# 1 DIESEL 24.8336 PRICE/GAL \$4.899	FUEL TOTAL \$ 121.66	CREDII 121.66 Mastercard	USUBTI.66 XXXX XXXX Z757 Chip Read APPROVED	AUTH # 667346 INV # 279497 Mode: Issuer AID: A8080808041818 TVR: 8080808080 TVR: 9808080808 IAD: 161848408122808





974	18G 899	25.07	.07	
129696074	5.118G \$4.899		25.	
rnusreul, KY 40059 12395859007 04/21/2022 12 10:06:29 AM	PUMP# 8 DIESEL PRICE/GAL	FUEL TOTAL \$	CREDIT \$	Mastercard USD\$25.07 XXXX XXXX XXXX 7547 XXXX XXXX XXXX 7547 XXXA ANXX 7547 Chip Read APPROVED AUTH # 043017 AUTH # 0430100000041010 TVR: 0000000000000010 TVR: 000000000000000000000000000000000000

3142 W HIGHWAY 42 ROSPECT, KY 0059 2395859007 2395859007 4/21/2022 129696067 9:36:17 AM	*** REPRINT *** REPRINT *** REPRINT *** PUMP# 8 DIESEL 5.244G PRICE/GAL \$4.899	FUEL TOTAL \$ 25.69 *** REPRINT *** REPRINT *** REPRINT *** CREDIT \$ 25.69	<pre>4astercard S0\$25.69 XX XXX XXX 7547 ip Read R0VED # 020319</pre>
3142 R0SP(0059 2395(4/21	*** F PUMP DIES PRIC	FUEI *** CRED	Masterc SD\$25. XX XXX XX XXX ip Rea ROVED # 02

.99 122.99 22.7806 \$5.399 122 06/06/2022 123 09:47:32 AM FUEL TOTAL \$ ()) œ 7547 PRICE/GAL USD\$122.99 XXXX XXXX XXXX Chip Read APPROVED AUTH # 8399322 AUTH # 8399322 IVV # 465773 PUMP# DIESEL Issuer CREDIT Mastercard :epok

SHELL 13142 W HIGHWAY 42 PROSPECT, KY 40059 12395859007 04/15/2022 129693316 0.17:30 AM PUMP# 8 0.17:30 AM PUMP# 8 0.17:30 AM PICE/GAL \$4.899 PICE/GAL \$4.999 PICE/GAL \$4.990 PICE/GAL \$4.990					
	AND THOME	Ŧ	θ	()	Mastercard USD\$95.10 USD\$95.10 XXXX XXXX 7547 XXXX XXXX 7547 Chip Read APPROVED AUTH # 090711 AUTH # 090711 INV # 306142 Mode: Issuer Mode: Issuer AID: A00000000041010 INV # 306142 Mode: Issuer AID: A00000000041010 INV # 306122200 IND: 10110A0400122200

114.99 114.99 04/02/2022 129688388 10:57:31 AM 23.4736 \$4.899 69 ()) 12345854007 FUEL TOTAL IAD: 1010A0400122200 AID: A0000000041010 XXXX XXXX XXXX 7547 PRICE/GAL TVR: 0000008000 00 AUTH # 002984 INV # 274225 CREDIT Mode: Issuer DIESEL USD\$114.99 BBBBFF HUMP# Mastercard Chip Read APPROVED











Y 129713007	10.653G \$5.099	\$ 54.32	\$ 54.32	
PROSPECT, KY 40059 12395859007 12395859007 05/25/2022 1 08:48:14 AM	PUMP# 7 DIESEL PRICE/GAL	FUEL TOTAL	CREDIT	Mastercard USD\$54.32 XXXX XXXX 7547 XXXA KXXX 7547 Chip Read APPROVED AUTH # 853592

712460	15.2826 \$5.099	77.92	77.92	
1 20	T	()	69	
PROSPECT, KV 40059 12395859007 12395859007 05/24/2022 129712460 05/24/2022 129712460 08:10:38 AM	PUMP# 8 DIESEL PRICE/GAL	FUEL TOTAL	CREDIT	Mastercard USD\$77.92 USD\$77.92 XXXX XXXX 7547 XXXX KXXX 7547 Chip Read APPROVED APPROVED AUTH # 853323 AUTH # 853323 INV # 425876 Mode: Issuer

106.99 106.99 20.9826 \$5.099 05/23/2022 129711468 08:02:27 AM 69 69 00000 FUEL TOTAL 7547 PRICE/GAI 00 NNN NNN NNN DW # 428198 #dWInd AUTH # 84956 DIESEL CREDI) USD\$186.99 Mastercard Chip Read APPROVED) l

Thorntons #153 13302 W. HWY.42 Prospect, KY 502 228-0350 502 228-0350 502 228-0350 502 228-0350 502 228-0350 5039 57.126 60 5.099 77.0126 138.32 MasterCard Fleet 138.32 MasterCard Fleet 138.32 MasterCard Fleet 138.32 MasterCard Fleet 138.32 MasterCard Fleet 138.32 Contrand 66 15C off per gal MTLLAM MCLAIN MCLAIN CLLHM 00 4158727 In Approval 053092 FS 02207411260522021558 FS 00313 FS 007411260522021558 FS 007411260552021558 FS 007411260552021558 FS 007411260552021558 FS 007411260552021558 FS 007411260552021558 FS 00741126055201558 FS 00741126055200558 FS 00741126055200558 FS 00741126055200558 FS 000000000000000000000000000000000000

444 INITAL 141	F *** REPRINT ***		
15.3526	AL \$ 78.28 INT *** REPRINT	\$ 78.28	Mastercard USD\$78.28 XXXX XXXX XXX 7547 Chip Read APPROVED AUTH # 068688 INV # 410241 Mode: Issuer Mode: Issuer AID: 40000000041010 TVR: 000000000010 TVR: 0000000000000 TVR: 000000000000000000000000000000000000
PUMP# 7 DIESEL PRICE/GAL	FUEL TOTAL *** REPRINT	CREDIT	Mastercard USD\$78.28 XXXX XXX XXX Chip Read APPROVED AUTH # 068688 INV # 410241 Mode: Issuer Mode: Issuer AID: 40000000 TVR: 00000000 TVR: 00000000 TVR: 00000000 TVR: 00000000 TVR: 000000000000000000000000000000000000

ROSPECT, KY 2059 2395859007 5/15/2022 129707535 3:51:21 AM	** REPRINT *** REPRINT *** REPRINT *** UMP# 2 IESEL 25.138G RICE/GAL \$5.099	UEL TOTAL \$ 128.18 ** REPRINT *** REPRINT *** REPRINT *** REDIT \$ 128.18	astercard SD\$128.18 XX XXX XXX 7547 Anip Read PPROVED JTH # 036180
R05PECT 0059 2395859 5/15/20 3:51:21	** REPRI UMP# 2 IESEL RICE/GAL	UEL TOT ** REPR REDIT	astercard SD\$128.18 XXX XXX XXX XXX Anip Read PPROVED JTH # 036





\$5.099 130.21 25.5376 130.21 05/09/2022 129704353 FUEL TOTAL \$ ()) 09:48:05 AM AID: A0000000041010 XXXX XXXX XXXX 7547 PRICE/GAL 0000000000 PUMP# 7 AUTH # 023899 INV # 375857 TAN. 1818480 Mode: Issuer CRED IT DIESEL USD\$130.21 Mastercard Chip Read APPROVED TVR:

	14.8586	\$ 75.76	\$ 75.76	
WI 10.13.40	PUMP# 8 DIESEL PRICE/GAL	FUEL TOTAL	CREDIT	Mastercard USO\$75.76 USO\$75.76 XXXX XXXX XXXX 7547 XXXX XXXX XXXX 7547 Chip Read Chip Read APPROVED APPROVED AUTH # 8889968 INV # 3689388 INV # 3689388 INV # 368738 Mode: Issuer AUD: AARAARAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA



Midwest Water Operations, LLC

1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

107.006 - \$490.00 711 - \$1260.00 714 - \$87.79 Total Due \$1837.79

Invoice

 Date
 Invoice #

 5/31/2022
 07969

A	PF	PR	0	V	E	D
_				_		

By Arthur Faiello at 3:19 pm, Sep 26, 2022

Project

KY-Springcrest WW

contract	ops	don't	pay
----------	-----	-------	-----

Serviced	Item Code	Class	Description		Qty	Price Each	Amount]
5/4/2022	Non-contract (Operat	General Plant WW	WO 273064892 273062014 Loca and 105 jockey ct. zw	tes for 103	3	70.00	_ <u>210.00</u>	
5/10/2022	Non-contract (Operat	General Plant WW	WO 271344468 Began digging an leaks in preparation for tnt. Zw	nd exposed	4	70.00	280.00	107.00
5/11/2022	Non-contract (Operat	General Plant WW	WO 271344468 Continued diggir leaking pipes for future repairs. Z		3	70.00	210.00	107.00
5/18/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed entire field. O before I could weedeat. Zw		9	711 70.00	630.00	
5/19/2022	Non-contract (Operat	General Plant WW	Finished yard work. Removed we pump wells, the building/tree and areas dug out to address newly fo	l around the	1	711 70.00	70.00	
5/19/2022	Non-contract (Operat	General Plant WW	Finished yard work. Removed we pump wells, the building/tree and areas dug out to address newly fo	eds around around the	2	70.00 711	140.00	
5/24/2022	Non-contract (Operat	General Plant WW	Yard work. Mowing/weed remov		6	711 70.00	420.00	
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - F			87.79 714	87.79	
				Total			\$2,047.79	

11:47 Amazon			•11 🗧	, ,	This will be divided among all KY sites
	₽	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
to me v					
					APPROVED
		Your Acco	ount Amazo	n.com	y Arthur Faiello at 3:19 pm, Sep 26, 2022
amazon business			r Confirma		
			PO# CAPE	illable	
Hello Chris Carroll, Thank you for shopping with us. We'll send a confirm Your order details are indicated below. The payment on the order invoice. If you would like to view the sta to it, please visit Your Orders on Amazon.com.	details o	f your transa	iction can be f	ound	
This order is placed on behalf of Midwest Water OP.					
Delivery date pending. We'll email you as Chris soon as we have a delivery date. CUB	Carroll RUN, KY				
Unite	d States				
Order Details					
Order Details Order #113-9290262-1783455					
Placed on today, May 16		_			
125 x Master Lock 175 Combination Padlock, Tools & Home Improve Sold by Amazon.com S Condition: New	Brass Fir ment	nish	\$15.55		
Order Total:			\$2,106.87		
To learn more about ordering, go to Ordering from A If you want more information or need more assistance					
Thank you for shopping with us. Amazon.com	, go (o				
Recommended for you based on items	s in you	ur order			
ABUS 55/40 Solid Brass Padlock with	Ā.	Master Lo Padlock	ock 3D Outdoo with	r	
\$11.59	Master	\$8.98			
The payment for your invoice is processed by Amaz Seattle, Washington 98108-1226. If you need more i 1075				δ-	
By placing your order, you agree to Amazon.com's F Unless otherwise noted, items sold by Amazon.com in accordance with the applicable laws of that state. from a seller other than Amazon.com, it may be sub depending upon the seller's business policies and th	are subje If your of ject to sta	ect to sales t rder contains ate and loca	ax in select sta one or more sales tax,	ates items	
about tax and seller information. This email was sent from a notification-only address				-	

-


1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 715- \$70.00 711 - \$350.00 712 - \$70.00 722 - \$5000.00 107.006 - \$4913.88 704 - \$393.53 714 - \$87.79

Invoice

Date	Invoice #
5/31/2022	07970

APPROVED

By Arthur Faiello at 3:19 pm, Sep 26, 2022

Project

KY-Timberland Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount	
5/6/2022	Non-contract (Operat	General Plant WW	WO 272851742		1	70.00	70.00	
			Went to plumber supply and paid					715
			order new material for timberland					
5/10/2022	Non-contract (Operat	General Plant WW	Mow, trim around lagoon system,	treatment	3	711 70.00	210.00	
			plant, lift station. TT					
5/11/2022	Non-contract (Operat	Collection & Pumping	WO273071764 Pull and clean flo	ats,	1	70.00	70.00	712
5/11/0000	N		reposition floats correctly. TT		2	70.00	140.00	
5/11/2022	Non-contract (Operat	General Plant WW	Spray weed killer around lagoon s	system and	2	711 70.00	140.00	
	*Reimb Group		treatment plant, lift station. TT					
5/5/2022	*Renno Group	Treatment & Disposal	Mike Petter Invoice 11397 WO 2'	73076862		722 1,000.00	1,000.00	
5/23/2022		Treatment & Disposal	Mike Petter Invoice 11397 WO 2 Mike Petter Invoice 11947 WO 2			722 1,000.00	4,000.00	
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charge			3,946.15	3,946.15	
575172022		Treatment & Disposar	Rentals	5-Equipment		107.006	3,740.15	
5/31/2022		Treatment & Disposal	Central Bank Credit Card			967.73	967.73	107.006
			Charges-Repairs/Equipment Rent	al			,	107.000
5/31/2022		General Plant WW	Central Bank Credit Card			87.79	87.79	
			Charges-Repairs/Maintenance - K	Keys		714 07.79		
5/31/2022		Treatment & Disposal	Central Bank Credit Card Charge	s-Facility		^{393.53}	393.53	
			Chemicals			/04		
			Total Reimbursable Expenses				10,395.20	
	1	1	·	Tatal	1	II		
				Total			\$10,885.20	

14 N H.C. Mathis Drive	Phone: 270-442-7109 Fax: 270-441-0010	Date	Invoice No.
P.O. Box 567 Paducah, KY 42002	operlecrane@yahoo.com	5/19/2022	41677
Bill To:	05.		
Midwest Water			

Jobsite	PO or Job No.	Terms
JUUSILU	1001300110.	1 UIIIIS

8345 Timberland Dr.

Serviced	Description of Crane Service	Qty/Hrs	Rate	Amount
5/19/2022	L-Belt with operator		967.73	967.73

A FINANCE CHARGE OF 1.5% WILL BE COMPUTED AFTER 30 DAYS (Annual 18%)

PAY FROM THIS INVOICE

\$967.73

THANK YOU FOR YOUR BUSINESS!

TOTAL DUE:

Mo. 11397 Septic Tank and Sewer Service

Midwest Water Operations

P.O. Box 2223 Paducah, KY 42002-2223 Ph. (270) 442-0636

Septic Tank Pumped

ection Blucgauss (Timberland Plant)

Sink Lines Unstopped

Unstop Inlet Line

Clean Field Line

Grease Trap Pumped

Cut Roots from Line

Unstop Commode

Washer Drain

Floor Drain

Dumping Fee

Replace Line

Other Cleaned out digester at head of the plant (2 loss)

after 30 days from date listed above.

CO C

Sewer lines unstopped, grease traps, septic tanks & cesspools pumped. Licensed, Bonded and Insured in Kentucky & Illinois

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2361

MIKE PETTER No. 11947 Septic Tank and Sewer Service P.O. Box 2223 Paducah, KY 42002-2223 Ph. (270) 442-0636

Midwest Water Operations (Bluegerss Water)

Septic Tank Pumped Slouds total 65/13-25/20

Inspection Timberland Sever Plant

Sink Lines Unstopped

Unstop Inlet Line

Clean Field Line

Grease Trap Pumped

Cut Roots from Line

Unstop Commode

Washer Drain Floor Drain **Replace** Line Other Punped out heavy sludge and debris clowed out of the bottom of the plant from leases of buildup Tota

Payment due upon completion of job.



A late penalty will be added to all unpaid invoices after 30 days from date listed above.

Sewer lines unstopped, grease traps, septic tanks & cesspools pumped. Licensed, Bonded and Insured in Kentucky & Illinois

Exhibit 1-13

11:47 Amazon						This will be divided among all KV sites
<		¥	Ū		•••	This will be divided among all KY sites. Woodland Acres \$87.70 All other KY sites \$87.79
<u> </u>	sam tradit					_
to me 🗸						APPROVED
amazon business			Your Acco	ount Amazo	n.com	By Arthur Faiello at 3:20 pm, Sep 26, 2022
				er Confirma 13-9290262-17		
				PO# CAP	oillable	
Hello Chris Carroll, Thank you for shopping with Your order details are indica on the order invoice. If you to it, please visit Your Order	ted below. The pay would like to view t	ment details of	your transa	action can be f	ound	
This order is placed on beh	alf of Midwest Wate	er OP.				
Arriving: Delivery date pending. We soon as we have a deliver	'll email you as y date.	Your order will Chris Carroll CUB RUN, KY United States	be sent to:			
Order Details Order #113-9290262-17834 Placed on today, May 16	55					
	125 x Master Loc Combination Pad Tools & Home Im Sold by Amazon. Condition: New	lock, Brass Fini provement	sh	\$15.55		
	Order To	tal:		\$2,106.87		
To learn more about orderin If you want more information	••••					
Thank you for shopping with Amazon.com		, go to 1				
Recommended for y	vou based on it	tems in you	r order			
ABUS 55/ Padlock w	40 Solid Brass ith	Ō.	Master L Padlock	ock 3D Outdoo with	or	
\$11.59		Planter	\$8.98			
The payment for your invoid Seattle, Washington 98108- 1075					6-	
By placing your order, you a Unless otherwise noted, iter in accordance with the appl from a seller other than Am depending upon the seller's	ns sold by Amazon cable laws of that s azon.com, it may be business policies a	.com are subject state. If your ore e subject to sta	ct to sales t der contains te and loca	tax in select sta s one or more I sales tax,	ates items	
about tax and seller informa This email was sent from a Please do not reply to this	tion. notification-only add					

-

	CRE	CAR	Box 235	IPPL	TEC y co. harter Oak Dr. t2001 t41	5 PAD	PETTE	ER DAK DR. DKY 42001	SHEPMENT 10280	WWMBER 031-000	J1-01
	TO	CREDI	T CARD .			SHIP TO:	TODD TEJ WILL CAJ PADUCAH	LL K	Y 42001		
E	SHF	MER P.O.NO.		SLSMN 149	ORDER DATE 05/16/22 INSTRUCTIONS	CUSTO TAKER 228	MER P.O.NO. TI CUSTOMER TIMBERL	P.O. NUMBER	05/	ATE 16/22 PAGE NO	
	JJ	QUANTITY		1	WIL	L CALL - H	ICKUP	U.M	T UNIT PRICE	1	AMOUNT
	1		7	· ·	TABLET DECH PAIL (PL) BIN: M51C4 (2) EES AI TABLET CHLC 45 LB PAIL PETTER# 110 BIN: N10C1	1-M51 00 RINE OXID UN2880	C4 IZER	PL	214.500	00	214.50
	100	1.1.2						1.3.2	D	AID	RV
		108							CRist	DIT	BY
									1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	CEIN (132	
L		CODE EXPL	LANATION -		**SHIP ORD	ER****SH			SUB TOTAL MISC. CHARGE.		371.2
	1	- STATE TAX / - FED./OTHER - STATE & FED - BALANCE BA - CONSIDER C - DIRECT SHIP - FACTORY MI	TAX APPLICA	BLE	THE				FREIGHT TOTAL		0.1
	8	- BALANCE BA	OMPLETE		*** ORDER C	A. S. States			FED./OTHER TAX		22.

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2364



Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2365

U 5.Fg	Amount 650.00 97.00 97.00 732.35	ents on ot to ales E RENTAL
RENTAL RETURN INVOICE # 204816592-001 * 04/34/22 04/34/24	Meek 4 Meek 325.00 700.00 Rental Subtocal: Merement Subtocal: Rental Frotectional: Balance paid:	foreive Jamaary 1, 2021 and where permitted by law. Duited Mantais may impose a surcharge of 1.6% for credit card payments on the second second second second the second factorial second. Take for credit Card Lamascellons and is subject to anise 1976. When suitedentials confrontial second takes for a factorial and factorial second second second second second second second second second second loss of the Fental and Service Agreement, Which we available at 1976. We suitedentials confrontial second second second and with are incorporated herein by reference. A copy of THE MANLA second second transfer is a second second second second second before by reference. A copy of THE MANLA
RE Customer # Immode Date Restail Ont Restail On To Job Loo UR Job Loo UR Job Loo UR Job Loo UR Job Loo Customer Job P.O. Reserved By Reserved By Reserved By	25.00	 a surcharge of 1.8% for credit card transformed transformed transformed transformed breakent, w rootated berein by re
: 270-519-8994 LLC	Actine Actine	d Mantals may impose thant discout rate and the Mantal and and which are income M MROPART.
H H	Deficipition TRAILER TILT 12'-16' TO 9,991K TAUDH Acte: FELLING Woddl, F7-10 T-S Setail: SFREE19206001952 T-S Setail: SFREE1920601952 T-S Setail: SFREE19206001952 T-S Setail: SFREE1920600000000000000000000000000000000000	rmitted by law, Duit Stater than our as Stater than our as at an end condition a terms and condition at a symmetry roam up
Rentals Rental	Entry Description 12116549 FRAILBERT	 J021 and where periods a not bits succharge is not lettons. Lettons. Le
R DE	REATLAL 171964 1 1 11216545 1 1 11216545 1 1 11216545 1 1 11216545 1 1 11216545 1 1 11216545 1 1 11216545 1 1 112172 1 1 115/12 1 1 115/12 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	(fective Janaary) Mrge accounts. TJ Mrge accounts. TJ Mrge and Jurged TJCW: This involution TJCW: Anartem



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice Invoice

Date 5/31/2022 07971

APPROVED

By Arthur Faiello at 3:20 pm, Sep 26, 2022

714 -\$367.70 711 - \$560.00 107.006 - \$3874.59

Project

KY-Woodland Acres WW

5/2/2022 5/2/2022 5/9/2022	Non-contract (Operat	General Plant WW						
5/2/2022		1	WO 273064758 cut the old spicket	from the	6.5		70.00	455.00
			water line and put new fittings and					
			JD	_	6.5	107.00	70.00	
5/9/2022	Non-contract (Operat	General Plant WW		WO 273064758 Replacing water spigot				455.00
	Non-contract (Operat	General Plant WW	WO 273064758 finished installing		4		70.00	280.00
			spicket and filled hole back with di					
5/9/2022	Non-contract (Operat	General Plant WW	WO 273064758 Hooking water spi		4	\vee	70.00	280.00
5/10/2022	Non-contract (Operat	Treatment & Disposal	WO 273064748 installed the new a	air filter	2	714	70.00	140.00
5/10/2022			housing and air filter JD	1 .	2		70.00	1 40 00
5/10/2022	Non-contract (Operat	Treatment & Disposal General Plant WW	WO 273064748 Installation of filte		2	714	70.00	140.00
5/13/2022	Non-contract (Operat	General Plant ww	Mowed inside and outside the fenc take the mower back to kingswood		4	711	70.00	280.00
5/13/2022	Non-contract (Operat	General Plant WW	Yard care	for Zach JD	4	711	70.00	280.00
5/17/2022	Non-contract (Operat	Treatment & Disposal	WO 273074879 pumped down all	of the tanks	9.5	/11	70.00	665.00
5/1//2022	Non-contract (Operat	ricatilient & Disposai	free of their stagnate water	of the tanks	9.5	107.0	0.00	005.00
5/17/2022	Non-contract (Operat	General Plant WW	WO 273074879 Pumping rainwate	r out of	9.5		70.00	665.00
0/1//2022	rion contract (operation		unused tanks		2.5	107.0		002.00
6/6/2022	Non-contract (Expert	Collection & Pumping	WO 273082197 1369 West		3.95		100.00	395.00
	I I I I I I I I I I I I I I I I I I I		Bluelick-Inspection. SSPI					
	*Reimb Group							
5/31/2022		Collection & Pumping	Scott's Sewer Invoice 000027 WO	273082197			350.00	350.00
5/31/2022		Treatment & Disposal	Central Bank Credit Card				329.59	329.59
		-	Charges-Repairs/Maintenance					
5/31/2022		General Plant WW	Central Bank Credit Card			714	87.70	87.70
			Charges-Repairs/Maintenance - Ke	eys		/14		
			Total Reimbursable Expenses					767.29
	<u>I</u>	1	·T					
				Total				\$4,802.29



Invoice #000027

Issue date Jun 6, 2022

Invoice #000027

Bill To Angela Armand Midwest Water Operations,LLC Ap@midwestwaterop.com 225-278-6287 1351 Jefferson Street suite 301 Washington, MO 63090	Invoice Details PDF created June 23, 2022 \$350.00 Date of service June 6, 2022	Payn Due . \$350	July 6, 2022	
Item		Quantity	Price	Amount
work order,2730821971369 west blue lick,need mastic around m	1	\$350.00	\$350.00	
Subtotal				\$350.00
Total Due				\$350.00



Pay online

To pay your invoice go to https://gosq.me/u/G6pyzFcD

Or open your camera on your mobile device, and place the code on the left within the camera's view.

Page 1 of 1

11:47 Amazon		.sil 🤶		This will be divided among all KY sites
	•		•••	Woodland Acres \$87.70 All other KY sites \$87.79
		- 5		_
to me 🗸			ſ	
				APPROVED
amazon business	Your	Account Amazo	on.com	By Arthur Faiello at 3:20 pm, Sep 26, 2022
		Order Confirmation Prder #113-9290262-17		
		PO# CAPt	oillable	
Hello Chris Carroll, Thank you for shopping with us. We'll send a confirm Your order details are indicated below. The payment on the order invoice. If you would like to view the sta to it, please visit Your Orders on Amazon.com.	details of your ta atus of your orde	ransaction can be f	found	
This order is placed on behalf of Midwest Water OP.				
Delivery date pending. We'll email you as Chris soon as we have a delivery date. CUB	order will be sen Carroll RUN, KY ed States	nt to:		
Order Details				
Order #113-9290262-1783455 Placed on today, May 16				
125 x Master Lock 175 Combination Padlock, Tools & Home Improve Sold by Amazon.com & Condition: New	Brass Finish ement	\$15.55	j	
Order Total:		\$2,106.87	,	
To learn more about ordering, go to Ordering from A				
If you want more information or need more assistant Thank you for shopping with us. Amazon.com	ce, go to Help.			
Recommended for you based on items	s in your orde	er		
ABUS 55/40 Solid Brass Padlock with		ter Lock 3D Outdoo lock with	or	
\$11.59	\$8.9	8		
The payment for your invoice is processed by Amaz Seattle, Washington 98108-1226. If you need more i 1075			6-	
By placing your order, you agree to Amazon.com's F Unless otherwise noted, items sold by Amazon.com in accordance with the applicable laws of that state. from a seller other than Amazon.com, it may be sub depending upon the seller's business policies and th	are subject to sa If your order cor ject to state and	ales tax in select st ntains one or more local sales tax,	ates items	
about tax and seller information.	that cannot acce			

-

2019	
LOWE'S HOME CENTERS, LLC	
800 CONESTOGA PARKWAY	
0000	
SHEPHERDSVILLE, KY 40165 (502) 215-2600	1100
SHEPHERDSVILLE, KY 40165 (502) 215-2600	
SALES#: FSTLANO2 13 TRANS#: 26524548 05-02-22	
19.46	· *
1436445 IDEAL FLEX UNIVER	Ten ten
294917 3-IN X 2-FT FOL DWO CELLO	100 to the state
22009 074-IN FULT INSERT MALE N	BR R. R. S.
2 @ 0.44 1435438 #8 PR0 HOSE CLAMP 4.18	12
2 @ 2.09	5
792041 FERNCO 3-INX2-IN FLX CUP 8.51	
22015 3/4-IN POLY INSERT FEMALE 0.98	
797872 HERCULES TAPE 4.70	
518529 3/4-IN POLY REPAIR PIPE 2 3.58	
510525 574 IN POLY NEIMIN 111 -	
SUBTOTAL: 58.37	
TAX: 3.50	
INVOICE 26846 TOTAL: 61.87	
M/C: 61.87	and the street,
ny c.	1.1
1000 1000 1000 1000 1000 1000 1000 100	15
M/C: XXXXXXXXXXX7540 AMOUNT:61.87 AUTHCD: 08691	1
CHIP REFID:294526031678 05/02/22 16:49:08	
CUSTOMER CODE: woodland	
APL: Mastercard TVR: 000008000	
AID: A0000000041010 TSI: E800	
STORE: 2945 TERNINAL: 26 05/02/22 16:49	08
STURE: 2945 TERMINEL DUDCHOSED	
# OF ITEMS PURCHASED:	10
EXCLUDES FEES, SERVICES AND SPECIAL ORDER ITE	MS

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2370

HI3



				N	
KS S	47 -5585	:24 PM	Amount 69.99	69.99 4.20 74.19	74.19
MT HAGHTHOP EASTWOOD CT	Ticket: 107728	Date: 4/29/22 Store: 2533 Cashier: Abigail Register: 2	Item HYDRANT 3FT BURY 3115935 1 BURY 1 69.99	Subtotal Tax Total	MasterCard **********7540 - EMV Chip Authorization #: 054128 Authorization #: 054128 001792533000200 Cryptogram Cryptogram App : Mastercard App : Mastercard App : Mastercard CVM : NDNE / 160300 CVM : NDNE / 160300
States and	카닌	1	11.0		

. AT&T 축

10:25 PM





UO

USABlueBook Orders

Friday

To: jduncan@midwestwaterop.com >

USABlueBook Order Confirmation

USABlueBook Order Confirmation

*** PLEASE PRINT ORDER CONFIRMATION OUT AND RETAIN IT FOR FUTURE REFERENCE ***

		Order Numbe Customer II Order Dat	0 16076671	I 2 11:06:10 AM
1351 JEFFE SUITE 301 Washington UNITED ST 2702182155	, MO 63090 ATES	Ship To: Josh Duncan Midwest Water Oper 470 GEORGE CHILI Cub Run, KY 42729 United States 2702182155	DRESS RD	
Order Date	: 4/29/2022 11:06:10 AM	Locale/ Currency: en	-US / USD	-
Payment Method:	CREDITCARD	Name On Card: Jo	sh Duncan	
Card Type:	MASTERCARD	Card Number: ***	*7540	The second second
SKU:	Product	Quantit	ty Price	Ext. Price
10085	Solberg F-Series Air Filter with Paper Eleme (2.5"NPT(M))	nt 1	\$151.95	\$151.9
Order Note	s:	SubTot	al:	\$151.95
None		Estimated Shippir	ng: FedEx Ground Service	\$15.68
		Estimated Ta	ix:	\$10.06
		Tot	al:	\$177.69



Midwest Water Operations, LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090



Date	Invoice #
8/1/2022	08196

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

DATE RCVD ^{09,}	/12/22 GL CODE 701/636.3 & 705
PRCD BY Heat	her Tulk GL DATE 09.01.22

Project

KY-Bluegrass MONTHLY OPERATIONS

Qty	Item Code	Description	Price Each	Amount
9	KY-Bluegrass 1	Contract Operational Services for September: Airview, Brocklyn, Fox Run, Golden Acres, Great Oaks, Kingswood, Lake Columbia, LH Treatment, Persimmon Ridge	4,133.00	37,197.00
1	KY-Bluegrass 2	Contract Operational Services for September: Center Ridge Water District 1-4, River Bluffs, Timberland	18,006.00	18,006.00
4	KY-Bluegrass 3	Contract Operational Services for September: Arcadia Pines, Carriage Park, Marshall Ridge, Randview	3,001.00	12,004.00
4	KY-Bluegrass 4	Contract Operational Services for September: Delaplain, Herrington Haven, Springcrest, Woodland Acres	4,200.00	16,800.00
1	KY-Bluegrass 5	Contract Operational Services for September: Darlington Creek	8,849.63	8,849.63
			Total	\$92,856.63



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

107.006 - \$11089.66 711 - \$307.00 714 - \$70.00

APPROVED

By Arthur Faiello at 3:43 pm, Sep 26, 2022

Project

KY-Airview Utilities Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
6/1/2022	Non-contract (Operat	Treatment & Disposal	WO 273087640	4	70.00	280.00
		·	Clean creek up		107.006	
6/1/2022	Non-contract (Operat	Treatment & Disposal	WO 273087640cleaned up the creek		107.006 70.00	210.00
6/1/2022	Non-contract (Operat	Treatment & Disposal	wo 273087640 Clearing of creek stream	9	107.006 70.00	630.00
6/2/2022	Non-contract (Operat	Treatment & Disposal	WO 273087640	3		210.00
			Creek clean up		107.006	
6/2/2022	Non-contract (Operat	Treatment & Disposal	WO 273087641 cleaned the creek K.C.		107.00 q 05.00	131.25
6/2/2022	Non-contract (Operat	Treatment & Disposal	WO 273087641 cleaned the creek K.C.	2.25	107.00 q 05.00	236.25
6/3/2022	Non-contract (Operat	General Plant WW	Cutting grass	2	711 70.00	140.00
6/3/2022	Non-contract (Operat	Treatment & Disposal	wo 273087640 Clearing of creek stream	6	107.006 70.00	420.00
6/6/2022	Non-contract (Operat	Collection & Pumping	WO 273030463 went and get the materials to	10	70.00	700.00
			replace the sump pump line started to replace			
			it and the fitting on the pump was crumbling			
			from the rust when trying to take the fitting out		107.006	
			had to go get a new pump installed the pump			
			and put the new piping up to the top of the			
			drywell JD			
6/7/2022	Non-contract (Operat	Collection & Pumping	WO273030463 replaced the outlet in the panel	4	70.00	280.00
			box with GFCI JD		107.006	
6/7/2022	Non-contract (Operat	Water Treatment & Pu	WO273030463 Replacement of switch and	4	70.00	280.00
			plug		107.006	
6/13/2022	Non-contract (Operat	General Plant WW	Sprayed weeds around the plant KC	1	711 70.00	70.00
6/15/2022	Non-contract (Operat	Treatment & Disposal	WO273097693 Turned blowers off and began	8	70.00	560.00
			pumping aeration on lagoon.		107.006	
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO 273097693 Run auger, Ran camera into	10		700.00
			inlet pipe Drained aeration		107.006	
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO273097693 Auger and camera transfer		107.006 70.00	193.20
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO273097693 Pulled rags from the intake	4.25	70.00	297.50
			area of the aeration tank.		107.006	
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO27397693 Helped with pumping the tank	3	70.00	210.00
611 612000		m	and pulling out old pipe out of clarifer JD	0 -	70.00	0.5.00
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO27397693 Bring Ladder from Louisville	0.5	70.00	35.00
(1) (10000	N	T	and pumping down tank	<u> </u>		105.00
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO27397693 Bring Ladder from Louisville	2.5	70.00	175.00
			and pumping down tank		Ť	
	ļ	<u> </u>	1		ļļ	
			Total			

 Date
 Invoice #

 6/30/2022
 08371

Invoice

		E



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
6/30/2022	08371

Project

KY-Airview Utilities Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
6/16/2022	Non-contract (Operat	Collection & Pumping	WO27397693 Auger and camera transfer line	10.98333	107.00670.00	768.83
6/17/2022	Non-contract (Operat	Treatment & Disposal	WO27397693 Cleaning up the creek from over flow	7	70.00	490.00
6/17/2022	Non-contract (Operat	Treatment & Disposal	WO27397693 Cleaning up the creek from over flow	6	105.00	630.00
6/17/2022	Non-contract (Operat	Treatment & Disposal	WO27397693 drain aeration tank to repair transfer pipe"	4	70.00	280.00
6/17/2022	Non-contract (Operat	Treatment & Disposal	WO27397693 drain aeration tank to repair transfer pipe"	4	70.00	280.00
6/21/2022	Non-contract (Operat	Treatment & Disposal	wo273104043 flushed out the RAS pipe	3.5	70.00	245.00
6/21/2022	Non-contract (Operat	Treatment & Disposal	wo273087640 unclogged the raz line	4	70.00	280.00
6/22/2022	Non-contract (Operat	Treatment & Disposal	wo273087640 unclogged the raz libne	4	70.00	280.00
6/22/2022	Non-contract (Operat	Treatment & Disposal	wo273087640 clearing clogged return line	3	70.00	210.00
6/23/2022	Non-contract (Operat	Treatment & Disposal	wo273087640 unclogged the raz line	3	70.00	210.00
6/22/2022	Non-contract (Operat	Treatment & Disposal	wo273104043 Unclog RAS	2	70.00	140.00
6/24/2022	Non-contract (Operat	Treatment & Disposal	WO27310403 Worked on cleaning the creek and unclogging the RAS KC	7	105.00	735.00
6/27/2022	Non-contract (Operat	Treatment & Disposal	WO 273105605 Sinkhole over mainline	1	714 70.00	70.00
6/27/2022	Non-contract (Operat	Treatment & Disposal	wo273104043 Unclog RAS	2	107.00670.00	140.00
6/28/2022	Non-contract (Operat	Treatment & Disposal	wo273104043 Unclog RAS Pumped clean	6	70.00	420.00
		r	water out of contact chamber.		107.006	
	*Reimb Group					
6/30/2022		General Plant WW	Central Bank Credit Card Charges-Lawn Maintenance		97.00 711	97.00
6/30/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance		432.63 107.006	432.63
			Total Reimbursable Expenses			529.63
			Total	-		\$11,466.66



Unless noted below allowable returns for items on this receipt will be in the form of an in store credit voucher if the return is done after 09/04/22

> If you have questions regarding the charges on your receipt, please email us at: ELIZfrontend@menards.com

> > Sale Transaction

1-1/4X5' SOLID CO PVCPIP 6898533 MYERS 1/2 HP SUMP PUMP 6913820 8 DZ PVC HANDY PACK 6931115

9.97 169.99

7.97

5.97

3.84



1-1/4" 90DEG PVC ELBOW 3 @1.99 6891873 1-1/2X1-1/4MALE ADAPSCH4

TAX STATE OF KY 6% TOTAL SALE Mastercard 7540 Auth Code: 062080 Chip Inserted a0000000041010

197.74 11.86 209.60 209.60

TC - 39da075f9f8d6714

TOTAL NUMBER OF ITEMS =

THE FOLLOWING REBATE RECEIPTS WERE PRINTED FOR THIS TRANSACTION:

GUEST COPY

LOWE'S ELIZABETHTOWN, KY _____ - SALE -SALES#: FSTLANE1 13 TRANS#: 29299074 05-11-22 1120718 CRAFTSMAN TRNSFR SHOVEL F 29.98 552276 1-5/8-IN 6-FT 16-GA LINE 21.48 92603 BRACE RAIL CLMP 1-3/8-INX 8.64 2.883@ SUBTOTAL: 60.10 KY - STATE TAX: 3.61INVOICE 30696 TOTAL: 63.71 M/C: 63.71 7884 M/C *********** 079942

CHIP REFID:046030023843 05/11/22 15:57:24 APL: Mastercard TVR: 0000008000 AID: A0000000041010 TSI: E800 460 30 05/11/22 15:57:54 REF#: 696 CUSTOMER: JAMES SMITH

THE ISSUER OF THE CARD IDENTIFIED ON THIS ITEM IS AUTHORIZED TO PAY THE AMOUNT SHOWN AS TOTAL UPON PROPER PRESENTATION. I PROMISE TO PAY SUCH TOTAL (TOGETHER WITH ANY OTHER CHARGE DUE THEREON) SUBJECT TO AND IN ACCORDANCE WITH THE AGREEMENT GOVERNING THE USE OF SUCH CARD.

Signature not on database. Paper receipt must be obtained.



Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2378

items on this receipt will be in the form of an in store credit voucher if the return is done after 09/04/22

If you have questions regarding the charges on your receipt, please email us at: ELIZfrontend@menards.com



Sale Transaction

15A TR/WR ST GFCI WP-WH	
3633888 1-1/4" PVC MALE ADAPTER	18.99
6891899 WH 15A SP COM SL TOGGLE	1.57
3632085 ELEC WIRE TOOL KIT-SW	2.19
3646926 POLY HBRAID YEL 3/8X50 H	34.98
2356316	3.99
TOTAL TAX STATE OF KY 6%	61.72 3.70

TOTAL SALE Mastercard 7540 Auth Code: 029070 Chip Inserted a0000000041010 TC - ba383b6951983843

TOTAL NUMBER OF ITEMS =

5

65.42

65.42

THE FOLLOWING REBATE RECEIPTS WERE PRINTED FOR THIS TRANSACTION: 1911

The Cardholder acknowledges receipt of goods/services in the total amount shown bereon and agrees to pay the cord issues

GUEST CO



MENARDS-ELIZABETHTOWN 100 MENARDS WAY ELIZABETHTOWN, KY 42701

KILLING TELES

KEEP YOUR RECEIPT RETURN POLICY VARIES BY PRODUCT TYPE

Unless noted below allowable returns for items on this receipt will be in the form of an in store credit voucher if the return is done after 09/05/22



If you have questions regarding the charges on your receipt, please email us at: ELIZfrontend@menards.com



Sale Transaction

FOIL TAPE 2"X50 YDS 6395939 7.88 ELEC AW TAPE-5 PK 3646010 1.99 1-1/4" PVC COUPLING 6891860 1.09 1G STEEL DECOR PLATE 3717361 1.68 WH 15A 4-WAY TOGGLE 3639025 4-1/2" DUODISC - METAL 9.98 2524140 4 @3.99 15.96 TOTAL TAX STATE DF KY 6% TOTAL SALE 38.58 Mastercard 7540 2.31

Auth Code: 088165 40.89 40.89 Chip Inserted a0000000041010 TC - cdfd2a336ed1d9b2 TOTAL SAVINGS 0.20 TOTAL NUMBER OF ITEMS = 9 THE FOLLOWING REBATE RECEIPTS WERE PRINTED FOR THIS TRANSACTION: 1911





1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
6/30/2022	08372

DATE RCVD^{08/15/22} GL CODE 711

PRCD BY <u>Heather Tulk</u> GL DATE 07.30.22

APPROVED By Arthur Faiello at 3:43 pm, Sep 26, 2022

Project

KY-Arcadia Pines Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
6/2/2022	Non-contract (Operat	General Plant WW	Mow, trim around lagoon fence, finish spraying weeds around lagoon. TT		3	70.00	210.00
6/15/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lagoon, TT		3	70.00	210.00
6/29/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lagoon : TT	fence.	3	70.00	210.00
			Т	otal			\$630.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 714 - \$210.00 722 - \$4795.00 712 - \$280.00 711 - \$420.00 107.006 - \$900.00

APPROVED By Arthur Faiello at 3:43 pm, Sep 26, 2022

Project

KY-Brocklyn Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price	e Each	Amount
5/31/2022	Non-contract (Operat	General Plant WW	Delivered and installed new lock	to site. Zw	2	714	70.00	140.00
5/31/2022	Non-contract (Operat	Treatment & Disposal	Wo 273086047 Buchanan pumpir from clarifier and cleaning out old		2	722	70.00	140.00
6/10/2022	Non-contract (Operat	General Plant WW	Answered emergency call out for who had sewage backing into his checked manholes and verified th blockage was not in the sewer ma customer failed to locate a clean of and advised him to contact a plun WO273092726	shower. I at the in. Met with out for house	4	712	70.00	280.00
6/16/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed/removed wee Zw	ds from site.	4	711	70.00	280.00
6/21/2022	Non-contract (Operat	Treatment & Disposal	WO 273101118 clean and hosed of contact tank		1	714	70.00	70.00
6/21/2022	Non-contract (Operat	Treatment & Disposal	WO 273100556 pumping sludge t and old chlorine contact tank		4	722	70.00	280.00
6/27/2022	Non-contract (Operat	Treatment & Disposal	Wo 273103547 Buchanan pumpir from clarifiers and scum off tanks	ng sludge (4 loads)	3	722	70.00	210.00
6/28/2022	CCTV Inspection	Collection & Pumping	Camera main for tap connection f dr on same rd as plant wo#27310	7177	5	107.0	180.00 06	900.00
6/30/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowed/ removed wee Zw	ds from site.	2	711	70.00	140.00
	*Reimb Group							
6/21/2022		Treatment & Disposal	Martin's Invoice 120627 WO 273 Total Reimbursable Expenses	100556		722 1,	,360.00	1,360.00 1,360.00
6/30/2022		Treatment & Disposal	Buchanan Invoice 20767 WO 273	103547		722 2,	805.00	2,805.00
				Total				\$6,605.00

Date	Invoice #
6/30/2022	08373

BUCHANAN CONTRACTING INC

711 BOONE AVE WINCHESTER, KY 40391 8594987824 info@buchanancontracting.net

INVOICE

BILL TO

MIDWEST WATER OPERATIONS, LLC PO BOX 580 DENHAM SPRINGS, LA 70727 BUCHANAN CONTRACTING INC.

 INVOICE #
 20767

 DATE
 06/29/2022

 DUE DATE
 07/29/2022

 TERMS
 NET 30

PO#		JOB #	PROJECT				
273103547		96202022	HAGGARD D	OR WWTP			
DATE	ACTIVITY			QTY	RATE	AMOUNT	
06/27/2022	SEPTIC WASTE SEPTIC WASTE CLEANING F	PER 1,000 GALLONS		10.50	210.00	2,205.00	
06/27/2022	DISPOSAL FEE FEE TO DUMP DEBRIS FROM	M CLEANING OF HAGGARD TREATMENT PLA	NT	4	150.00	600.00	
		BALANCE DUE			\$2,8	805.00	



Invoice

DATE	INVOICE #
6/21/2022	120627

BILL TO:

MIDWEST WATER OPERATIONS, LLC CWS PO BOX 580 DENHAM SPRINGS, LA 70727

			P.O. NO.	TERMS
B 1/111			273100556	Due on receipt
QUANTITY	DESCRIPTION	RATE	SERVICED	AMOUNT
8,000	(GALLONS) HAULING SLUDGE FROM BROCKLYN WWTP	0.1	7 6/21/2022	1,360.00
Thank you for your b	usiness.	То	al	\$1,360.00
		Ba	lance Due	\$1,360.00

A finance charge of 2% per month will be applied to your unpaid due balance if payment is not received by the due date on this invoice. In the event any indebtedness owed to Martin's Sanitation Service, Inc., its' successors or assigns, is referred to a collection agency or an attorney, not a salaried employee of Martin's Sanitation Services, Inc., for collections, the undersigned expressively agrees to pay any and all costs and expenses including reasonable attorneys' fees incurred by Martin's Sanitation Service, Inc.

Phone #	Fax #	E-mail	Web Site
859-987-2529	859-987-2583	accounting@mss-kpt.com	www.martins-services.com



1351 Jefferson Street, Suite 301 Washington, MO 63090

APPROVED

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

	I	nvoice
Date		Invoice #

6/30/2022	08374

DATE RCVD^{08/25/22} GL CODE⁷¹¹

PRCD BY Heather Tulk GL DATE 08.01.22

Project

By Arthur Faiello at 3:43 pm, Sep 26, 2022

KY-Carriage Park Wastewater

Serviced Item Code Class Description Qty Price Each Amount 6/3/2022 Non-contract (Operat... General Plant WW Mow, trim around lagoon, fence. TT 3 70.00 210.00 5 6/16/2022 Non-contract (Operat... General Plant WW Mow, trimming weeds around lagoon fence. 70.00 350.00 Finally was able to mow high grass around lagoon that had been flooded, had to mow over a couple of times because grass was so high. ΤT 6/23/2022 Non-contract (Operat... General Plant WW Spraying weeds around lagoon fence and 3 70.00 210.00 middle of lagoons. TT Total \$770.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 Invoice

Date	Invoice #
6/30/2022	08375

675.3 - \$962.50 675.4 - \$175.00

APPROVED

By Arthur Faiello at 3:44 pm, Sep 26, 2022

Project

KY-Center Ridge Water District 1

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
6/2/2022	Non-contract (Operat	General Plant W	Retrieve data from all four water 12 months of MOR's.from 2021.	systems from	2	675.3 105.00	210.00 675.3
6/2/2022	Non-contract (Operat	Transmission & Distri	CSWR contacted me after hours r chlorine information for the water needed it before morning		2	70.00	140.00
6/3/2022	Non-contract (Operat	General Plant W	CSWR CCR data request WO 27	73090354	4.5	70.00	315.00
6/6/2022	Non-contract (Operat	General Plant W	CSWR CCR data request WO 27	73090354	2	V 70.00	140.00
6/10/2022	Non-contract (Operat	General Plant W	Plant lawn maintenance		1	675.4 70.00	70.00
6/22/2022	Non-contract (Operat	General Plant W	Lawn care		1	675.4 105.00	105.00
6/29/2022	Non-contract (Operat	Transmission & Distri	Wo273107186 lead and copper te	esting.	1.5	105.00 675.3	157.50
				Total			\$1,137.50



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

675.4 - \$120.40 107.006 -\$1462.40 636.5 - \$315.00

APPROVED By Arthur Faiello at 3:44 pm, Sep 26, 2022

Project

Date

6/30/2022

KY-Center Ridge Water District 2

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
6/10/2022	Non-contract (Operat	General Plant W	Plant lawn maintenance		0.5	^{675.4} 70.00	35.00
6/10/2022	Non-contract (Operat	General Plant W	Trailer Rental FOB		0.48	107.006 70.00	33.60
6/10/2022	Non-contract (Operat	General Plant W	Plant lawn maintenance		0.5	675.4 70.00	35.00
6/12/2022	Non-contract (Operat	General Plant W	WO273094358 Backhoe w/ traile	er FOB	2.89	107.006 70.00	202.30
6/12/2022	Non-contract (Operat	General Plant W	WO 27095619 Backhoe w/ trailer	r FOB	2.89	107.006 70.00	202.30
6/13/2022	Non-contract (Operat	Services, Meters & Fire	Wo273095619 repair service line		3	636.5 105.00	315.00
6/15/2022	Non-contract (Operat	Services, Meters & Fire	Wo273097023 callout 97 primros	se.	2	107.00 6 05.00	210.00
6/16/2022	Non-contract (Operat	General Plant W	WO 273097023 repair water leal valve	k and install	1.44	70.00 107.006	100.80
6/16/2022	Non-contract (Operat	Services,Meters&Fire	Wo273097023 repair water leak a valve.	and install	2	105.00 107.006	210.00
6/16/2022	Non-contract (Operat	Services,Meters&Fire	Wo273097023 repair water leak a valve.	and install	0.5	105.00	52.50
6/22/2022	Non-contract (Operat	General Plant W	Lawn care FOB		0.48	675.4 105.00	50.40
6/25/2022	Non-contract (Operat	General Plant W	WO 273022851 Tank site prep F	OB	1.44	107.00670.00	100.80
6/25/2022	Non-contract (Operat	General Plant W	Wo27302285 site preparation for	propane tank.	1.5	105.00	157.50
6/27/2022	Non-contract (Operat	General Plant W	WO 273022851 Tank site prep F	ÔB Î	1.44	70.00	100.80
6/30/2022		Services,Meters&Fire	Central Bank Credit Card Charges-Repairs/Maintenance			V 91.80	91.80
				Total			\$1,897.80



Invoice

Invoice #

08376



					DESCRIPTION	SUGG	- 1	18.99 /EA	18.99
INE	SHIPPED	ORDERED	UM	SKU			2	0.43 /FT	.86
1	1	1			PLUMBERS SAW 300-12 1/2" SCH 40 42015		2	7.01 /EA	7.01
2	2			41001	11/2 001110	7.79	1	8.99 /EA	8.99
3	1			10100	1/2 PT PVC CLEANER	9.99	1	6.69 /EA	6.69
4	1			1011001	1/2 PT RAIN/SHINE 3/4" REPAIR COUPLING		1		3.89
5	1			10000.0	PVC COMP COUPLING 1/2" 160-103		1		2.98
6	1				3/4" x 4" SCH80 NIPPLE		2		2.58
7	2				3/4" x 4" SCHOUNT LE 3/4" x 2" SCH80 NIPPLE		2		3.92
8	2					1.09	4	0.981 /EA	2.53
9	4			10111	3/4" MA SCH40	1.40	2	1.263 /EA	1.98
10	2			-0111	3/4" FA SCH40		2	0.99 /EA	1.98
11	2	2	EA		3/4" CPL POLY		2	0.99 /EA	.73
2	2	2	EA	171000	1/2" CPL POLY	.80	1	0.725 /EA	
3	1	1	EA		3/4 CPL SCH40	.67	2	0.603 /EA	1.21
1	2	2	EA		3/4X1/2 BS SCH40		2	0.79 /EA	1.58
	2	2	EA	41990	1/2" MA POLY		1	2.39 /EA	2.39
	1	1	EA	45316	3/4" FA POLY		1	0.99 /EA	.99
	1	1	EA	41991	POLY INSERT ADAPTER 3/4 MALE		2	1.49 /EA	2.98
	2	2	EA	45315	1/2" FA POLY		4	1.89 /EA	7.56
	4			41146	1-1/16 TO 2" ST STL CLAMP QB/10		4	1.69 /EA	6.76



Exhibit 1-13 Page 2388



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 636.5 - \$105.00 636.6 - \$315.00 636.4 - \$262.50 105.006 - \$963.79 675.4 - \$437.50 635.5 - \$630.00

APPROVED By Arthur Faiello at 3:44 pm, Sep 26, 2022

Project

KY-Center Ridge Water District 3

Serviced	Item Code	Class	Description		Qty	Price Each	Amount	
6/3/2022	Non-contract (Operat	Services, Meters&Fire	Wo273087844 emergency work or	rder.	1	636.5 105.00	105.00	
6/4/2022	Non-contract (Operat	Services,Meters&Fire	Wo273088847 callout high pressu Bad psi valve.		3	105.00	315.00	636.0
6/6/2022	Non-contract (Operat	Services, Meters&Fire	Wo273090323 replace water press	sure valve.	2.5	636.4 105.00	262.50	
6/10/2022	Non-contract (Operat	General Plant W	Trailer Rental FOB		0.48	105.006 70.00	33.60	
6/10/2022	Non-contract (Operat	General Plant W	Plant lawn maintenance		1	675.4 70.00	70.00	
6/12/2022	Non-contract (Operat	Services, Meters&Fire	Wo273094358 Service line repair		4.5	635.5 105.00	472.50	
6/16/2022	Non-contract (Operat	General Plant W	WO273097706 Backhoe w/trailer		0.72	105.00670.00	50.40	
6/16/2022	Non-contract (Operat	Transmission & Distri	Wo273097706 repaired Watermai	n.	3	105.00	315.00	
6/22/2022	Non-contract (Operat	General Plant W	Trailer Rental FOB		0.48	105.006 70.00	33.60	
6/22/2022	Non-contract (Operat	General Plant W	Lawn care		1	675.4 105.00	105.00	
6/24/2022	Non-contract (Operat	General Plant W	Wo273103482 cut and remove tre house.	ee at well	1	675.4 105.00	105.00	
6/25/2022	Non-contract (Operat	General Plant W	Wo 273103482 removed tree well	house lot.	1.5	675.4 105.00	157.50	
6/25/2022	Non-contract (Operat	General Plant W	WO 273103482 Removed Tree-Sa FOB		1.84	105.006 ^{70.00}	128.80	
6/27/2022	Non-contract (Operat	General Plant W	WO 273103482 Excavate gas line FOB	-Backhoe	1.44	70.00 105.006	100.80	
6/29/2022	Non-contract (Operat	Transmission & Distri	Wo273107183 lead and copper tes	sting.	1.5	105.00	157.50	635.3
6/30/2022		Services, Meters&Fire	Central Bank Credit Card Charges-Repairs/Maintenance			301.59 105.006	301.59	
				Total			\$2,713.79	

Invoice

Date	Invoice #		
6/30/2022	08378		

CUST NO 10343 SOLD T MIDV		TER OP	PURCH	AS 03
0	PPED 1 1 4 4 2 4 1 1 2 4 2 4 2	ORDEF		AAAAAAAAA
NT: 7.50 **0622				

	MURRAY SUPPLY CO, WHO MURRAY RENTAL AND S			
Y	206 E MAIN			
	MURRAY, KY 420 PHONE: (270) 75			
INC.	RETURNS MUST BE ACCOMPAN 2% ADDITIONAL CHARGE ON PAS	NIED BY RECE		
E ORDER:	REFERENCE: PO # CR03	TERMS: NET 10TH	CLE	RK: OHN
		DUE DATE: 7/		ERMINAL: 556
IS LLC	SHIP TO: FREDDIE OBRYAN /			000
	5	SALESPERSON: J		.ES
•				05.
		1	NVOI	CE: A
SK 4694113		SUGG	UNITS	PRICE/
4694030	PVC COMP COUPLING 1" 160-10 PVC COMP COUPLING 3/4" 160-1		1	7.49 5.99
40923 41019	3/4" FA SCH80 3/4" MA SCH80		4	5.69
40824	3/4" CPL SCH80		4	6.49 3.59
40741 4000678	3/4" 90 SCH80 3/4" REPAIR COUPLING		4	5.39
4000678	3/4" REPAIR COUPLING		1	7.29
40824 49022	3/4" CPL SCH80 3/4"X CLOSE BRASS NIPPLE		2	3.59
4339610	3/4" WATER REG BRZ 20-70	3.2	9 4 2	2.96 79.99
			-	10.00
	** PAID IN FULL **	30	1.59	TAVADIE
				TAXABLE NON-TAX SUBTOT
				TAX AMO
	BANKCARD PAYMENT		301.59	TOTAL
	BKCRD# XXXXXXXX	XXXXX4282	l'	1 sil
	APP: 074406 XR: 019398		XJah	KONT
				Rece





1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

636.5 - 105.00 635.3 - 157.50 636.4 - 51.10 105.006 - 670.75 675.4 - 208.60

APPROVED

By Arthur Faiello at 3:44 pm, Sep 26, 2022

Project

KY-Center Ridge Water District 4

Serviced	Item Code	Class	Description		Qty	Price Each	Amount]
6/10/2022	Non-contract (Operat	General Plant W	Plant lawn maintenance Trailer FOB		0.48	^{675.4} 70.00	33.60	
6/10/2022	Non-contract (Operat	General Plant W	Plant lawn maintenance		1	675.4 70.00	70.00	
6/16/2022	Non-contract (Operat	General Plant W	WO273097706 Water main repair FOI	В	0.73	70.00	51.10	636.4
6/16/2022	Non-contract (Operat	Services,Meters&Fire	Wo273097498 customer service report investigation revealed no leak.	ted leak,	1	105.00	105.00	636.5
6/21/2022	Non-contract (Operat	General Plant W	Wo273037880 yard repair backhoe FO	OB	2.88	70.00	201.60	105.006
6/21/2022	Non-contract (Operat	Services, Meters&Fire	Wo273037880 yard repair		2	105.00	210.00	105.006
6/22/2022	Non-contract (Operat	General Plant W	Lawn care		1	675.4 105.00	105.00	
6/28/2022	Non-contract (Operat	General Plant W	WO 270887391 Site prep & excavate l FOB	Backhoe	2.88	70.00 105.006	201.60	
6/29/2022	Non-contract (Operat	Transmission & Distri	Wo273107184 lead and copper testing	g.	1.5	635.3 105.00	157.50	
6/30/2022		Transmission & Distri	Central Bank Credit Card Charges-Equ Rental	uipment		57.55 105.006	57.55	
	Total \$1,192.95							

Invoice

Date	Invoice #		
6/30/2022	08379		

BP/Max's #132 2185 US HWY 641 N 2185 US HWY 641 N Murray KY 42071 (270) 753-3195 (270) 753-3195 Store # 101

Sales	16705
Retail	Transaction #:

5.699 10.099 Gal @ Diesel Pump #1

\$57.55

\$57.55	\$0.00	\$57.55	\$0.00 \$0.00 \$57.55	\$57.55
Subtotal :	Tax :	Total :	Cash Check mastercard	Paid: Change:

II:07:49 AM 06/25/2022 Cashier : employee egister: 01

mastercard

CC #: **********4282

Charge 4445046431714

Terminal ID:

0010010010

Sequence #:

017830

Approval Code:

\$57.55

Approved for:



Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2392



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

107.006 - \$1800.00 711 - \$420.00 714 - \$420.00 722 - \$1365.00

APPROVED By Arthur Faiello at 3:44 pm, Sep 26, 2022

Project

KY-Darlington Creek Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
6/1/2022	Non-contract (Operat	General Plant WW	Weed eating and mowing grass		1	711 70.00	70.00
6/1/2022	Non-contract (Operat	Treatment & Disposal	Wo273077738 Purestream replace	ed filter on	2	105.00	210.00
			backwash system, working on lev	el sensors		714	
6/9/2022	Non-contract (Operat	General Plant WW	Finished weed removal at last two	remaining	4	711 70.00	280.00
			lift stations. Zw			/11	
6/9/2022	Non-contract (Operat	General Plant WW	273091993 Installed new diffuser	s on blowers.	6	70.00	420.00
			Zw			107.006	
6/9/2022	Non-contract (Operat	Treatment & Disposal	WO 273091993 installing diffuser	r in aeration	3	70.00	210.00
			tank			107.006	
6/10/2022	Non-contract (Operat	Treatment & Disposal	Wo 273091993 working on aerati	on tank	2	105.00	210.00
			diffuser			107.006	
6/10/2022	Non-contract (Operat	Treatment & Disposal	Wo273094277 Backwash system		2	714 105.00	210.00
			filled with solids flushed lines cle				
6/15/2022	Non-contract (Operat	Water Treatment & Pu	Wo 273091993 Working on diffus	sers in	3	70.00	210.00
			aeration tank			107.006	
6/20/2022	Non-contract (Operat	Treatment & Disposal	Wo 273091993 working on diffus	er on aeration	2	70.00	140.00
			tank			107.006	
6/22/2022	Non-contract (Operat	General Plant WW	Wo#273114220 Darlington ky pu	mped truck	10	70.00	700.00
			load of sludge from clarifiers				
6/29/2022	Non-contract (Operat	Collection & Pumping	Darlington ,pumped solids out of	creek and	9.5	70.00	665.00
			plant			722	
			Wo#273103219				
6/30/2022		Treatment & Disposal	Central Bank Credit Card			610.00	610.00
			Charges-Repairs/Maintenance			107.006	
6/1/2022	Non-contract (Operat	General Plant WW	Weed eating and mowing grass		1	711 70.00	70.00
			·				
				Total			¢4.005.00
							\$4,005.00



Invoice

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13	
Exhibit 1-13 Page 2393	

 8#53973 24761 4KY e 4 - 14 - 22 Begley	$\frac{3420}{103}$ ged on past due accounts.	King (UMPED EVERY 3 YEARS
GRANT COUNTY SEPTIC SERVICE, LDC. 1280 Vallandingham Road • Dry Ridge, Kentucky 41035 (859) 428-1460 (859) 428-1460 (859) 428-1460 SANTATION DISTRUCT LICENSE #03 18 • KIT LICENSE #USDOT 0646394 KY Date 4 - 4	Midwest Water Check 169 Ky Husy 18420 Madwest Water Check 169 Ky Husy 18420 CynThinARKY 41031 Net 10th of month. Our service charge is 1 1/2% per month (18% annually) which will be charged on past due accounts.	C Disposal Fee	Devise Bending 62/24 TOTAL 610, 60 4428 5428 Exp 62/24 TOTAL 610, 60 5/c 4/95 TOTAL 610, 60 FOR PROPER MAINTENANCE, HAVE YOUR SEPTIC TANK PUMPED EVERY 3 YEARS
GRANT COUNTY SI GRANT COUNTY SI 1280 Vallandingham Roa (859) (859) (859) (859) (859) (859) (859) (859) (859)	Midwest Water Charles and Deputivation Charles month. Our service charge is 1 1/2% per	ent Plant	www.
*	Net 10th of T	Cleaned Holding Tank (s) Pumped Sewage Treatment Plant Septic Tank Pumped Grease Trap Pumped	Comments: Comments: Thurk of Lid Replaced


1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 107.006 - \$1140.00 711 - \$980.00 722 - \$3150.00 712 - \$210.00

Krista is looking into missing docs.

APPROVED By Arthur Faiello at 3:44 pm, Sep 26, 2022

Project

KY-Delaplain WW

Serviced	Item Code	Class	Description		Qty	Price	e Each	Amount]
6/3/2022	Non-contract (Operat	General Plant WW	Mow and yard work		2	711	70.00	140.00	
6/7/2022	Non-contract (Operat	General Plant WW	WO 273090311 contact customer down valve access pipes in yard	about cutting	0.5	712	70.00	35.00	
6/8/2022	Non-contract (Operat	General Plant WW	Yard work removed weeds from 3 stations. Stopped by rain. Zw	6/5 lift	5	711	70.00	350.00	
6/10/2022	Non-contract (Operat	General Plant WW	WO 273093213 leave customer ca to sign up for sewer service	ard and note	0.5	712	70.00	35.00	
6/16/2022	Non-contract (Operat	General Plant WW	WO 273097502 talked with and n to locate line for sewer tap	net customer	1	712	70.00	70.00	
6/18/2022	Non-contract (Operat	General Plant WW	Mow and yard work		1	711	70.00	70.00	
6/22/2022	Non-contract (Operat	General Plant WW	Yard work. Cut grass/removed we stations. Zw	eds at 5/5 lift	6	711	70.00	420.00	
6/29/2022	Non-contract (Operat	Collection & Pumping	WO 273106928 call out for pump failure, suffered power surge, rese both ran		1	712	70.00	70.00	
	*Reimb Group								
6/1/2022		Treatment & Disposal	Martins Sanitation Invoice 118250 273112145	0 WO Missing	Docs	1. 722	,575.00	1,575.00	
6/30/2022		Collection & Pumping	Buchanan Invoice 13921 WO 272	994363		1.	140.00	1,140.00	107.006
7/5/2022		Treatment & Disposal	Martin's Sanitation Invoice 12119 273080512	7 WO	\checkmark	722 1	,575.00	1,575.00	
			Total Reimbursable Expenses					4,290.00	
				Total				\$5,480.00	



Date	Invoice #
6/30/2022	08381

11:47			• • • • • • • • • • • • • • • • • • •			This will be divided among all KY sites.
<	Amazon.com 11:46 AM to me v	¥			•••	\$87.79 APPROVED By Arthur Faiello at 3:45 pm, Sep 26, 2022
a <u>ma</u> zon b	usiness			unt Amazo r Confirm 3-9290262-17 PO# CAP	783455	

Hello Chris Carroll,

Thank you for shopping with us. We'll send a confirmation once your items have shipped. Your order details are indicated below. The payment details of your transaction can be found on the order invoice. If you would like to view the status of your order or make any changes to it, please visit Your Orders on Amazon.com.

This order is placed on behalf of Midwest Water OP.

Arriving:	Your order will be sent to:
Delivery date pending. We'll email you as	Chris Carroll
soon as we have a delivery date.	CUB RUN, KY

United States

Order Details

Order #113-9290262-1783455 Placed on today, May 16



125 x Master Lock 175 Set Your Own Combination Padlock, Brass Finish Tools & Home Improvement Sold by Amazon.com Services LLC Condition: New

Order Total:

\$2,106.87

\$15.55

To learn more about ordering, go to Ordering from Amazon.com. If you want more information or need more assistance, go to Help.

Thank you for shopping with us.

Amazon.com

Recommended for you based on items in your order



ABUS 55/40 Solid Brass Padlock with...

\$11.59



Master Lock 3D Outdoor Padlock with...

\$8.98

The payment for your invoice is processed by Amazon Payments, Inc. P.O. Box 81226 Seattle, Washington 98108-1226. If you need more information, please contact (866) 216-1075

By placing your order, you agree to Amazon.com's Privacy Notice and Conditions of Use. Unless otherwise noted, items sold by Amazon.com are subject to sales tax in select states in accordance with the applicable laws of that state. If your order contains one or more items from a seller other than Amazon.com, it may be subject to state and local sales tax,

depending upon the seller's business policies and the location of their operations. Learn more about tax and seller information.

This email was sent from a notification-only address that cannot accept incoming email. Please do not reply to this message

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2396



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 107.006 - \$1470.00 711 - \$350.00 714 - \$280.00 713 - \$210.00 712 - \$420.00

APPROVED

By Arthur Faiello at 3:45 pm, Sep 26, 2022

Project

KY-Fox Run Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount	
6/2/2022	Non-contract (Operat	General Plant WW	W/O 273087482 clarifier clean up rain	o due to heavy	2.5	70.00	175.00	714
6/2/2022	Non-contract (Operat	General Plant WW	W/O 273087482 clarifier clean up rain	o due to heavy	1.5	70.00	105.00	714
6/5/2022	Non-contract (Operat	General Plant WW	273090164 Upon arrival I saw the overflowing from wet well. I check and water swirled but level did not installed temporary sump pump to level down in wet well and keep w into plant until pumps can be repa	ked pumps ot recede. I o keep water water moving	3	70.00 713	210.00	
6/7/2022	Non-contract (Operat	General Plant WW	Breaker to pumps tripped. Cleane	273095555 Answered call to 101 hunters trace. Breaker to pumps tripped. Cleaned sewage from site. Reset breaker to restore flow called		70.00	210.00	107.00
6/15/2022	Non-contract (Operat	Collection & Pumping	Wo#273091992 change difuser he	eads	6	712 70.00	420.00	
6/16/2022	Non-contract (Operat	General Plant WW	Lawn care. Mowed/removed weed Zw		3	70.00 711	210.00	
6/17/2022	Non-contract (Operat	General Plant WW	273098565 Arrived and found plant not running. Checked breakers, and outlet boxes. Called operator and Scott Huddleston. Left plant off until scott Or operator could look at it. Zw		2	70.00	140.00	107.00
6/18/2022	Non-contract (Operat	Collection & Pumping	Wo#273098565 repair wiring to b	plower motor	2.5	107.006 70.00	175.00	
6/22/2022	Non-contract (Operat	General Plant WW	Cut grass and removed weeds at t stations. Zw	wo lift	2	711 70.00	140.00	
6/28/2022	Non-contract (Operat	Collection & Pumping	W/O 273106116 working on blow	ver 1	6	107.006 70.00	420.00	
6/28/2022	Non-contract (Operat	Treatment & Disposal	Worked on blower again need ele both blowers running keeps kickin wo#273106116		3.5	70.00 107.006	245.00	
6/29/2022	Non-contract (Operat	Collection & Pumping	W/O 273106116 Replaced blower	r motor	4	107.006 70.00	280.00	
	1	1		Total	<u> </u>		\$2,730.00	



Date	Invoice #
6/30/2022	08382



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - \$420.00 715 - \$444.68

APPROVED By Arthur Faiello at 3:45 pm, Sep 26, 2022

Project

KY-Golden Acres Wastewater

Serviced	Item Code	Class	Description		Qty	Price	Each	Amount	
6/1/2022	Non-contract (Operat	General Plant WW	Mow, trim around treatment plan weeds around plant, fence.	nt, spray	2	711	70.00	140.00	
6/15/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around tre	eatment plant.	2	711	70.00	140.00	
6/28/2022	Non-contract (Operat	General Plant WW	Mow, trim weeds around treatme		2	711	70.00	140.00	
6/30/2022	Non-contract (Operat	General Plant WW	WO273109367 Dig up and replace hydrant. TT	ce yard water	4		70.00	280.00	715
6/30/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance				164.68	164.68	715
				Total				\$864.68	



Date	Invoice #
6/30/2022	08383



The interret of a second of any state

LOWE'S HUME CENTERS, LLC 3131 IRVIN COBB DRIVE PADUCAH, KY 42003 (270) 444-5520

- SALE -

SALES#: S2460LJ8 4366514 TRANS#: 13539668 06-29-22

173388	2-FT FREEZLESS YARD HYDRN	147.00
456833	PTFE TAPE 1/2-IN X 43-FT	2.58
	DATEY 4-OZ PIPE DOPE	5.78

	SU	155.36	
		TAX:	9.32
INVOICE	13381	TOTAL:	164.68
		H/C:	164.68





1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

APPROVED By Arthur Faiello at 3:45 pm, Sep 26, 2022

Project

KY-Great Oaks Wastewater

Serviced	Item Code	Class	Description	(Qty	Price Ea	ch Amount	
6/7/2022	Non-contract (Operat	Treatment & Disposal	Blowers service, oil change, adjus change/clean filters. WO 2728537		3	70.	00 210.00	714
6/8/2022	Non-contract (Operat	General Plant WW	Mow and trim site		1.5	711 70.	00 105.00	
6/27/2022	Non-contract (Operat	Collection & Pumping	WO273204994 Check main for fl	ow due to call	1.5	70.		
0/2//2022	Non-contract (Operat	Confection & Fumping			1		/0.00	
			in for house not draining. Main w			712		
			home owner lateral is stopped up.					
6/30/2022		Treatment & Disposal	Central Bank Credit Card			787.	05 787.05	
			Charges-Repairs/Maintenance			704		
'		L	·					1
				Total			64 188 05	
							\$1,172.05	



Date	Invoice #
8/4/2022	08388



PAIL (PL) 1-M51C4 BIN: M51C4

* (2) EES A100 TABLET CHLORINE OXIDIZER 45 LB PAIL UN2880 PETTER# 110434	PL 214.5000 429.00
1-N1OC1 BIN: N1OC1	
	PAID BY CREDIT CARD
	RECEIVED JUN 02 2022
SHIP ORDER*SHIP ORDER**** FREIGHT IN FREIGHT OUT *** ORDER COMPLETED ***	SUB TOTAL 742.50 MISC. CHARGE. 742.50 FREIGHT TOTAL 0.00 FED./OTHER TAX 0.00
	TABLET CHLORINE OXIDIZER 45 LB PAIL UN2880 PETTER# 110434 I-N10C1 BIN: N10C1 **SHIP ORDER****SHIP ORDER****



Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2401



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/4/2022	08389

APPROVED By Arthur Faiello at 3:45 pm, Sep 26, 2022

Project

KY-Herrington Haven WW

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/31/2022	Non-contract (Operat	General Plant WW	Delivered and installed new locks	s to site zw	2	714 70.00	140.00
6/8/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowed site moved dr removed weeds. Zw		6	711 70.00	420.00
6/21/2022	Non-contract (Operat	General Plant WW	Yard work. Cut grass at site. Zw		5	711 70.00	350.00
				Total			\$910.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

107.006 - \$3614.25 711 - \$700.00 715 - \$507.50 722 - \$1198.40

APPROVED

By Arthur Faiello at 3:45 pm, Sep 26, 2022

Project

KY-Kingswood Wastewater

Serviced	Item Code	Class	Description		Price Each	Amount
5/07/0000	N		N/O 272090/25 V T 1 G	0.56	722 70.00	500.00
5/27/2022	Non-contract (Operat	Treatment & Disposal	WO 273080635 Vacuum Truck Service SSS	8.56	70.00	599.20
6/3/2022	Non-contract (Operat	General Plant WW	Cutting grass	2	711 70.00	140.00
6/8/2022	Non-contract (Operat	Treatment & Disposal	WO 273095251 went to get materials list for replacing 3 of the defusers JD	3	70.00 107.006	210.00
6/8/2022	Non-contract (Operat	Treatment & Disposal	WO 273095251 Measuring for parts to replace air headers	3	107.00670.00	210.00
6/13/2022	Non-contract (Operat	General Plant WW	String trimmed K.C.	1	711 70.00	70.00
6/13/2022	Non-contract (Operat	Treatment & Disposal	WO273095251 went and bought all the	5	70.00	350.00
			materials for the new defusers and assembled them JD		107.006	
6/13/2022	Non-contract (Operat	Treatment & Disposal	WO 273095251	5	70.00	350.00
			Purchasing parts and assembly of new airheader		107.006	
6/14/2022	Non-contract (Operat	Treatment & Disposal	WO 273091699 Vacuum Truck Service SSS	8.56	722 70.00	599.20
6/14/2022	Non-contract (Operat	Treatment & Disposal	WO 273095251	6	70.00	420.00
			Purchasing of parts and assembly of new airheaders		107.006	
6/16/2022	Non-contract (Operat	General Plant WW	Yard work JD	3	711 70.00	210.00
6/16/2022	Non-contract (Operat	General Plant WW	Yard work	3	711 70.00	210.00
6/17/2022	Non-contract (Operat	Treatment & Disposal	WO 273095251 pulled the old defusers off and	0.5	70.00	35.00
		-	installed the new ones and tightened them up JD		107.006	
6/17/2022	Non-contract (Operat	Treatment & Disposal	WO 273095251 pulled the old defusers off and	6	70.00	420.00
			installed the new ones and tightened them up JD		107.006	
6/17/2022	Non-contract (Operat	Treatment & Disposal	WO 273095251	6.5	70.00	455.00
			Installation of new airheaders		107.006	
6/24/2022	Non-contract (Operat	Treatment & Disposal	WO 273113988 Noticed oil on the deck and	2	105.00	210.00
			water of the clarifier. It had leaked from the			
			gearbox. Refilled it and checked for leaking. K.C.		715	
			Total			

Invoice

Date	Invoice #
6/30/2022	08390



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
6/30/2022	08390

Project

KY-Kingswood Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
6/24/2022	Non-contract (Operat	Collection & Pumping	WO replaced the capacitor for pump two to if pump would start running again couldn't it to run Kathy said she would call tnt JD		70.00 107.006	280.00
6/24/2022	Non-contract (Operat	Water Treatment & Pu	WO 273107193 Checking malfunctioning pump, replacement of capacitor	t 4	70.00 107.006	280.00
6/27/2022	Non-contract (Operat	General Plant WW	WO 273102694 fence repair	1.5	715 105.00	157.50
6/28/2022	Non-contract (Operat	General Plant WW	WO 273102694 tightened the barbed wire a straighten brackets that holds it K.C.		715 70.00	140.00
6/29/2022	Non-contract (Operat	General Plant WW	Mowed	1	711 70.00	70.00
6/30/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance		604.25 107.006	604.25
			Tota			\$6,020.15

LOWE'S	HOM	IE CEN	ITERS,	LLC	
800 00	NES	TOGA	PARKU	AY	
SHEPHERDSVILLE,	KY	40165	5 (5)	02)	215-2600

DUIE'S

- SALE --SALES#: FSTLANO3 13 TRANS#: 26224554 06-14-22

2660942 SPY STINGER 10-PC DRILL B	29.98
MINIMUM RETAIL PRICE APPLIED TO	THIS ITEM
75606 11N BLK IRON CAP	19.08
6 9 3.18	
97341 12-IN U JAW + GROOVE PLIE	39.96
2 @ 19.98	
455441 10.5-FL OZ SASHCO LEXEL E	10.78
71453 1-IN X 30-IN BLACK IRON P	47.48
2 0 23.74	

	SU	147.28
	TAX:	8.84
INVOICE 26123	TOTAL:	156.12
	M/C:	156.12

H/C: XXXXXXXXXX7540 AMOUNT:156.12 AUTHCD: 032849 CHIP REFID:294526038799 06/14/22 12:35:54 CUSTOMER CODE: kingswood APL: Mastercard TVR: 0000008000 AID: A000000041010 TSI: E800 STORE: 2945 TERNINAL: 26 06/14/22 12:35:54 COF TTEMS PURCHASED: 12

> Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2405

LOWE'S HOME CENTERS, LLC 9800 PRESTON CROSSING BLVD LOUISVILLE, KY 40229 (502) 810-0116	SALES#: FSILANE3 13 IRANS#: 75235648 06-14-22	84638 1-1/4-IN X 1-IN BLK BUSHI 4.78 133362 1-1/4-IN X 1-5/8-IN CLSE 2.31 *MINIMUM RETAIL PRICE APPLIED TO THIS TIEM* 3 0 0.77 44139 WELD STL FLAT 1/8X3X3FT 1 59.96 2 0 29.98	SUBTOTAL: 67.05 TAX: 67.05 AX: 4.02 M/C: 71.07 M/C: 71.07	M/C: XXXXXXXX540 AMUNI:71.07 AUTHCD: 022093 CHIP REFID:151806075354 06/14/22 15:40:18 CUSTOMER CODE: KINGSW000 APL: Mastercard TVR: 0000008000 ATD: A000000041010 51: E800 STORE: 1518 TEMINAL: 06 06/14/22 15:40.40	EXCLUDES FEES, SERVICES AND SPECIAL ORDER ITENS 6
		1 Ale	30		





Shelby Septic Service, LLC PO Box 1461 | Shelbyville , KY 40066

PO Box 1461 | Shelbyville , KY 40066 15026339699 | shelbyseptic@gmail.com | www.shelbyseptic.com

RECIPIENT:

MidWest Water Operations- Kingswood Treatment Plant

1351 Jefferson Street Suite 307 Washington, MO 63090

Invoice #20305	
Issued	May 27, 2022
Due	May 27, 2022
Total	\$535.00
Account Balance	\$535.00

Phone: 502-650-5124

SERVICE ADDRESS:

Ace Court - Kingswood Treatment Plant Site Kingswood Subdivison Taylorsville, Kentucky 40071

Septic System Pumping/Maintenance/Inspections

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
May 27, 2022				
Vacuum Truck Service- WO# 273080635		1	\$535.00	\$535.00

Thank you for your business. Please contact us with any questions regarding this invoice. The total balance stated above is due upon receipt. Any amounts remaining due after 30 days shall incur a \$50.00 late fee plus a 5% per month finance charge on the total balance until paid in full. Any balance remaining after 60 days shall be turned over to our collection/legal department and shall be subject to all legal and court fees associated therewith.

Total	\$535.00
Account balance	\$535.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - 280.00 714 - 280.00 722 - 350.00

APPROVED By Arthur Faiello at 3:46 pm, Sep 26, 2022

Project

KY-LH Treatment Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/31/2022 6/2/2022	Non-contract (Operat Non-contract (Operat	General Plant WW General Plant WW	Delivered and installed new locks 273086411/273085021 Utility locates for blowing tree and run. Zw		2 2	714 70.00 70.00 711	140.00 <u>-140.00</u>
6/21/2022 6/28/2022 6/30/2022	Non-contract (Operat Non-contract (Operat Non-contract (Operat	General Plant WW General Plant WW Treatment & Disposal	run. Zw Retrieved mower, mowed site yard weeds around trees and inside fenc 273103548 Assisted Martins in slu Wo 273107893 replaced broken be blower put back in auto	ce. Zw udge haul.	4 5 2	711 70.00 722 70.00 714	280.00 350.00 140.00
				Total			\$1,050.00

 Date
 Invoice #

 6/30/2022
 08393

Invoice

Total due \$910.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

What is customer service call for?

711 - 630.00 715 - 70.00

APPROVED

By Arthur Faiello at 3:46 pm, Sep 26, 2022

Project

KY-Marshall Ridge Wastewater

Serviced	Item Code	Class	Description		Qty	Price	Each	Amount	
6/2/2022	Non-contract (Operat	General Plant WW	Mow, trim around lagoon, fence, spraying weeds around lagoon. T	finish T	3	711	70.00	210.00	
6/15/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lag	goon, fence.	3	711	70.00	210.00	
6/29/2022 6/29/2022	Non-contract (Operat Non-contract (Operat	General Plant WW General Plant WW	WO273106600 Customer service Mow, trimming weeds around lag TT		1 3	711	70.00 70.00	70.00 210.00	71
				Total				\$700.00	



Date	Invoice #
6/30/2022	08394



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - 2625.00 714 - 70.00 107.006 - 770.00 712 - 490.00

Invoice

Date	Invoice #
6/30/2022	08395

Total Due \$3955.00

APPROVED By Arthur Faiello at 3:46 pm, Sep 26, 2022

Project

KY-Persimmon Ridge Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
6/9/2022	Non-contract (Operat	General Plant WW	Finished mowing the field along the road going into the plant had to mow it slow from where it was taller the mower didn't want to cut it real good JD	6	70.00	420.00
6/9/2022	Non-contract (Operat	General Plant WW	Finished mowing the field along the road going into the plant JD	1	711 70.00	70.00
6/10/2022	Non-contract (Operat	General Plant WW	Yard work JD	4	711 70.00	280.00
6/14/2022	Non-contract (Operat	Treatment & Disposal	WO 273097695 changed tubes in the chemical pumps K.C.	1	70.00 714	70.00
6/14/2022	Non-contract (Operat	Collection & Pumping	WO 273097694 emergency call from Mission for 3 phase power outage at Persimmon Ridge. Found the power company working on a transformer near the plant they said that the trouble was with it and should be back on full power within an hour. After power was restored checked all lift stations K.C.	4	105.00 712	420.00
6/15/2022	Non-contract (Operat	General Plant WW	Finished mowing around the lagoons and inside the fence JD	5	70.00 711	350.00
6/15/2022	Non-contract (Operat	General Plant WW	Yard carr	5	711 70.00	350.00
6/22/2022	Non-contract (Operat	General Plant WW	Weedeating lagoon and weedeater repair	6	711 70.00	420.00
6/23/2022	Non-contract (Operat	Treatment & Disposal	WO 273102643 Purchasing of supplies, measuring, cutting, and fitment of new piping, placement of piping in trough	8	70.00 107.006	560.00
6/23/2022	Non-contract (Operat	Treatment & Disposal	WO 273102643 Purchasing of supplies, measuring, cutting, and fitment of new piping, placement of piping in trough	3	70.00	210.00
			Total			

Page 1



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
6/30/2022	08395

Project

KY-Persimmon Ridge Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
6/24/2022	Non-contract (Operat	Collection & Pumping	WO 273135032t email about not answer emergency locate email. Went to locate spot and work was completed. Poped the man hole to see if there was any mud in there which would indicate that they broke the sewer main. Dig site was close to where sewer main is located 259 persimmon Emergency locate burst water main	1	70.00	70.00
6/30/2022	Non-contract (Operat	General Plant WW	Mowed most of the grounds @ Persimmon	4.5	711 70.00	315.00
6/8/2021	Non-contract (Operat	Collection & Pumping	WO 272797027 Easement locate K C	1.5	712 70.00	105.00
6/15/2021	Non-contract (Operat	General Plant WW	Mowed all the grass inside the fence around the lagoons and in the fenced in area by the outflow JD	3	70.00 711	210.00
6/16/2021	Non-contract (Operat	General Plant WW	Weed eating	3	70.00	210.00
			Total			\$4,060.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
6/30/2022	08396

Project

KY-River Bluffs Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
6/19/2022	Non-contract (Operat	Collection & Pumping	WO 273010640	2	105.00	210.00
			Fill up generator		107.006	
			Got there in the morning a d generator was off.			
			Low oil pressure. Checked oil and level was			
			low			
			Out a think of oil and filled it up to the full			
			mark on the dip stick			
6/20/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00
6/20/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2.5	V 105.00	262.50
6/21/2022	Non-contract (Operat	Treatment & Disposal	WO measured for the amount of pipe needed	2	714 70.00	140.00
			and what other materials we needed JD			
6/21/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	107.006105.00	210.00
6/21/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00
6/22/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	105.00	210.00
6/22/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	V 105.00	210.00
6/22/2022	Non-contract (Operat	Collection & Pumping	Locates	2.5	70.00	175.00
6/23/2022	Non-contract (Operat	Treatment & Disposal	WO 273102643 bought the piping and fittings	11	70.00	770.00
			cut pipe to go in place and installed the pipe in		107.006	
			to the old weier on the tank JD			
6/23/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	107.006105.00	210.00
6/23/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	1	105.00	105.00
6/23/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	1	V 105.00	105.00
6/24/2022	Non-contract (Operat	Treatment & Disposal	WO had to cut the pipe down a little shorter	5	70.00	350.00
			and put the fittings on missing one piece have		714	
			to get another fitting to finish JD			
6/24/2022	Non-contract (Operat	Treatment & Disposal	WO had to cut the pipe down a little shorter	1	70.00	70.00
			and put the fittings on missing one piece have		714	
			to get another fitting to finish JD			
6/24/2022	Non-contract (Operat	Treatment & Disposal	WO 273102643	6	70.00	420.00
					107.006	
			Cutting and placement of piping			
6/24/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	107.00d 05.00	210.00
6/24/2022	Non-contract (Operat	Collection & Pumping	W/O 273018630 generator check	2	107.00 4 05.00	210.00
6/25/2022	Non-contract (Operat	Collection & Pumping	WO 273010640	1	107.00905.00	105.00
			Fill up generator			
			Total			

Page 3



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 715 - 210.00 711 - \$1750.00 107.006 - \$420.00 712 - \$210.00

Invoice

Date	Invoice #
6/30/2022	08397

Total due \$2590.00

APPROVED By Arthur Faiello at 3:47 pm, Sep 26, 2022

Project

KY-Springcrest WW

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
5/31/2022	Non-contract (Operat	General Plant WW	Picked up and Replaced locks on building. Zw	wells and	3	70.00	210.00
6/1/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowed site. Zw		6	711 70.00	420.00
6/2/2022	Non-contract (Operat	General Plant WW	Yardwork. Cut weeds around wel and fence line. Zw	lls, building	3	70.00	210.00
6/7/2022	Non-contract (Operat	General Plant WW	271344468 tested pumps 1 2 for 1 TnTs request. Checked for leaks to ones.		6	70.00 107.006	420.00
6/16/2022	Non-contract (Operat	General Plant WW	Yard work. Cut weeds around we trees as and fence. Zw	ells, building,	4	711 70.00	280.00
6/17/2022	Non-contract (Operat	General Plant WW	Mowed field. Zw		6	711 70.00	420.00
6/23/2022	Non-contract (Operat	General Plant WW	273092102 102 wood duck locate		3	70.00	210.00
			273096729 125 loose leaf locate 273096743 120 old coach locate.			712	
6/27/2022	Non-contract (Operat	General Plant WW	273105295 emergency locate for		3	70.00	210.00
			coach. Water main was hit, water notified and fixed problem.	company was		712	
6/30/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed 1/2 of field g Brocklyn and could not finish. Zv		6	70.00	420.00
	1	L	1	Total			\$2,800.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 711 - 140.00 107.006 - \$1710.59

APPROVED By Arthur Faiello at 3:47 pm, Sep 26, 2022

Project

KY-Timberland Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
6/3/2022	Non-contract (Operat	General Plant WW	Mow, trim around lagoon. TT	2	711 70.00	140.00	1
6/10/2022	Non-contract (Operat	General Plant WW	WO27307682 Ordered parts, pick up parts for treatment plant rehabilitation. TT		70.00	140.00	107
6/17/2022	Non-contract (Operat	General Plant WW	WO273076862 Meet with electrician to get estimate on electrical for lift station, treatment plant rehabilitation. TT	1	70.00	70.00	107.
	*Reimb Group						
6/30/2022		Treatment & Disposal	USABlueBook Invoice 029977		191.54	191.54	
6/30/2022		Treatment & Disposal	Central Bank Credit Card Charges-Equipment Rental		1,309.05	1,309.05	
			Total Reimbursable Expenses			1,500.59	
							-
			Total			\$1,850.59	

Invoice

Date	Invoice #
6/30/2022	08398

14 N H.C. Mathis Drive	Phone: 270-442-7109 Fax: 270-441-0010	Date	Invoice No.
P.O. Box 567 Paducah, KY 42002	operlecrane@yahoo.com	5/19/2022	41677
Bill To:	05.		
Midwest Water			

Jobsite	PO or Job No.	Terms
JUUSILU	1001300110.	renno

8345 Timberland Dr.

Serviced	Description of Crane Service	Qty/Hrs	Rate	Amount
5/19/2022	L-Belt with operator		967.73	967.73

A FINANCE CHARGE OF 1.5% WILL BE COMPUTED AFTER 30 DAYS (Annual 18%)

PAY FROM THIS INVOICE

TOTAL DUE: \$967.73

THANK YOU FOR YOUR BUSINESS!

	1 Rentals	I I A ULUMBRIDDE			INVIG		100
HALL AND				1	207000	5794-001	in the second
1 WASTE MR S385 TIN PADUCAN	TER PLANT BERLAND DR	11. 676-672-67	54	Charlosser B Derivation Bette Bentinit Chit Bentinit Die Um John B Charlosser Joh B. C. P Instrument No. Basservend By Balanspersent		N/SZ DELEG P N/SZ DELEG P K/SZ DELEG A COMMENDANE D	
WASHINGT	ON MO 63090-661						
-						0.000	- Aller
STATION STREET				-	-	4.7848	ARCONT.
		LOBO-1 CONSIDERS	Rolling		1000 2010.00	4. 1048	<u>Amount</u> 97.00
Shay Reputation	<pre>COME DETLA SLACTORI State: STOCYCLESS St Sector: SCIENCESSES COME DETLA SEAD SE State: COMPANY SE</pre>	Laboration and a second s					
313 Ransamm 3 33062277 3 38738379	cuss spin, sustained Sade, suspinates S Saturation (Saturation) cuss spin, sustained Saturation (Saturation) Saturation (Saturation) Saturation (Saturation) Saturation (Saturation)	landelis annoseen 18 Nodelis ANGO	Rocima		200.00	858.05	88.68
 a) Bastanet a) anteapri 	<pre>visus vebils elderment deates miniprovement in deates! elimitette elderment deates! visus elderment deates! deates! beats</pre>	sansi; ammones si Rođeni; 0803 s		99.98 91.09	549.00 549.00	656.55 977.50	95,05 65.00
313 Rassanni 3 33062277 3 38738379	<pre>visus vebils elderment deates miniprovement in deates! elimitette elderment deates! visus elderment deates! deates! beats</pre>	sansi; ammones si Rođeni; 0803 s		51.55 51.05 51.05	2019.00 5477.00 1000.005 1022.005	828.05 577.55 148.55	97.05 55.05 45.05
553 Raistanni 3 33062277 3 385735379 3 3851/75987 3 3851/75987 3 3851/75987	ALLER ALLER ALLER ALLER Bases Biogenations In Bound I Constantion Aller	odali (2000) 3 Rođeli (2003) Rođeli (2003)	Rolling.	51.55 51.05 51.05	2019.00 5477.00 1000.005 1022.005	628.09 977.09 148.09 652.09	19.05 65.00 45.00 69.00
 a) Bastanet a) anteapri 	AND ALL AND AL	omoli ammores 38 Modeoli MELA ,		01.50 01.00 01.00 01.00	ann. on ann. on ann. on ann. on ann an Anntait Reatait A	515.55 517,59 144,55 611,55 Reprotati	19.05 65.00 45.00 69.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

711 - 1505.00 714 - 560.00 712 - 378.29

Invoice

Date	Invoice #
6/30/2022	08399

APPROVED By Arthur Faiello at 3:47 pm, Sep 26, 2022

Project

KY-Woodland Acres WW

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
6/15/2022	Non-contract (Operat	General Plant WW	Mowed the grass outside the plan fence around the plant JD	t and in the	3	711 70.00	210.00
6/15/2022	Non-contract (Operat	General Plant WW	Yard work		3	711 105.00	315.00
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO 273097588 went to Lowe's g materials to fix the broken line cu the crack glued the new 90 on ins air fittings back to the new 90 and piece of air hose going to the line	it pipe under stalled all the d put a new	4	70.00 714 714	280.00
6/16/2022	Non-contract (Operat	Treatment & Disposal	WO 273135015 Repair of broken skimmer line		4	70.00 714	280.00
6/23/2022	Non-contract (Operat	General Plant WW	WO 273103258		8	70.00	560.00
			Cut trees and vines away from fer load of brush to dump	nce. Took one		711	
6/23/2022	Non-contract (Operat	General Plant WW	W/O 273102443 cutting trees from	m fence	6	711 70.00	420.00
6/26/2022	Non-contract (Operat	Collection & Pumping	Ticket number 2206250098 can't notified about emergency locate b was completed when I got there. WO273135033		1	70.00 712	70.00
6/29/2022	Non-contract (Operat	Collection & Pumping	WO 273095439 101 hemlock dr		2	70.00 712	140.00
6/29/2022	Non-contract (Operat	Collection & Pumping	Guy at 101 hemlock is hooked to sewer line to find manhole uncove and his line ties in the manhoe Wo#273095439		2	70.00	140.00
6/30/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance			28.29	28.29 714
				Total			\$2,443.29



LOVE'S HOME CENTERS, LLC 800 CONESTOGA PARKWAY SHEPHERDSVILLE, KY 40165 (502) 215-2600

- SALE -SALES#: FSTLANO3 13 TRANS#: 26393691 06-16-22

3/4-IN SCH40 I 3/4-IN ID BRA		0.71 25.98
SU	BTOTAL:	26.69
	TAX:	1.60
INVOICE 26390	TOTAL:	28.29
THOTOP, SPACE	M/C:	28.29



THANK YOU FOR SHOPPING LOWE'S.

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2419



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131



Date	Invoice #
6/30/2022	08402

Project

KY-Randview Wastewater

Serviced	Item Code	Class	Description		Qty	Price	Each	Amount
6/28/2022	Non-contract (Operat	None	WO273105332 Customer Service	e Call.	1	712	70.00	70.00
6/28/2022	Non-contract (Operat	General Plant WW	Spray weed killer around lagoon station. TT	and lift	3	711	70.00	210.00
				Total				\$280.00



Midwest Water Operations, LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090



Date	Invoice #
9/1/2022	08784

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

DATE RCVD ^{10/14/22} GL CODE ^{701/636.3}				
PRCD BY	Heather Tulk	GL DATE 10.1.22		

Project

KY-Bluegrass MONTHLY OPERATIONS

Qty	Item Code	Description	Price Each	Amount
9	KY-Bluegrass 1	Contract Operational Services for October: Airview, Brocklyn, Fox Run, Golden Acres, Great Oaks, Kingswood, Lake Columbia, LH Treatment, Persimmon Ridge	4,133.00	37,197.00
1	KY-Bluegrass 2	Contract Operational Services for October: Center Ridge Water District 1-4, River Bluffs, Timberland	18,006.00	18,006.00
4	KY-Bluegrass 3	Contract Operational Services for October: Arcadia Pines, Carriage Park, Marshall Ridge, Randview	3,001.00	12,004.00
4	KY-Bluegrass 4	Contract Operational Services for October: Delaplain, Herrington Haven, Springcrest, Woodland Acres	4,200.00	16,800.00
	KY-Bluegrass 5	Contract Operational Services for October: Darlington Creek	8,849.63	8,849.63
			Total	\$92,856.63



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08956

APPROVED By Arthur Faiello at 2:00 pm, Oct 31, 2022

Project

KY-Airview Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/31/2022	Non-contract (Operat	General Plant WW	WO 273146353Had to run to harb get fittings for the air compressor tires on the mower mowed around and on the backside of the new fer the backside of the plant JD	to air up the the lagoon	3	70.00 107.006	210.00
8/31/2022		Treatment & Disposal	Central Bank Credit Card Charges-Repairs/Maintenance			1,093.01 107.006	1,093.01
				Total			\$13,028.01

EMR

Biil To

........

ELECTRIC MOTOR REPAIR & REWIND. INC. 1502 RESEARCH DRIVE





Invoice

\$675.00

MIDWLSEW ALTROP 1351 JEFFERSON STREET SUIT 301 WASHINGTON, MO 63090

VIII) WININI WALLER UP 1351 11.111 R MIN STREET STE 301 In ISHNIN AUTONIA

Snip To

P.O. Number	Terms	Due Date	Ship	Ship Via	Work Order #
	COD	7 29 2022	- 29 2022	ORKIRICK	26881
Manufactu	irer	H.P.	R.P.M.	121:20	Serial No.
$(1 \times 1! R$	>	131112	1725 RPN1. 56	3 2341 4044-1 5 751	

CENTURY 13 HP. 1725 RPM. 56C FRAME 3 PHASE 230 460V. 1.5 75 V

INSPECT. IFST. DISASSEMBLE, CLEAN, STEAMAND BAKE STATOR. ITST STATOR, STATOR SHORTED, IEST ROTOR, INSPECT MACHINE HIS, INSPECT BEARING HS, BEYOND FONMENT REPAIR REPLACE MOTOR WHITDENTICALLY

WEREDWIDT FIP. ISOURPM. Soc BIRAME. SPHASL. 230 400A. HIC

EN ~ > -X --4 ~ 5 --GJ -

~

...

m

5

30 24

× 101 う Name HUNI 11-10FIC -HIR 341

2 1102 H A --

~ ------Wall NOL della En 17



Research Drive leffe d States 4/130 812 284 5059 08/01/2022 09:	X) Ve J tal	from Credit (and type: Master Number: XXXXXX604/ Mumber: XXXXXX604/ action Number: nbDH mer Nume: No (ustome you for your bustne (ustomer (op	and the infaction of sky keyned.	5075.00
1502 Unite	J teml \$675.	Pard Fard Card Card Custon Hank	Your th	50.00
Phone =	l'av =	E-mail	Payments/Credits	-\$675.00
\$12-284-5059	812-284-5096	estroud.emr a aol.com	Balance Due	Sit 111







1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08957

DATE RCV	D ^{10/11/22}	GL CODE711
		GL DATE <u>9.1.22</u>

APPROVED

By Arthur Faiello at 2:00 pm, Oct 31, 2022

Project

KY-Arcadia Pines Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/11/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lag left over weeds from last spraying	goon, spray g. TT	3	70.00	210.00
8/22/2022	Non-contract (Operat	General Plant WW	Mow, spraying weeds around lage berms, fence. TT	oon	3	70.00	210.00
				Total			\$420.00



Invoice

1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
8/31/2022	08958

DATE RCVD^{10/11/22} GL CODE See Below PRCD BY Heather Tulk GL DATE 9.1.22

711 - \$630.00 107.006 - \$8470.00 714 - \$315.00 722 - \$840.00

Project

APPROVED By Arthur Faiello at 2:00 pm, Oct 31, 2022

KY-Brocklyn Utilities Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
8/2/2022	Non-contract (Operat	General Plant WW	Mowing. Yard work. Zw	3	711 70.00	210.00
8/2/2022	Non-contract (Operat	General Plant WW	Wo 273133447 Camera check manhole across from brocklyn treatment plant	8	70.00 107.006	560.00
8/11/2022	Non-contract (Operat	General Plant WW	Wo 273141535 Bought 6" pipe fittings and already had my own pipe 75' of 6" need to buy more pipe and rock , my pipe cost 600.00		70.00 107.006	630.00
8/15/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowed/removed weeds from site. Zw	4	105.00 711	420.00
8/17/2022	Non-contract (Operat	General Plant WW	273145969 assisted with new capital project installation. Removed old pipe from ground and took to metal pile at Springcrest. Zw	6	105.00 107.006	630.00
8/17/2022	Non-contract (Operat	General Plant WW	WO 273145969 once Scott got the trench dug we put the pipe in the ground glued everything together and went to persimmon to get the trailer to pick up more pipe JD		70.00	700.00
8/17/2022	Non-contract (Operat	General Plant WW	WO 273245969 Picking up of trailer at persimmon, digging of trench's me placement of piping	10	70.00	700.00
8/17/2022	Non-contract (Operat	General Plant WW	Wo 273145969 Installed drain for rain water to devert away from plant	13.5	70.00	945.00
8/18/2022	Non-contract (Operat	General Plant WW	273145969 Removed cut brush/debris/trash left over from capital project from site. Zw	7	105.00	735.00
8/18/2022	Non-contract (Operat	General Plant WW	WO 273145969 went to site one in Lexington to get more pipe that we needed to finish up the driveway cut the pipe to length and glued in place waited for the Rick to get there and be dumped used mini excavator to level the rock out and smooth the driveway back out JD	10	70.00	700.00
8/18/2022	Non-contract (Operat	General Plant WW	WO 273145969 Purchasing of more pipe, fitment, and drilling drain holes. Covering with gravel and smoothing		70.00	700.00
8/18/2022	Non-contract (Operat	General Plant WW	Wo 273145969finished French drain across driveway at brocklyn	12	↓ 70.00	840.00
			Total			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08958

Project

KY-Brocklyn Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/19/2022	Non-contract (Operat	General Plant WW	273146018 Assisted Buchanan's v of sludge.	with 3 loads	8	722 105.00	840.00
8/22/2022	Non-contract (Operat	Treatment & Disposal	Wo 273148397 replaced rubber c blower		0.5	70.00 714	35.00
8/22/2022	Non-contract (Operat	General Plant WW	WO # 273148654 Bought parts for treatment plant new air line to co new diffuser		4	70.00 714	280.00
8/23/2022	Non-contract (Operat	General Plant WW	Wo 273148654 Fixed leak up on air header line	Put new air with new	11	70.00 107.006	770.00
8/24/2022	Non-contract (Operat	General Plant WW	Wo 273148654 Finished with to contact tank 1/14 all the way	new air line	8	70.00	560.00
				Total			\$10,255.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

|--|

Date	Invoice #
8/31/2022	08959

DATE RCVD^{10/11/22} GL CODE⁷¹¹

PRCD BY Heather Tulk GL DATE 9.1.22

APPROVED By Arthur Faiello at 2:00 pm, Oct 31, 2022

Project

KY-Carriage Park Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/1/2022	Non-contract (Operat	General Plant WW	Spray weed killer around lagoon f middle of lagoon. TT		3	70.00	210.00
8/12/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lag	goon, fence.	3	70.00	210.00
8/23/2022	Non-contract (Operat	General Plant WW	Mow, trimming, spraying weeds a berms, fence. TT	around lagoon	3	70.00	210.00
				Total			\$630.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08960

DATE RCVD^{10/11/22} GL CODE^{675.4}

PRCD BY Heather Tulk GL DATE 9.1.22

APPROVED

By Arthur Faiello at 2:00 pm, Oct 31, 2022

Project

KY-Center Ridge Water District 1

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
Serviced 8/3/2022 8/17/2022 8/29/2022	Item Code	Class General Plant W General Plant W General Plant W	Description		Qty 1 1	Price Each 70.00 70.00	Amount 70.00 70.00
				Total			\$210.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

APPROVED

Class

General Plant W

General Plant W

General Plant W

General Plant W

Source of Supply W

Services, Meters&Fire ...

Services, Meters & Fire ...

Bill To

Serviced

8/3/2022

8/17/2022

8/17/2022

8/19/2022

8/19/2022

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #

Invoico

Dale	Invoice #
8/31/2022	08961

DATE RCVD^{10/11/22} GL CODE See Below

Description

Wo273145981 relocate pressure switch in well

Wo 273146741 seeding yard after valve repair.

Wo273146741 Gravel driveway and well head

house 2B. see work order for a complete

Wo273140089 replaced broken valve on

Lawn maintenance

Lawn maintenance

details.

service line.

Lawn care

at well house 2B.

PRCD BY Heather Tulk GL DATE 9.1.22

675.4 - \$210.00 636.6 - \$210.00 105.006 - \$210.00 636.4 - \$315.00

Item Code

Non-contract (Operat...

Non-contract (Operat...

Non-contract (Operat...

Non-contract (Operat...

Non-contract (Operat...

8/18/2022 Non-contract (Operat...

8/29/2022 Non-contract (Operat...

By Arthur Faiello at 2:01 pm, Oct 31, 2022

Project

Price Each

675.4 70.00

105.00670.00

105.006

675.4

70.00

105.00

105.00

70.00

70.00

KY-Center Ridge Water District 2

675.4

636.4

Qty

1

1

2

3

1

2

1

636.6

70.00

70.00

210.00

315.00

70.00

140.00

70.00

Total

\$945.00


1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

> 711 - \$140.00 722 - \$280.00

Invoice

Date	Invoice #
8/31/2022	08964

DATE RCVD^{10/11/22} GL CODE See Below

PRCD BY Heather Tulk GL DATE 9.1.22

Project

APPROVED By Arthur Faiello at 2:01 pm, Oct 31, 2022

KY-Darlington Creek Wastewater

Serviced	Item Code	Class	Description		Qty	Price	Each	Amount
8/8/2022	Non-contract (Operat	General Plant WW	WO 273136325 Pumping sludge clarifiers and contact tanks 4500	from gallons	1	722	70.00	70.00
8/8/2022	Non-contract (Operat	General Plant WW	Weed eating and mowing		2	711	70.00	140.00
8/8/2022 8/25/2022	Non-contract (Operat Non-contract (Operat	General Plant WW Collection & Pumping	Weed eating and mowing Wo 273148760 Buchanan pumpin from clarifiers and scum off aerat	ng sludge	23	711	70.00	140.00 210.00
				Total				\$420.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08965

DATE RCVD^{10/11/22} GL CODE See Below

PRCD BY Heather Tulk GL DATE 9.1.22

Project

KY-Delaplain WW

712 - \$35.00 711 - \$2345.00 701 - \$35.00

107.006 - \$175.00

APPROVED By Arthur Faiello at 2:01 pm, Oct 31, 2022

Serviced	Item Code	Class	Description	Qty	Price Each	Amount	
8/1/2022	Non-contract (Operat	Collection & Pumping	WO 273132033 contact customer regarding grinder pump at customer residence, explained it was homeowners responsibility and need to call plumber	0.5	70.00	35.00	
8/2/2022	Non-contract (Operat	General Plant WW	Finished mowing field. Zw	6	711 70.00	420.00	
8/3/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed all lift stations and removed weeds from around fence line, buildings and tanks at site. Zw	7	70.00	490.00	
8/4/2022	Non-contract (Operat	General Plant WW	WO 273134584 take card to new homeowner for service sign up	0.5	70.00	35.00	701
8/9/2022	Non-contract (Operat	General Plant WW	Mow and yard work	2	711 70.00	140.00	
8/16/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed/removed weeds from 5/5 lift stations. Zw	7	105.00 711	735.00	
8/17/2022	Non-contract (Operat	General Plant WW	Mow and yard work	2	/11	140.00	
8/23/2022	Non-contract (Operat	General Plant WW	WO 273149102 Assist with delivery and off load of cloth filter	1.5	70.00		107.006
8/24/2022	Non-contract (Operat	Collection & Pumping	WO 273149099 Inspect sewer tap for new construction	1	70.00	70.00	107.006
8/31/2022	Non-contract (Operat	General Plant WW	mowing	3		210.00	
8/31/2022	Non-contract (Operat	General Plant WW	mowing	3	70.00	210.00	
			Total	·		\$2,590.00	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

In	vo	ic	e
	V U		C

Date	Invoice #
8/31/2022	08966



APPROVED By Arthur Faiello at 2:01 pm, Oct 31, 2022

Project

KY-Fox Run Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/10/2022	Non-contract (Operat	General Plant WW	Yardwork. Mowed/removed weeds fro and lift stations. Zw	om site	4	70.00	280.00
8/22/2022	Non-contract (Operat	General Plant WW	yard work		5	70.00	350.00
				otal			\$630.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

> 711 - 140.00 107.006 - \$700.00

Invoice

Date	Invoice #
8/31/2022	08967

DATE RCVD^{10/11/22} GL CODE See Below PRCD BY Heather Tulk GL DATE 9.1.22

Project

APPROVED By Arthur Faiello at 2:01 pm, Oct 31, 2022

KY-Golden Acres Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/4/2022	Non-contract (Operat	General Plant WW	WO273135789 Spread gravel aro and treatment plant. TT	und roadway	2	70.00 107.006	140.00
8/5/2022	Non-contract (Operat	General Plant WW	WO23135789 Spreading gravel as roadway and treatment plant. TT	round	2	70.00	140.00
8/10/2022	Non-contract (Operat	General Plant WW	WO273135789 Work on adding g roadway and treatment plant. TT	ravel around	2	70.00	140.00
8/12/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds, spraying v treatment plant, lift station. TT	weeds around	2	70.00	140.00
8/13/2022	Non-contract (Operat	General Plant WW	WO273135789 Work on gravel in roadway and treatment plant. TT	around	2	V 70.00	140.00
8/22/2022	Non-contract (Operat	General Plant WW	Mow, trimming, spraying weeds a treatment plant, lift station. TT	around	2	711 70.00	140.00
				Total			\$840.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #

Invoice

08968

DATE RCVD^{10/11/22} GL CODE See Below PRCD BY Heather Tulk GL DATE 9.1.22

714 - \$70.00

711 - \$140.00

APPROVED By Arthur Faiello at 2:02 pm, Oct 31, 2022 Project

8/31/2022

KY-Great Oaks Wastewater

Serviced	Item Code	Class	Description		Qty	Price	e Each	Amount
8/9/2022	Non-contract (Operat	General Plant WW	WO273125454 Meet with pace fi to set up sampler. TT	eld technician	1	714	70.00	70.00
8/21/2022	Non-contract (Operat	General Plant WW	Mow and trim		2	711	70.00	140.00
			<u> </u>					
				Total				\$210.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

In	voi	ce
III	VOI	ce

Date	Invoice #
8/31/2022	08969

DATE RCVD^{10/11/22} GL CODE See Below

PRCD BY Heather Tulk GL DATE 9.1.22

107.006 - \$1050.00 711 - \$630.00

APPROVED

By Arthur Faiello at 2:02 pm, Oct 31, 2022

Project

KY-Herrington Haven WW

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
8/9/2022	Non-contract (Operat	General Plant WW	Mowing/yardwork. Zw	4	711 70.00	280.00
8/25/2022	Non-contract (Operat	General Plant WW	WO 272758545 repaired the handrails where they had broke loose from the plant in a few	4	70.00	280.00
			spots JD		107.006	
8/25/2022	Non-contract (Operat	General Plant WW	WO 272758545	4	70.00	280.00
			Repair of damaged handrails		107.006	
8/25/2022	Non-contract (Operat	General Plant WW	yard work	5	711 70.00	350.00
8/29/2022	Non-contract (Operat	General Plant WW	WO 272758545 cut and welded in the uprights for the handrails at the end of the tank and the top rails JD	7	70.00 107.006	490.00
			Total			\$1,680.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08970

DATE RCVD^{10/11/22} GL CODE See Below

PRCD BY Heather Tulk GL DATE 9.1.22

107.006 - \$2950.00 712 - \$455.00 711 - \$665.00

> **APPROVED** By Arthur Faiello at 2:02 pm, Oct 31, 2022

Project

KY-Kingswood Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/8/2022	Non-contract (Operat	General Plant WW	Yard work JD		5	711 70.00	350.00
8/8/2022	Operations	General Plant WW	Yard work		5	711 0.00	0.00
8/8/2022	Non-contract (Operat	Collection & Pumping	Wo 273139254	Manhole	5	70.00	350.00
			locate with camera and locate fr				
			at 639 kings wood from going dow			712	
			hidden manhole is 165' away unde	r driveway			
8/10/2022	Non-contract (Expert	General Plant WW	wo 273141605 hightide install JI		4	107.006 100.00	400.00
8/10/2022	Non-contract (Expert	General Plant WW	wo 273141604 hightide install JI		4	107.00d 00.00	400.00
8/10/2022	Non-contract (Expert	General Plant WW	wo 273141604 hightide install JI		4	107.006100.00	400.00
8/11/2022	Non-contract (Operat	General Plant WW	Weedeating		2	711 70.00	140.00
8/23/2022	Non-contract (Operat	Treatment & Disposal	WO 272869912 measured to see v		3.5	70.00	245.00
			materials we needed to to weld in	brackets for			
			the new bar screen and measure for	or the new		107.006	
			bar screen JD				
8/23/2022	Non-contract (Operat	Treatment & Disposal	WO 272869912		3.5	70.00	245.00
						107.006	
			Measuring for metal need to make	bar screen			
			frame				
8/24/2022	Non-contract (Operat	Treatment & Disposal	WO 272869912 went to metal sup		9	70.00	630.00
			pick up materials and welded the			107.006	
			place to hold the new bar screen J	D			
8/24/2022	Non-contract (Operat	Treatment & Disposal	WO 272869912		9	70.00	630.00
						107.006	
			Purchasing, cutting, and welding of	of bar screen			
			frame				
8/25/2022	Utility Line Locates	Collection & Pumping	WO 273149476 emergency locate		1.5	712 70.00	105.00
8/31/2022	Non-contract (Operat	General Plant WW	Stopped and filled the mower up a		2.5	70.00	175.00
			everything inside the privacy fence	e and mowed		711	
			along the road outside of the fence	JD			
			I				I
				Total			\$4,070.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08971

DATE RCV	D ^{10/11/22}	GL CODE See Below
		GL DATE 9.1.22

107.006 - \$175.00 711 - \$140.00

> **APPROVED** By Arthur Faiello at 2:02 pm, Oct 31, 2022

Project

KY-Lake Columbia Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount	
8/2/2022	Non-contract (Operat	General Plant WW	WO273121501 met the fence inst and went over the areas with unde pipes and the general location for gates. K.C.	erground	2.5	70.00	175.00	107.006
8/11/2022	Non-contract (Operat	General Plant WW	Weedeating		2	711 70.00	140.00	
				Total			\$315.00	



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Inv	oice

Date	Invoice #
8/31/2022	08972

DATE RCVD^{10/11/22} GL CODE See Below

PRCD BY Heather Tulk GL DATE 9.1.22

711 - \$490.00 714 - \$210.00 107.006 - \$945.00 722 - \$490.00

APPROVED

By Arthur Faiello at 2:02 pm, Oct 31, 2022

Project KY-LH Treatment Wastewater

m, Oct 31, 2022

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
8/8/2022	Non-contract (Operat	General Plant WW	Mowing/ yardwork. Mowed site. Removed	4	70.00	280.00
			weeds from fence, around trees and dumpster Zw		711	
8/11/2022	Non-contract (Operat	General Plant WW	273123753 Met with Buchanan's at site helpe spread gravel (2 loads.)	d 5	105.00 107.006	525.00
8/12/2022	Non-contract (Operat	General Plant WW	273123753 Continued spreading gravel with	4	105.00	420.00
			shovel until Buchanan's came back to site and		107.006	
8/17/2022	Non-contract (Operat	Treatment & Disposal	brought a bob cat. Zw Wo 273146016 working on bleach pump	2		210.00
0/1//2022	Non-contract (Operat	Treatment & Disposal	replaced hosed and fitting	2	714	210.00
8/22/2022	Non-contract (Operat	General Plant WW	yard work	3	711 70.00	210.00
8/24/2022	Non-contract (Operat	Treatment & Disposal	Wo 273146020 pump sludge from digesters	7	722 70.00	490.00
	1	1	Total		1	\$2,135.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

I	nv	oi	ce

Date	Invoice #
8/31/2022	08973

DATE RCVD^{10/11/22} GL CODE⁷¹¹

PRCD BY Heather Tulk GL DATE 9.1.22

APPROVED By Arthur Faiello at 2:02 pm, Oct 31, 2022

Project

KY-Marshall Ridge Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/11/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lag spray weeds left over from last sp	oraying. TT	3	70.00	210.00
8/22/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lag	goon, fence.	2	70.00	140.00
				Total			\$350.00



CSWR, LLC/KY-Bluegrass Utility

1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Bill To

Josiah Cox

Midwest Water Operations, LLC

1351 Jefferson Street, Suite 301 Washington, MO 63090

APPROVED

Invoice

 Date
 Invoice #

 8/31/2022
 08974

DATE RCVD^{10/11/22} GL CODE See Below

PRCD BY Heather Tulk GL DATE 9.1.22

107.006 - \$2642.50 711 - \$945.00 712 - \$175.02

By Arthur Faiello at 2:02 pm, Oct 31, 2022

Project

KY-Persimmon Ridge Wastewater

Serviced	Item Code	Class	Description	Qty	Price	e Each	Amount	
8/9/2022	Non-contract (Operat	General Plant WW	Yard work	8	711	70.00	560.00	1
8/9/2022	Operations	General Plant WW	Yard work	8	711	0.00	0.00	
8/11/2022	Non-contract (Operat	General Plant WW	Mowed the entrance to the plant	0.5	711	70.00	35.00	
8/11/2022	Non-contract (Operat	Collection & Pumping	WO 273141661 checked on low level alarms	1.5		70.00	105.00	
			from Cherry Hills lift station cleaned		712			
			transducer and watched it cycle K.C.		/12			
8/12/2022	Non-contract (Operat	Collection & Pumping	WO 273144197	6		70.00	420.00	
			Cherry hills liftstation					
			Pump one had longer runtime than pump 2.		107.0	006		
			Suspected clog. Time how long each pump					
			took to pump down lift station. Studs on pump					
			one too bracket we're loose. Added one					
8/12/2022	Non-contract (Operat	Collection & Pumping	WO 273144197 back washed pump one to	9		70.00	630.00	
		1 0	unclog it times both pumps to make sure they					
			had the same run time and one of the pump					
			guide rail brackets was loose installed a new					
			stud to secure it JD					
8/15/2022	Non-contract (Operat	Collection & Pumping	WO 273144197 went to Lowe's to get more	8		70.00	560.00	
	(°F	F	anchors for the brackets for the guide rails in	Ů				
			the lift station on cherry hills drilled holes in					
			the brackets and the concrete installed the					
			drive anchors in and tightened them JD					
8/15/2022	Non-contract (Operat	Collection & Pumping	WO 273244297	8		70.00	560.00	
0/10/2022	rion contract (operation	concerton & Fumping	Purchasing of anchors, drilling guide rails and	Ĭ		, 0.00	200.00	
			placing them to tighten rails		V			
8/17/2022	Non-contract (Operat	General Plant WW	Mowed and trimmed the entrance, weeded the	2		70.00	140.00	
0,17,2022	rion contract (operation	Scholar Flank WW	plant beds then trimmed around the building	-		, 0.00	110.00	
			and contact tank. loaded up the mower to take		711			
			to Airview K.C.		711			
8/27/2022	Non-contract (Operat	Collection & Pumping	WO 273150039 email and call's to schedule	1.5		70.00	105.00	
0/2//2022	Non contract (Operat	concetion & rumping	repair and other operations to try to prevent an	1.5		/0.00	105.00	
			emergency repair and overflow at the lift					107.00
			station K.C.					107.00
			Station IX.C.					
								4
			Total					
			I					J



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
8/31/2022	08974

Project

KY-Persimmon Ridge Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount	
8/29/2022	Non-contract (Operat	Collection & Pumping	WO 273150037 Assisted Joel with Brothers by hoisting him into and well several times to repair the dis K.C.	out of the scharge pipe.	3.5	105.00	367.50	107.0
8/31/2022	Non-contract (Operat	General Plant WW	Mowed in front of the building an top of the lagoons and down one s berms JD		3	70.00 711	210.00	
8/31/2022		Collection & Pumping	Central Bank Credit Card Charges-Repairs/Maintenance			70.02	70.02	
								4
				Total			\$3,762.52	



LOWE'S HOME CENTERS, LLC 4930 MORTON HEALTHCARE BLV LOUISVILLE, KY 40241 (502) 420-1452

SHI -

SALESH: ESTLANE: 13 TRANSH: 6583188 08-15-22

 464616
 KOBALT 3-PC ADJUSTABLE WR
 22.93

 689766
 DW 1/2-IN INDUSTRIAL COBA
 23.93

 1120226
 BSH BT SUS PL 1/2-IN X 6 9.93

 1215606
 WEDGE 1/2 X 2-3/4 SGL CT(
 9.12

 4 @
 2.28

SUBTOTAL:

INVOICE 06365 101AL:

TAX:

66.05

3.96

70.02





1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

	nvoice
Date	Invoice #

08975 8/31/2022

DATE RCVD^{10/11/22} GL CODE⁷¹¹

PRCD BY Heather Tulk GL DATE 9.1.22

APPROVED By Arthur Faiello at 2:03 pm, Oct 31, 2022

Project

KY-Randview Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/12/2022	Non-contract (Operat	General Plant WW	Spraying weeds in around lagoon stations. TT	berm, lift	3		210.00
				Total			\$210.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoic					
Date	Invoice #				
8/31/2022	08977				

DATE RCVD^{10/11/22} GL CODE⁷¹¹

PRCD BY Heather Tulk GL DATE 9.1.22

APPROVED By Arthur Faiello at 2:03 pm, Oct 31, 2022

Project

KY-Springcrest WW

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
8/1/2022	Non-contract (Operat	General Plant WW	Yard work. Mowed 1/2 of field. Z	Zw	6	70.00	420.00
8/9/2022	Non-contract (Operat	General Plant WW	Yard work/mowing mowed 1/2 th	e field. Zw	6	70.00	420.00
8/10/2022	Non-contract (Operat	General Plant WW	Finished mowing. Removed weed	ls around	6	70.00	420.00
	_		wells and building. Zw				
8/23/2022	Non-contract (Operat	General Plant WW	yard work		9	70.00	630.00
8/24/2022	Non-contract (Operat	General Plant WW	yard work		3	70.00	210.00
8/29/2022	Non-contract (Operat	General Plant WW	mowing		3	70.00	210.00
				Total			\$2,310.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

APPROVED

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08978



711 - \$280.00 714 - \$183.44

By Arthur Faiello at 2:03 pm, Oct 31, 2022

Project

KY-Timberland Wastewater

Serviced	Item Code	Class	Description		Qty	Price	e Each	Amount
8/8/2022	Non-contract (Operat	General Plant WW	WO273140791 Pick up new belt, rep broken belt. TT	olace	1	714	70.00	70.00
8/9/2022	Non-contract (Operat	General Plant WW	WO273125454 Meet with pace field to set up sampler. TT	technician	1	714	70.00	70.00
8/9/2022	Non-contract (Operat	General Plant WW	Mow, trimming weeds around lagoor treatment plant, lift station, spray we	n, eds. TT	2	711	70.00	140.00
8/23/2022	Non-contract (Operat	General Plant WW	Mow, trimming, spraying weeds arou berms, fence. TT		2	711	70.00	140.00
8/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance			714	43.44	43.44
	1			Total				\$463.44



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
8/31/2022	08979

DATE RCVD^{10/11/22} GL CODE<u>See Below</u> PRCD BY <u>Heather Tulk</u> GL DATE<u>9.1.22</u>

107.006 - \$630.00 714 - \$210.00 711 - \$700.00

APPROVED By Arthur Faiello at 2:03 pm, Oct 31, 2022 Project

KY-Woodland Acres WW

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
8/8/2022	Non-contract (Operat	General Plant WW	Yard work JD	5	711 70.00	350.00
8/12/2022	Non-contract (Operat	General Plant WW	Sprayed round up grass killer on driveway at woodland acres	3	711 70.00	210.00
8/15/2022	Non-contract (Operat	General Plant WW	WO 273152106 Cleaned rags that was floating off diffuser and put in 6 buckets cleaned clarifier as if I operate it bought 3 brushes to leave at a few plants to clean with	3	70.00 714	210.00
8/31/2022	Non-contract (Operat	General Plant WW	Mowed everything outside the fence JD	2	711 70.00	140.00
8/31/2022	Non-contract (Operat	Treatment & Disposal	Wo 273152106 Pulled sludge return because of air leak on the T on air line Fixed and replaced	9	70.00 107.006	630.00
	1	1	Total	1	1	\$1,540.00



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131 715 - \$210.00 705 - \$87.79 711 - \$420.00

Invoice

Date	Invoice #
5/31/2022	07948

APPROVED

By Arthur Faiello at 3:49 pm, Sep 26, 2022

Project

KY-Arcadia Pines Wastewater

Serviced	Item Code	Class	Description		Qty	Price	Each	Amount	
5/9/2022	Non-contract (Operat	General Plant WW	Mow, trimmed around lagoon sys	stem. TT	3	711	70.00	210.00	1
5/11/2022	Non-contract (Operat	General Plant WW	Spray weed killer in and around I and fence with back sprayer. TT		3	711	70.00	210.00	
5/24/2022	Non-contract (Operat	General Plant WW	WO 273033431 putting together information for cswr	erp	3	744	70.00	210.00	715
5/31/2022		General Plant WW	Central Bank Credit Card Charges-Repairs/Maintenance - H	(evs		705	87.79	87.79	
				Total				\$717.79	

11:47 Amazon						This will be divided among all KY sites
		₽	Ū		•••	Woodland Acres \$87.70 All other KY sites \$87.79
←′ to me ∽	IL SOLD I LINE					
to me 🗸					By	PPROVED Arthur Faiello at 3:49 pm, Sep 26, 2022
amazon business			Your Acco	er Confirma		
				13-9290262-17		
				PO# CAPt	billable	
Hello Chris Carroll Thank you for shopping Your order details are in on the order invoice. If to it, please visit Your C This order is placed on	with us. We'll send a d idicated below. The pay you would like to view to orders on Amazon.com.	yment details of the status of yo	f your trans	action can be f	ound	
Arriving: Delivery date pending. soon as we have a dei	We'll email you as livery date.	Your order will Chris Carroll CUB RUN, KY United States				
Order Details Order #113-9290262-17. Placed on today, May 1		llock, Brass Fin nprovement	ish	\$15.55		
	Order To	otal:		\$2,106.87		
To learn more about oro If you want more inform Thank you for shopping Amazon.com	ation or need more ass					
Recommended for	or you based on i	items in you	ır order			
	55/40 Solid Brass k with	A.	Master L Padlock \$8.98	ock 3D Outdoo with	Dr	
The payment for your ir Seattle, Washington 981 1075					6-	
By placing your order, y Unless otherwise noted, in accordance with the from a seller other than depending upon the sell	items sold by Amazon applicable laws of that Amazon.com, it may b ler's business policies a	.com are subje state. If your or le subject to sta	ct to sales der containate and loca	tax in select st s one or more al sales tax,	ates items	
about tax and seller info This email was sent from Please do not reply to t	m a notification-only ad	dress that cann	iot accept ir	ncoming email.		

-



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

Serviced

11/4/2021

11/1/2022

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2022	10357

Invoice

Amount

1,260.00

70.00

DATE RCVD^{01/10/23} GL CODE See Below

PRCD BY <u>Heather Tulk</u> GL DATE 12.1.22

107.006 - \$40718.49 714 - \$525.00 715 - \$210.00 712 - \$140.00

APPROVED By Arthur Faiello at 5:51 pm, Feb 16, 2023 Project

KY-Airview Utilities Wastewater

Item Code	Class	Description	Qty	Price Each
Non-contract (Operat	Treatment & Disposal	WO 272946803 & WO 272946803 replaced broken blower belt and unclogged RAS K.C.	1	714 70.00
Non-contract (Operat	Treatment & Disposal	WO 273155067 Drained all the aeration into lagoon diverted flow into lagoom	12	105.00 107.006
Non-contract (Operat	Treatment & Disposal	WO 373155067 assisted James in pumping down the aeration basin KC	8	70.00 107.006
Non-contract (Operat	Treatment & Disposal	WO 273155067 Aeration Tank cleaning	4	107.006 ^{70.00}
Non-contract (Operat	Treatment & Disposal	WO 273190881 Demous and take seen how to among fix leaking	4	70.00

			Dramed an the defation into lagoon diverted			
			flow into lagoom		107.006	
11/1/2022	Non-contract (Operat	Treatment & Disposal	WO 373155067 assisted James in pumping	8	70.00	560.00
		-	down the aeration basin KC		107.006	
11/2/2022	Non-contract (Operat	Treatment & Disposal	WO 273155067	4	70.00	280.00
			Aeration Tank cleaning		107.006	
11/2/2022	Non-contract (Operat	Treatment & Disposal	WO 273190881	4	70.00	280.00
			Remove and take gear box to emr to fix leaking		714	
			seal			
11/2/2022	Non-contract (Operat	Collection & Pumping	WO 273155067 assisting with pumping and	9	70.00	630.00
			cleaning out the tank JD		107.006	
11/2/2022	Non-contract (Operat	Treatment & Disposal	WO 273255067	10	70.00	700.00
			Helping clean out digester			
11/3/2022	Non-contract (Operat	Treatment & Disposal	WO 273155067	6	70.00	420.00
			Cleaning of aeration tank			
11/3/2022	Non-contract (Operat	Treatment & Disposal	WO 273155067	2	70.00	140.00
			Cleaning of aeration tank			
11/3/2022	Non-contract (Operat	General Plant WW	WO 273155067 picked up a pump. KC	4	▼ 105.00	420.00
11/3/2022	Non-contract (Operat	Treatment & Disposal	WO 273190881 unhooked wires and pulled the	2.5	70.00	175.00
			motor for the carousel to be looked at it was		714	
			leaking oil from around one of the seals JD		107.00(=0.00	100.00
11/3/2022	Non-contract (Operat	Treatment & Disposal	WO 273255067 Helping clean out digester	7	107.006 70.00	490.00
11/4/2022	Non-contract (Operat	Treatment & Disposal	WO 273188310 Replace air hose to ras lines	4	107.00670.00	280.00
11/4/2022	Non-contract (Operat	General Plant WW	WO 273188308 Pressure wash top of tank and	4	70.00 107.006	280.00
11/1/2022	N		hand rails			21 0.00
11/4/2022	Non-contract (Operat	General Plant WW	WO 273188308 pressure washed and wire	2	105.00	210.00
			brushed the handrails and tank supports to prep		107.006	
11/4/2022			for painting K.C.	2		215.00
11/4/2022	Non-contract (Operat	Treatment & Disposal	WO 273188310 assisted James with replacing	3	105.00	315.00
			the flexible air hoses for the RAS and skimmer.		107.006	
			КС			
			Total			

Page 1



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #		
11/30/2022	10357		

Project

KY-Airview Utilities Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
11/4/2022	Non-contract (Operat	Treatment & Disposal	WO 273188134 Camera check ras line and	4.5	105.00 107.006	472.50
11/0/2022	N (0)		skimmer for blockage, no blockage	2.5		262.50
11/8/2022	Non-contract (Operat	Treatment & Disposal	WO 273190881 picked up the gear reduction box from EMR for Airview's clarifier KC	2.5	105.00	262.50
11/8/2022	Non-contract (Operat	Treatment & Disposal	WO 273190924 reseeding the aeration KC	4	107.00 ∲ 05.00	420.00
11/9/2022	Non-contract (Operat	General Plant WW	WO 273188308 pressure wash the handrails and freeboard area KC	2	107.006	210.00
11/9/2022	Non-contract (Operat	Treatment & Disposal	WO 273190881 delivered the gearbox for the clarifier KC	2	$107.006^{105.00}$	210.00
11/9/2022	Non-contract (Operat	Treatment & Disposal	WO 273190881 unloaded the carousel motor	5.5	70.00	385.00
	· 1		put it in place ran to get new bolts to mount the			
			motor to the flange bolted everything up			
			hooked up the wire and turned the power on to		107.007	
			it JD		107.006	
11/9/2022	Non-contract (Operat	Treatment & Disposal	WO 273190881 removed the clarifier carousel	5.5	70.00	385.00
		-	motor and replaced bolts and mount. bolted		107.000	
			into place and hooked up wiring		107.006	
11/10/2022	Non-contract (Operat	Treatment & Disposal	WO 273190924 reseed by pumping from the	4	105.00	420.00
			digester KC result from WO			
			273155067cleaning of the aeration basin		107.006	
11/15/2022	Non-contract (Operat	Collection & Pumping	WO 273182512 removed the temporary fence	1.5	105.00	157.50
	_		from the repaired area cleaned up to complete		107.007	
			the job. KC		107.006	
11/16/2022	Non-contract (Operat	General Plant WW	WO 273155067 loaded and took to the landfill	3	105.00 107.006	315.00
			the trash cleaned from the aeration basin KC		107.006	
11/16/2022	Non-contract (Operat	Treatment & Disposal	WO 273182512 Securing necessary equipment	9	70.00	630.00
			and supplies for winterization of piping. JD		107.006	
11/17/2022	Non-contract (Operat	General Plant WW	WO 273155067 loaded and took the last of the	4	105.00	420.00
			trash that was removed from the aeration basin			
			KC		107.006	
11/17/2022	Non-contract (Operat	General Plant WW	WO 273182512 Yard repair after piping repair	8	70.00	560.00
	_		and winterization. JD		107.006	
11/28/2022	Non-contract (Operat	Collection & Pumping	WO 273204590 order parts needed to add the	2	70.00	140.00
			disconnect's at Airview KC		712	
11/29/2022	Non-contract (Operat	General Plant WW	WO 273188308 wire brushed and painted some	5	70.00	350.00
			of the handrails and supports KC		107.006	
	l	1	l			
			Total			
			i otai			



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
11/30/2022	10357

Project

KY-Airview Utilities Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
11/30/2022	Non-contract (Operat	General Plant WW	WO 273184131 added panels to the new gates for added security KC	he top of the 4	3	70.00 715	210.00
11/3/2022	*Reimb Group	Transmission & Distrib	Onsite Environmental Inv# 14852 273204583	062 WO		26,994.45 107.006	26,994.45
11/30/2022		Collection & Pumping	Central Bank Credit Card Charges Rental	s-Equipment		1,422.51 107.006	1,422.51
11/30/2022		Collection & Pumping	Central Bank Credit Card Charges-Repairs/Maintenance			1,119.03 107.006	1,119.03
			Total Reimbursable Expenses				29,535.99
				Total			\$41,593.49





OMER333 CAS SI EL	3335 SH TE IZABET	омп, КҮ 42701 ОН, КҮ 42701 W PICKUP TRUCK		VEHICLE	CASH KATHY KERP	CONTA RY	INBOUND	12:48 F
		LE IN GROSS WEIGHT	4,040 NEI 1000	.37 740			CASH	1.5
	SCAL	E OUT TARE WEIGHT	4,100 NEI WEIGHT		RATE	EXTENSION	TAX	TOTAL
0.00 0.37 1.00 1.00	UNIT YD tn	Tracking QTY MSW ENVIRONMENTAL FEE 2 FUEL RECOVERY FEE	DESCRIPTION Origin:HARDIN COUNTY 100%	A Margel	\$30.05 \$1.75 5.00% REMEDIAT		\$0.65 \$0.00 \$0.00 Tax Total \$0.65	\$30.70 \$0.65 \$1.50
Tha	n k you f c	r your business!			CREDIT	Payment(s) CARD-SCALE	\$32.85	NET AMOUNT \$32.85
	The under	signed individual signing this docume erse side and that he or she has the a	ent on behalf of Customer acknowledges that he uthority to sign this document on behalf of the SIGNATUR	or she has read and customer.	d understands the	terms and conditions		CHANGE00

H HAV	cardi Amount 5.29	5.29	6.35	6.35	6,35	6.35	5.29	5.29	7.29	0.50	54.35 3.27	57.62	57.62
Racaliff Racaliff North Dixle Hey Rural King Radciliff 5985 North Dixle Hey Elizabethrown, KY 42701 Elizabethrown, KY 42701 Dinted States 200-755-1472 200-755-1472 200-755-1472 200-755-1472 200-755-1472 200-755-1472 200-755-1472 200-755-1472 200-755-1472	e with the Harvest King.com/harvest Qty Price 1 GKB 5.29	579-11flandE MUF GR8 59261248 1 ea 5.29	5/8-11 X 3HEX FLANGE GR8 29261258 1 ea 6.35	5/8-11 X 3HEX FLANGE GR8 29261258 1 ea 6.35	5/8-11 X 3HEX FLANGE GR8 29261258 1 ea 6.35	5/8-11 X 3HEX FLANGE GH8 29261258 1 ea 6.35	5/8-11FLANGE NUT GR8 29261248 1 ea 5.29	5/8-11FLANGE NUT GR8 29261248 1 ea 5.29	SOAPSTONE HOLDER ROUND 15241744 1 ea 7.29	GRADE 2 BULK FASTENERS 519766 0.28 lb 1.79	Subtotal Tax	Total	MasterCard Credit Card
	1						TT AND THE PERSON						M



	VOU ST	RACTO PPLY C	õ	
	448 OLD BF SHELBYVII 502-	RUNERSTOWN RO LE, KY 4006 633-1523	AD 5	
Date	et: 891891 : 11/2/22 e: 489 nier: Savana	Time: 1:3 Register:	88 PM	1
Iter F I	JOHN DEERE YEL	Price LOW GALLON 64.99	Amount 64.99	
PRO	THE FLAT	BLACK AEROSO 5 14.99	L 89.94	
		Subtotal Tax Total	154.93 9.30 164.23	
AU Te Cr AJ	sterCard *********9047 uthorization # rminal ID ryptogram ID : A000000004 PP : MasterCarCd VM : NONE / 1 VR : 000008000	: 057785 : 00179048900 : 8C93B1FC584 1010 F0300	0100 BA3F4	
	hange agree to pay t to my card issue	the above amo er agreement.	0.00 unt according	
	Prefe Loyalty For more detai rewards, and e: the Tractor www. As a member of Rewards when make a pur appi www.Tractor	xclusive bene Supply mobile neighborsclub Neighbor's C you use a TSC rchase. Subjec roval. Learn m Supply.com/TSC mher for more	ghbor ***0800 pint balance, fits, download app or go to .com lub, earn 5% in Store Card to t to credit .ore 0 Card or see a	
	For our Tract *********** Help a neigl www.tra *********** Go to tell 1-800-54 complete a a monthly win a (Awarded as C Click on complete (without	Returns Polic orSupply.com/ http://www.com/ torsupply.com/ tractorsupply.com/ tractorsupply ractorsupply ractorsupply ind/ tractorsupply ind/ drawing for survey and bi drawing for survey and bi for survey and	cy, visit returns war products. /reviews ************************************	
	Ent 0489-0 SOLD ITEM COU	ter Survey Co 1-891891-1102 NT = 7	de #: 22-1338-7	
		R 3 3 X P E I 4	a fan Customer	
TTTTTTTT	Please call ****	Solutions. Solutions. ************************************	50 for Customer	No.

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2458

Wilson EQUIPMENT COMPANY

WEC - ETOWN 128 E NAILS RD

ELIZABETHTOWN, KY 42701 2703608326

Cashier: Vic Transaction 000244

Total

CREDIT CARD AUTH MASTERCARD 7884 **\$181.26** \$181.26

Payment 9VYV5ZY4TJEYC

Clover Privacy Policy https://clover.com/privacy

> Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2459

		\$806.12 \$435.13Ai rview			Rental	Invoi	ce	
131 Pa Elizab	BOYD ERETTAL arkway Drive ethtown, KY 42701 59-1300				Invoice Da Contract: Customer Start Date Billed Fror Billed Thru Jobsite: Contact: Phone:	No.: : m:	R86868-001 Fina 10/18/2022 R86868 C0071046 10/13/2022 10/13/2022 10/14/2022 182 WEST AIRVIEN JAMES SMITH 270-559-5252	
	MIDWEST WATER OPEF 1351 JEFFERSON STREE WASHINGTON, MO 63090	ET, SUITE 301			Email: 182 W Air Elizabetht Written By Sales Rep	own, KY ⁄:	42701 Kim Thompson HOUSE	
Signe Orde	ed By: r By: MIDWEST WAT	ĒR			PO #: Location:		Cat Rental Store-El	izabethtown
Qty	Description			Day		Week	4 Week	Totals
	tal Items							
1	2021020 303.5 MINI EXCAV ID: EQ00170811	ATOR Serial: BG80034		\$351.00 Mode	\$1,0 el: 303.5E2	21.50	\$2,416.50	\$702.00
	Equipment Start Date: 10/13 PM	/2022 12:00	Billed Thru: 10/	/14/2022	5:00 PM	Bill	for 1 Day 5 Hours	
1	8001004 303 BT ID: EQ00160766	Serial: A4199Bk	(30125	\$0.00 Mode	el: 303 24 E	\$0.00 3T	\$0.00	\$0.00
	Equipment Start Date: 10/13 PM	/2022 12:00	Billed Thru: 10/	/14/2022	5:00 PM	Bill	for 1 Day 5 Hours	

Miscellaneous Items

1 1	Environmental Charge Loss Damage Waiver Delivery Our Truck Pickup Our Truck		\$13.69 \$105.30 \$175.00 \$175.00
		Subtotal:	\$1,170.99
		Sales Tax:	\$70.26
		Total:	\$1,241.25

DOVD		Rental Invo	oice
BOYD		Invoice:	R86868-001 Final Invoice
131 Parkway Driv	9	Invoice Date:	10/18/2022
Elizabethtown, KY	42701	Contract:	R86868
270-769-1300		Customer No.:	C0071046
		Start Date:	10/13/2022
		Billed From:	10/13/2022
		Billed Thru:	10/14/2022
		Jobsite:	182 WEST AIRVIEW DR
		Contact:	JAMES SMITH
		Phone:	270-559-5252
MIDW	EST WATER OPERATIONS, LLC	Email:	
	EFFERSON STREET, SUITE 301	182 W Airview D	Dr
	INGTON, MO 63090	Elizabethtown, k	KY 42701
		Written By:	Kim Thompson
		Sales Rep:	HOUSE
Signed By:		PO #:	
Order By:	MIDWEST WATER	Location:	Cat Rental Store-Elizabethtown
Qty Descripti	on	Day Week	4 Week Totals

Please Remit Payment To: Boyd Company Department 8326 Carol Stream, IL 60122-8326		PAST DUE INVOICES CHARGE OF 1.5% PI	S ARE SUBJECT TO A SERVICE ER MONTH	REMITTANCE ADVICE RETURN THIS PORTION WITH YOUR PAYMENT
Invoice No.:	R86868-001	Terms:	Cod	
Invoice Date:	10/18/2022	Invoice Total:	\$1,241.25	
Due Date:	10/18/2022			

All transactions are governed by the terms and conditions (as updated from time to time) available at www.boydcat.com/terms. By transacting business with the Company, you acknowledge your agreement to be bound by those terms and conditions.

0)											\$750.00	\$0.00	80.00	\$750.00		
Invoice	Invoice #	121251			rder #	10	No.	ISM	Amount							
	Date	11/3/2022		T SUITE 301	Work Order #	27110	Serial No.	157115M					10	12		
	6	La Autority	Shin To	MIDWEET WATER OP MIDWEET WATER OP 1351 JEFFERSON STREET SUITE 301 WASHINGTON, MO 65999 JAMES SMITH 270-599-525	Ship Via	OUR TRUCK	Phase	3-230/460-1.5/.75A		/,75A REDUCER	Subtotal	Sales Tax (0.0%)	Payments/Credits	Balance Due		
	CINI	EAS. The Electro-Mechanics			Ship	11/3/2022	R.P.M.	1725 RPM, 56	scription	HASE, 230/460V, 1.5/.75A REDUCER	-	S				
NT buind				\$750.00 \$750.00	MoDdBC		ardz!	X	11 8	17	ed for over 3	our business	E-mail	DBARKER@ EMOTORREPAIR.COM		
tor Repair & Re	130 Jefferson	812 284 5059 11/08/2022 15:05	ITEMS	tpe	xxxx9047 r: DLbnOBboWy THY G. CAREY	r business. omer Copy	ing out on Rew	Sky Rewardz app no			Family owned & operated for over 30 years	We appreciate your business	Fax #	812-284-5096	- Colorest	
Electric Mot	1502 Research Drive Jeffersonville IN United States 47130	813 11/08		Item1 X 1 \$750.00 Subtotal Total Paid from Card Sw Card Type: Master	Card Number: xxxxxx904 Transaction Number: DLbn0BboWyDBbOoM Customer Name: KAIHY G. CAREY	Thank you for your business. Customer Copy	You could be missing out on Rewardz!	iload the Sky	ž.		Family ow	We	Phone #	812-284-5059	THOMAS IN	
	AL A	5		SU SU SU	Tra	That	You	Down								

131 Pa Elizab	BOYD ERETE		Rental Agreemer Start Date: Est. End Da Terms	10/13/20)22	
	Bill To: MIDWEST WATER OPE 1351 JEFFERSON STRI WASHINGTON, MO 630	EET, SUITE 301	Jobsite: Contact: Phone: Email: 192 Pine Va Elizabethtov	E VALLEY DR SMITH -5252 820		
Signe Orde	ed By: r By: MIDWEST W/	ATER	Written By: Sales Rep: PO #: Location:	HOUSE	•	ntown
Qty	Description		Day	Week	4 Week	Totals
Ren	tal Items					
1	303.5 MINI EXCAVATOR		\$351.00	\$1,021.50	\$2,416.50	\$351.00
	ID: EQ00170811 Hours Out: 3000.8	Serial: BG800343 Hours Allowed: 10/50/200	Model: 3	03.5E2		
1	303 BT		\$0.00	\$0.00	\$0.00	\$0.00
	ID: EQ00160766 Hours Out: 0.0	Serial: A4199BK30125 Hours Allowed: 10/50/200	Model: 3	03 24 BT		
Mis	cellaneous Items					
1 1	Environmental Charge Loss Damage Waiver Delivery - Our Truck Pickup - Our Truck			c	Subtotal:	\$6.84 \$52.65 \$175.00 \$175.00 \$760.49
					les Tax:	\$45.63
					Total:	\$806.12

DEF: \$10.00/gallon Surcharge Applied if Not Returned Full Fuel: \$9.50/gallon Fuel Surcharge Applied if Not Returned Full. Beginning June 13th, 2022, a fuel surcharge is \$9.50 and will be applied to all equipment if not returned full. Non-Returned Key: \$5 Fee

Thank you for renting from Boyd CAT.

Payments Received

10/13/2022 Credit Card

\$806.12

DOVD	I H E	Rental				
BOYD		Agreement:	R86868			
131 Parkway Drive Elizabethtown, KY	2701	Start Date: Est. End Date:	10/13/202 10/14/202	—		
270-769-1300		Terms	Cod			
1351 .	o: Customer No. C0071046 /EST WATER OPERATIONS, LLC JEFFERSON STREET, SUITE 301 fINGTON, MO 63090	Jobsite: Contact: Phone: Email: 192 Pine Valley I Elizabethtown, K	JAMES SI 270-559-5 Dr	252		
Signed By:		Written By: Sales Rep: PO #:	Kim Thom HOUSE	pson		
Order By:	MIDWEST WATER	Location:	Cat Renta	I Store-Elizabethtowr	า	
Qty Descripti	ion	Day	Week	4 Week	Totals	

Excessive cleaning charges may apply.

Rentals, sales, and services (collectively, "Transactions") shall be governed by the Company's Terms and Conditions (currently available at www.boydcat.com/terms). THE TERMS ARE HEREBY INCORPORATED BY REFERENCE INTO THIS DOCUMENT AND THE PARTIES AGREE TO AND INTEND TO BE BOUND BY THE TERMS AS AN INTEGRAL PART OF THEIR AGREEMENT. A hard copy of the Terms is available upon request sent to TermsAndConditions@boydcat.com or at any Company location. Should successor websites containing the Terms be established, the terms will be available through the Company's website at www.boydcat.com. The Company may amend the Terms WITHOUT NOTICE to you by posting revised Terms, and you agree to be bound by such amended Terms effective at the time of the Transaction. Except as may be expressly provided in the Terms or written agreement signed by the Company, Transactions are made AS IS and WITH ALL FAULTS. The Terms, among other things, require the WAIVER AND LIMITATION OF SUBSTANTIAL LEGAL RIGHTS. By signing below and/or entering into a Transaction, you acknowledge that you have read, understand, accept, and agree to be bound by the Terms.

Date

Print Name



1421 Baptist World Center Dr Nashville TN 37207 615-228-3901



В	Bill To:			Service Loo	Service Location:			
Midwest Water Operations LLC 9000 Cook Road Denham Springs LA 70726 United States		LLC	182 West Ai Elizabethto	Air View Kentucky Blue Grass Water 182 West Air View Drive Elizabethtown KY 42701 United States				
Terms	Due Date		PO #		Sales Rep			
Net 30	12/3/2022				House			
Service Dat	e Manifest	Quantity	Item		Rate	Amount		
11/3/20	22	1	Service water treatment pla clean processing tank. Confi labor, transportation and dis	nt. Vacuum and ne space entry, sposal.	\$23,769.00	\$23,769.00		

1	Environmental & Energy Recovery Fee	\$2,037.00
1	Fuel Surcharge	\$1,188.45

Pay your bill online at:	Invoice Total	\$26,994.45	
www.onsiteserv.com	Invoice Balance	\$26,994.45	
Customer ID: 133951	Thank you for doing business with us! We know the world is full of choices.		

Remit To: PO Box 189, Whites Creek, TN 37189

For more information on fees and surcharges click here.

Thanks for choosing us!



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

I	nv	'0İ	ce

Date	Invoice #		
11/30/2022	10358		

DATE RCVD^{01/10/23} GL CODE<u>107.006</u> PRCD BY <u>Heather Tulk</u> GL DATE<u>12.1.22</u>

APPROVED By Arthur Faiello at 5:51 pm, Feb 16, 2023

Project

KY-Arcadia Pines Wastewater

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
11/1/2022		General Plant W	USABlueBook Inv# 162153			2,521.63	2,521.63
				Total			\$2,521.63


Remit To: P.O. Box 9004 Gurnee, IL 60031-9004 TEL: (847) 689-3000 FAX: (847) 689-3001 TOLL FREE: 1-800-493-9876 F.E.I.N.: 52-2418852

BILL TO:

P O BOX 580

USA

INVOICE

INVOICE NO.	PAGE NO.
162153	1 of 1
CUSTOMER NO.	DATE
1040590	11/01/22

View online at: http://usabluebook.billtrust.com Web Enrollment Token: RQL ZVV ZVT

SHIP TO: 17

MIDWEST WATER OPERATIONS LLC 3734 SHELBYVILLE RD SHELBYVILLE KY 40065

Ordered by: 0014 ZACK WILSON

MIDWEST WATER OPERATIONS LLC

DENHAM SPRINGS LA 70727

1040590

Attention: 0014 ZACK WILSON

CUSTOMER P.O. N	O. SHIP DATE	SLP	TERMS		TAX COD	E S	SALES ORDER N	IO. W/H	FREIGHT		SHIP VIA
VERBAL-ZACK	11/01/22	HDF	NET 30	ET 30 KY		KY 436		436646 01 FXD/PPD		FEDEXGRND	
USA STOCK NO.	DE	SCRIPTION		ORDE	RED SH	IIPPED	BACKORDE	ER U/M	PRICE	PER	EXTENSION
29450	Ammonia Standard 1.0 ppm as N 50 SDS VISIT WWW Lot# 2GH1378 1	.USABLU	EBOOK.COM : 08/3	1		1	0	EA	27.15	EA	27.15
CA	CR Released			1		1	0	EA	0.00	EA	0.00
41415	Raven Laboratory C for Process Contr			1		1	0	EA	1,464.65	EA	1,464.65
86991	(OR) LaMotte DC15 Colorimeter 0.05 SDS VISIT WWW	-5.00ppm	3241	1		1	0	EA	845.00	EA	845.00
	J for your business!		MERCHANDISE	MISCEL	LANEOUS	DI	SCOUNT	TAX	FREIG	HT	TOTAL
ON AMOUNT	Y FINANCE CHARGE S 30 DAYS PAST DUE ly to Merchandise Only	,	2,336.80).00		0.00	142.7			2,521.63

Should it become necessary to refer your unpaid balance to a collection agency, a collection fee, not to exceed 25% of the balance referred; plus reasonable attorney's fees; and court costs when necessary, will be added to the balance due.

Please Detach and Return Bottom Portion to Ensure Proper Credit to Your Account

USABlueBook Get the Best Treatment"

****IMPORTANT**** Please include this customer # on the face of your remittance check.

INVOICE NO.	CUSTOMER NO.	DATE	TOTAL
162153	1040590	11/01/22	2,521.63

MIDWEST WATER OPERATIONS LLC P O BOX 580 **DENHAM SPRINGS LA 70727** USA

REMITTANCE ADDRESS

hllalladhaadhaadhadhadhadhaadadhadhal USABlueBook P.O. Box 9004 Gurnee, IL 60031-9004

Case No. 2022-00432 Bluegrass Water's Response to PSC 1-13 Exhibit 1-13 Page 2467

USA



1351 Jefferson Street, Suite 301 Washington, MO 63090

APPROVED

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

Date	Invoice #
11/30/2022	10359



107.006 - \$5677.71 714 - \$420.00 711 - \$1470.00

By Arthur Faiello at 5:52 pm, Feb 16, 2023

KY-Brocklyn	Utilities	Wastewater
KI-DIOCKIYII	ounties	waste water

Project

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
11/1/2022	Non-contract (Operat	Treatment & Disposal	WO 273187025 Fixed broken con blower	duit under air	4	105.00 714	420.00
11/1/2022	Non-contract (Operat	Services,Meters&Fire	WO 273187023 Installed new hyd was leaking	lrant old one	4	105.00 107.006	420.00
11/1/2022	Non-contract (Operat	Services,Meters&Fire	WO 273187023 Installed new hyd was leaking	lrant old one	4	105.00 107.006	420.00
11/2/2022	Non-contract (Operat	General Plant WW	WO 273171940 picked up trailer f Kingswood to use in brush haul fr Zw		3	105.00 711	315.00
11/2/2022	Non-contract (Operat	General Plant WW	WO 273187419 Poured concrete s water hydrant and hose holder	slab around	9	105.00 107.006	945.00
11/3/2022	Non-contract (Operat	General Plant WW	WO 273171940 loaded, hauled an brush that had been cut from fence		6	105.00 711	630.00
11/3/2022	Non-contract (Operat	General Plant WW	WO 273187023 Pulled forms for of leveled dirt	concrete and	9	105.00 107.006	945.00
11/5/2022	Non-contract (Operat	Collection & Pumping	WO 273188398 Male adapter brok had to pull pump fix and replace	ke at pump	6	105.00 107.006	630.00
11/8/2022	Non-contract (Operat	General Plant WW	WO 273171940 Removed and disport brush from site.	posed of	5	105.00 711	525.00
11/10/2022	Non-contract (Operat	General Plant WW	WO 273190801 Put second coat o hand rail around clarifier	f paint on	11.5	105.00 107.006	1,207.50
11/1/2022		Collection & Pumping	Sunbelt Rentals Inv# 131685535-0 273172022	0001 WO:		1,110.21 107.006	1,110.21
				Total			\$7,567.71

	II	NVOICE					
RENTALS		L PAYMENTS		INVOICE NUMBER	13168	5535-0001	
•	PO E	SUNBELT RENTALS, INC PO BOX 409211 ATLANTA, GA 30384-9211			ER 79259	792594 10/17/22	
	ATLANTA				10/17/2		
NVOICE TO					PAGE	1	
MIDWEST WATER OPERATIONS			RECEIVED BY		CONTRACT NU		
PO BOX 580			HUDDLESTO		1316855	35	
DENHAM SPRINGS, LA 70727			BROCKLYN				
			JOB NUMBER 7 - MIDWES	T WATER OP			
JOB ADDRESS 155 HAGER AVE, RICHMOND			BRANCH	ICHMOND KY P	C200		
RESIDENCE 155 hager ave			6001 ATWO	קח חחו			
RICHMOND, KY 40475 8736			RICHMOND,	, KY 40475 83	20		
C#: 636-432-3001 J#: 502-365-8843			859-408-25	75			
QTY EQUIPMENT #		Min	Day	Week	4 Week	Amount	
1.00 7,500LB MINI EXCAVATOR C 649082 Make: JOHN DEE HR OUT: 2733.000 HR IN:	RE Model: 3 2735.400	35G Ser #: TOTAL: 2.	275.00 1FF035GXJ 400	930.00 2 EK271979	2300.00	550.00	
Billed from 10/12/22 t 1.00 18" COMPACT EXCAVATOR BU		2				N/C	
		Re	ntal Sub-t	otal:		550.00	
SALES ITEMS: Qty Item number	Unit	Price					
1 DLPKSRCHG TRANSPORTATION SURCHARGE	EA	68.150				68.15	
1 ENVIRONMENTAL ENVIRONMENTAL/HAZMAT FEE	EA 2133XXX0000	11.720				11.72	
5 DIESEL DIESEL 2141XXX0000	EA	9.000				45.00	
1 RENTAL PROTECTION PLAN	EA					82.50	
DELIVERY CHARGE						145.00	
PICKUP CHARGE						145.00	
				CONTI	NUED		
			2	SUBTOTAL			
			-	ТАХ			

INVOICE TOTAL

Ð

INVOICE

	SEND ALL PAYMENTS TO:			INVOICE NUMBE	R	1316855	535-0001
	30X 409211	LT RENTALS, INC DX 409211			792594		
	ATLANTA	, GA 30384-92	11	INVOICE DATE		10/17/22	
ΙΝΥΟΙCΕ ΤΟ						PAGE 2	
MIDWEST WATER OPERATIONS			RECEIVED BY			NTRACT NUM	
PO BOX 580			HUDDLESTON, PURCHASE ORDER			13168553)
DENHAM SPRINGS, LA 70727	BROCKLYN			K NOWDER			
			JOB NUMBER 7 - MIDWEST	WATER OP			
JOB ADDRESS 155 HAGER AVE, RICHMOND			BRANCH 0200 RIC	HMOND KY I	PC20	0	
RESIDENCE 155 HAGER AVE RICHMOND, KY 40475 8736			ND, KY 40475 8320				
C#: 636-432-3001 J#: 502-365-8843			859-408-2575	0			
. QTY EQUIPMENT #		Min	Day	Week	4	Week	Amount
				104	7.3	7	

		SUBTOTAL	1047. 37
		ТАХ	62.84
RENTAL RETURN	NET 30	INVOICE TOTAL	1110. 21



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

I	n	VO	ic	e

Date	Invoice #
11/30/2022	10360

DATE RCVD^{01/10/23} GL CODE See Below PRCD BY Heather Tulk GL DATE 12.1.22

APPROVED By Arthur Faiello at 5:52 pm, Feb 16, 2023

Project

KY-Center Ridge Water District 1

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
11/9/2022	Non-contract (Operat	General Plant W	Lawn maintenance leaf removal.	1	675.4 70.00	70.00
11/23/2022	Non-contract (Operat	Services, Meters& Fire	WO 273196718 repair leaking meter and	1	$105.006^{105.00}$	105.00
11/20/2022	Non-contract (On-cast	General Plant W	replace meter box. WO 273198922 painting and cleaning tank and	4		280.00
11/29/2022	Non-contract (Operat	General Plant w	plant maintenance.HH	4	70.00	280.00
11/30/2022	Non-contract (Operat	General Plant W	WO 273198922 clean and paint tank.fo	1.5	105.00	157.50
11/30/2022	Non-contract (Operat	General Plant W	WO 273198922 clean and paint tank.HH	4	V 70.00	280.00
· · · ·				-		\$892.50



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

> 105.006 - \$105.00 675.4 - \$105.00 635.5 - \$315.00 620.6 - \$725.37



Date	Invoice #
11/30/2022	10361

DATE RCVD^{01/10/23} GL CODE See Below

PRCD BY <u>Heather Tulk</u> GL DATE 12.1.22

Project

KY-Center Ridge Water District 2

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
	Non-contract (Operat	General Plant W	Lawn maintenance leaf removal	1.5	675.4 70.00	105.00
11/11/2022	Non-contract (Operat	Services,Meters&Fire	WO 273191260 replace valve on service line. PM	1.5	635.5 ^{105.00}	157.50
11/11/2022	Non-contract (Operat	Services,Meters&Fire	WO 273191264 installed valve and tap on service line.fo PM	1.5	635.5 ^{105.00}	157.50
11/12/2022	Non-contract (Operat	General Plant W	WO 273182874 & WO 273182981:00 Research 29CFR 1910 OSHA regulations to translate and	1	105.00	105.00
			start working work on orders from safety audit findings.fo		105.006	
11/25/2022	Non-contract (Operat	Services,Meters&Fire	WO 273197017 installed 2 Chlorine testing hydrants.fo	3	620.6 ^{105.00}	315.00
11/30/2022		Source of Supply W	Central Bank Credit Card Charges-Repairs/Maintenance		410.37 620.6	410.37
		By Arthur Fa	aiello at 5:52 pm, Feb 16, 2023			
			Total			\$1,250.37

	ME: 10:37		83	ENSION 42.99 19.98 6.49 4.38 1.42 8.66 5.74 5.74 155.98 37.30 37.30	308.70 0.00 308.70	327.22	
	TER DATE / TIME: 11/5/22	RUDOLPH	×	PRICE/ PER EXTENSION 42.99 (EA 42.99 999 (EA 72.99 999 (EA 73.9 0.71 (EA 43.9 0.71 (EA 43.9 2.87 (EA 43.9 7.46 (EA 155.9) 7.46 (EA 37.3) 7.46 (EA 37.3)	TAXABLE NON-TAXABLE SUBTOTAL	TAX AMOUNT TOTAL R 264	Received By
	CLERK: HUNTER	2 TERMI	VOIC	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		LUL	
LES CENTE T 1-2184 -3361 =0 BY RECEIPT DUE ACCOUNT	NET 10TH	DUE DATE: 12/10/22 TERMINAL: 55 SALESPERSON: HR HUNTER RUDOLPH TAX: 001 KY	IN	8000 9.19 9.19 9.19	327.22	^	
MURRAY RENTAL AND SALES CENTER 206 E MAIN ST 206 E MAIN ST MURRAY, KY 42071-2184 PHONE: (270) 753-3361 RETURNS MUST BE ACCOMPANED BY RECEIPT 2% ADDITIONAL CHARGE ON PAST DUE ACCOUNT	REFERENCE: PO # CR02 SUPPLIES	FREDDIE OBRYAN /		BESCRIPTION BEDGONAL CUTTERS NA PULL UTILIT 6-12 ZN HASP FDS STTP 6 2 ZN FESSURE GAUGE 100# MENDING BRACE 8X7/8 ZN 1/2 Y38* BK HEX BUSHIG 3/8*X1-1/2*BRASS NIPPLE 3/4* 55 ST 90 SIMMONS YD HYDNT 2 BURY **2 X 6 INS 21838L XXXXXXXXXXXXXXXX28282 5327 22 AUTH:057755 REF:076983	HAID IN FULL	BANKCARD PAYMENT BKCRD# XXXXXXXXXXX4282	APP: 067755
	PURCHASE ORDER: CR02 SUPPLIES	PERATIONS LLC		T E A 55187N008 2 E A 5286547 2 E A 5287998 2 E A 43134 2 E A 43134 2 E A 43001 2 E A 4300			
	10343 000 000	BOLD TO: MIDWEST WATER OPERATIONS LLC ***CASH ACCOUNT***	cuore occare	10		2.62	5
AUS		and the	1 Miles			TOT WT: 2.62	MID.





1351 Jefferson Street, Suite 301 Washington, MO 63090



 Date
 Invoice #

 11/30/2022
 10362

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

DATE RCVD^{01/10/23} GL CODE See Below

PRCD BY <u>Heather Tulk</u> GL DATE 12.1.22

105.006 - \$420.00 675.4 - \$70.00 620.6 -\$81.60

APPROVED

Project

KY-Center Ridge Water District 3

By Arthur Faiello at 5:52 pm, Feb 16, 2023

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
11/9/2022	Non-contract (Operat	General Plant W	Lawn maintenance leaf removal.	1	^{675.4} 70.00	70.00
11/12/2022	Non-contract (Operat	General Plant W	WO 273182874 & WO 27313298	1	105.00	105.00
			Research29CFR 1910 OSHA. to translate ar	nd		
			start work orders found in safety audit		10506	
			finding.fo			
11/13/2022	Non-contract (Operat	General Plant W	WO 273182910 & WO 373183302 Investig	ate 2		210.00
11/00/0000	N		and research safety audit.fo	1	105.006	105.00
11/20/2022	Non-contract (Operat	General Plant W	WO 273183288 & WO 273183295 Work or	n 1	105.00 105.006	105.00
11/20/2022		a ca i w	audit finding and more.fo			01.60
11/30/2022		Source of Supply W	Central Bank Credit Card		81.60 620.6	81.60
			Charges-Repairs/Maintenance		620.6	
		1			1	
			Tota			\$571.60

1 ON	ue: 9:43	72	ENSION 4 25 4 19 3 399 25 49 7 99 29 •	76.98 0.00 76.98 4.62 81.60	
PAGE NO	ZI 0472 / TME	12/10/22 TEMMANL 557 MB MITZI BURRESS 001 KY IMV/OICF- 451072	PRICE/ PER EXTENSION 0.54 FA 4.19 0.54 FA 4.19 3.99 FEA 2.549 7.99 FEA 2.949 2.999 FEA 2.949 2.999 FEA 2.949	TAXABLE NON-TAXABLE SUBTOTAL TAX AMOUNT TOTAL	NIXVS.
ALE ELEC CO. ES CENTER 2184	0 BY RECEIPT DUE ACCOUNT PANS. CLERK NET 10TH MITZI	DUE DATE: 12/10/22 TERMINAL BALESPERSON, MB MITZI BURRESS TAX: 001 KY	5005 .60 .60 .60	81.60 [Jun .
MURRAY SUPPLY CO, WHOLESALE ELEC CO MURRAY SUPPLY CO, WHOLESALE ELEC CO MURRAY RENTAL AND SALES CENTER 206 E MAIN ST MURRAY, KY 42071-2184 PHOME: (27) 753-3364	RETURNS MUST BE ACCOMPANIED BY RECEIPT 2% ADDITIONAL CHARGE ON PAST DUE ACCOUNT REVENSES. PO # CR02A NET 10TH	SWP TO: FREDDIE OBRYAN / SALESFE	DESCRIPTION 112"90 SCH40 112"CPL SCH40 114" AIR VALVE LSV-1 NA 114" AIR VALVE LSV-0 NA 118" AIR VALVE LSV-0 NA 18" AIR VALVE LSV-0 NA 18" AIR VALVE LSV-0 NA 18" AIR VALVE LSV-1 NA 12" AIR VALVE LSV-1 NA 11" AIR VALVE LSV-1 NA 12" AIR VALVE LSV-1 AIR V	** PAID IN FULL ** BANKCARD PAYMENT BKCRD# XXXXXXXX282	
-	PPLY COMPANY, INC. No. JOB NO. PURCHARE ORDER IN CR02A	B TO: DWEST WATER OPERATIONS LLC CASH ACCOUNT***	HIPPED ORDERED UM SKU 2 2 2 43104 1 1 2 4509436 1 1 2 4509436 1 1 2 33511 1 2 33511 1 2 3258LU		7



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Invoice

 Date
 Invoice #

 11/30/2022
 10363



105.006 - \$822.50 675.4 -\$70.00 620.6 - \$41.33

Project

KY-Center Ridge Water District 4

APPROVED By Arthur Faiello at 5:52 pm, Feb 16, 2023

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
	Non-contract (Operat Non-contract (Operat	General Plant W General Plant W	Lawn maintenance leaf removal .fo WO 273182874 & WO 273183298.Re 29CFR 1910 OSHA . to translate and s working on work orders found in safety finding work ordersfo	start	1	675.4 70.00 105.00 105.006	70.00 105.00
11/29/2022	Non-contract (Operat	General Plant W	WO 273198918 clean and paint tank.fo	o	1.5	105.00d05.00	157.50
	Non-contract (Operat	General Plant W	WO 273198818 cleaning and maintena painting on water tank, HH		4	70.00 105.006	280.00
11/30/2022 11/30/2022	Non-contract (Operat	General Plant W Water Treatment & Pu	WO 273198918 clean and paint tank.H Central Bank Credit Card	Η	4	105.006 70.00 41.33	280.00 41.33
			Charges-Repairs/Maintenance			620.6	
			<u> </u>				
			т	Fotal			\$933.83

PAGE NO 1	DATE / TIME: 11/18/22 1:30	558	: A53315	38.99 /EA 38.99 •	TAXABLE 38.99 NON-TAXABLE 0.00 SUBTOTAL 38.99	TAX AMOUNT 2.34 TOTAL 41.33
ESALE ELEC CO. ALES CENTER T 1-2184 -3361 EDB RECEIPT DUE ACCOUNT DUE ACCOUNT	TERMS: CLERK: JACOB	DUE DATE: 12/10/22 TERMINAL: 558 SALESPERSON: JH JACOB HINKLE TAX: 001 KY	INVOICE: A53315		41.33 TAXABLE NON-TAX. SUBTOTA	TAX TOT EE119 XIIIII
MURRAY SUPPLY CO, WHOLESALE ELEC CO. MURRAY RENTAL AND SALES CENTER 206 E MAIN ST MURRAY, KY 42071-2184 RETURNS MUST BE ACCOMPANED BY RECEIPT 25% ADDITIONAL CHARGE ON PAST DUE ACCOUNT	PO#CR04	SHIP TO. FREDDIE OBRYAN /		CERAMIC HTR ADJ THRMO	PAID IN FULL	BANKCARD PAYMENT BKGRD# XXXXXXXXXX4282 APP: 007363 XR: 053315
PANY, MG.	10343 000 CR04	seld to. MDWEST WATER OPERATIONS LLC CASH ACCOUNT	SHIPPED ODDEDED	5369920 		2



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

Date	Invoice #
11/30/2022	10364



APPROVED By Arthur Faiello at 5:52 pm, Feb 16, 2023

Project

KY-Darlington Creek Wastewater

Serviced	Item Code	Class	Description	Qty	Price Each	Amount
11/2/2022	Non-contract (Operat	Treatment & Disposal	WO 273187543 called and waited on septic haul. They called back about 2 hours later and said it would have to be Thursday before they got to Darlington. Zw	4	70.00	280.00
11/28/2022	Non-contract (Operat	Treatment & Disposal	WO 273202277 Assisted w/ Sludge haul (2 loads 4500 gals, 9000 total.)	4	105.00	420.00
11/7/2022		Collection & Pumping	Buchanan Contracting, Inc Inv# 26562		2,437.50	2,437.50
	1	1	Total	1	1	\$3,137.50

BUCHANAN CONTRACTING INC

711 BOONE AVE WINCHESTER, KY 40391 8594987824 info@buchanancontracting.net

INVOICE

BILL TO

MIDWEST WATER OPERATIONS, LLC PO BOX 580 DENHAM SPRINGS, LA 70727 BUCHANAN CONTRACTING INC.

 INVOICE #
 26562

 DATE
 11/07/2022

 DUE DATE
 12/07/2022

 TERMS
 NET 30

PO # 273185425	JOB # 117902022		PROJECT LONGVIEW GOLF C	COURSE	
DATE	ACTIVITY		QTY	RATE	AMOUNT
11/04/2022	VAC DEBRIS HIGH PRESSURE CLEANING AND VACUUM REM PUMP STATION TANK	OVAL OF DEBRIS FROM	7.50	245.00	1,837.50
11/04/2022	DISPOSAL FEE FEE TO DUMP DEBRIS FROM CLEANING OF WAS	STE PUMP STATION TAN	4 JK	150.00	600.00
		SUBTOTAL			2,437.50
		ТАХ			0.00
		TOTAL			2,437.50
		BALANCE DUE		\$2,4	437.50



1351 Jefferson Street, Suite 301 Washington, MO 63090

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 1650 Des Peres Rd, Suite 303 St. Louis, MO 63131

I	nv	oi	ce

Date	Invoice #
11/30/2022	10365

DATE RCVD^{01/10/23} GL CODE See Below PRCD BY Heather Tulk GL DATE 12.1.22

APPROVED By Arthur Faiello at 5:52 pm, Feb 16, 2023

Project

KY-Delaplain WW

Serviced	Item Code	Class	Description		Qty	Price Each	Amount
11/29/2022	Emergency Locate 2	Collection & Pumping	WO 273198796 emergency locate Elizabeth Jade MWC	e 104	0.5	712 70.00	35.00
	*Reimb Group						
7/27/2022		Treatment & Disposal	Martin's Sanitation Invoice 12200			722 1,575.00	1,575.00
8/30/2022		Treatment & Disposal	Martin's Sanitatiion Invoice 1228 Total Reimbursable Expenses	09		722 1,575.00	1,575.00 3,150.00
				Total			\$3,185.00



DATE	INVOICE #
8/30/2022	122809

BILL TO:

MIDWEST WATER OPERATIONS, LLC CWS PO BOX 580 DENHAM SPRINGS, LA 70727

			P.O. NO.	TERMS
				Due on receipt
QUANTITY	DESCRIPTION	RATE	SERVICED	AMOUNT
3	(LOADS) PUMPING TREATMENT PLANT @ DELAPLAIN GEORGETOWN, KY - 12,000 GALLONS TOTAL	525.00	8/30/2022	1,575.00
Thank you for your b	usiness.	Tota	I	\$1,575.00
		Bal	ance Due	\$1,575.00

A finance charge of 2% per month will be applied to your unpaid due balance if payment is not received by the due date on this invoice. In the event any indebtedness owed to Martin's Sanitation Service, Inc., its' successors or assigns, is referred to a collection agency or an attorney, not a salaried employee of Martin's Sanitation Services, Inc., for collections, the undersigned expressively agrees to pay any and all costs and expenses including reasonable attorneys' fees incurred by Martin's Sanitation Service, Inc.

Phone #	Fax #	E-mail	Web Site
859-987-2529	859-987-2583	accounting@mss-kpt.com	www.martins-services.com



DATE	INVOICE #
7/27/2022	122005

BILL TO:

MIDWEST WATER OPERATIONS, LLC CWS PO BOX 580 DENHAM SPRINGS, LA 70727

			P.O. NO.	TERMS
				Due on receipt
QUANTITY	DESCRIPTION	RATE	SERVICED	AMOUNT
3	(LOADS) PUMPING TREATMENT PLANT @ DELAPLAIN GEORGETOWN, KY - 12,000 GALLONS TOTAL	525.00	7/27/2022	1,575.00
Гhank you for your b	usiness.	Tota	l	\$1,575.00
		Bal	ance Due	\$1,575.00

A finance charge of 2% per month will be applied to your unpaid due balance if payment is not received by the due date on this invoice. In the event any indebtedness owed to Martin's Sanitation Service, Inc., its' successors or assigns, is referred to a collection agency or an attorney, not a salaried employee of Martin's Sanitation Services, Inc., for collections, the undersigned expressively agrees to pay any and all costs and expenses including reasonable attorneys' fees incurred by Martin's Sanitation Service, Inc.

Phone #	Fax #	E-mail	Web Site
859-987-2529	859-987-2583	accounting@mss-kpt.com	www.martins-services.com



Invoice

Date	Invoice
10/2/2019	962

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 500 Northwest Plaza Dr., Suite 500 St. Ann, MO 63074

DATE RCVD_	0319 GL CODE
SCAN	EMAILJOB
DATAPP	QB_0/1/19
DT PD. 11/4	<u>//9CK#/018</u>
742-	\$4168.00 107.001-\$1854.75

Project

				RY-AIR	view Utilities Wast	ewater
Serviced	Qty.	Item Code	Description		Price Each	Amount
	1	KY-Bluegrass Operati	Contract Operational Services for October		4,133.00	4,133.00
9/23/2019	4	Non-contract (Operat	Extra cleanup due to plant abandoned. AG		70.00	280.00
9/23/2019	4	Non-contract (Expert	Overhaul/cleaning of abandoned facility		100.00	400.00
9/26/2019	2.5	Non-contract (Operat	Clean up and reconstruct failed plant components,AC	ì	70.00	175.00
9/26/2019	З	Non-contract (Operat	Electric work/rewire and bring plant online. AG		70.00	210.00
9/26/2019	3	Non-contract (Expert	Electrical work and extra cleanup/repair. JR		100.00	300.00
9/26/2019	2.5	Non-contract (Expert	Cleaned up abandoned site for system startup. JR		100.00	250.00
	2	Vehicle Use Reimb Group	Vehicle Use		35.00	70.00
9/30/2019			Thompson and Son Electric LLC-Invoice 2019-255, 09/	30/2019	195.00	195.00
			Total Reimbursable Expenses			195.00
			Markup		5.00%	9.75
			Total Reimbursable Expenses	a		204.75
				Tot		\$6,022.75
				100		40,022.75

 Thompson and Son Electric LLC

 235 Lincoln Ave

 Elizabethtown, KY 42701 US

 • 270-268-5256

 dougdthompson@gmail.com

 www.ThompsonElectricKY.com

 BILL TO

 Terry Merritt

 IbATE 00/00/20179

 TERIME INAN 144

 DUE IDATE 100/14420/113

 Active work Ky

 IBATE 4001/001/15

 DESIGN/IPTION

 OTHE 4001/001/15

9/30/2019	Sales	After hours service call	195.00	195.00
-----------	-------	--------------------------	--------	--------

POTAL DUE SIGES (00



Ï	n	U	0	î	C	e
		-	-		-	-

 Date
 Invoice

 10/2/2019
 963

Bill To

DATE RCVD SCAN____EMAIL JOB QB 10/1/19 DATAPP 01 DT PD_11 CK# -4 28.08 107.001 142-44168.00 Project

KY-Brocklyn Utilities Wastewater

Serviced	Qty.	Item Code	Description	Price Each	Amount
	1	KY-Bluegrass Operati	Contract Operational Services for October	4,133.00	4,133.00
9/24/2019	2	Non-contract (Operat	Extra cleanup due to plant abandoned. AG	70.00	140.00
9/24/2019	2	Non-contract (Expert	Overhaul/cleanup of facility. JR	100.00	200.00
9/26/2019	2.5	Non-contract (Operat	Clean up and work on rebuilding non-functioning components. AG	70.00	175.00
9/26/2019	2	Non-contract (Operat	Freed seize blower, wiring repair, air lift repair, AG	70.00	140.00
9/26/2019	0.5	Non-contract (Expert	Extra-Cleaned up site. JR	100.00	50.00
9/26/2019	2	Non-contract (Expert	Freed seize blower, wiring repair, air lift repair. JR	100.00	200.00
9/26/2019	1.75	Non-contract (Expert	Extra-Cleaned up site. JR	100.00	175.00
	2	Vehicle Use Reimb Group	Vehicle Use	35.00	70.00
10/10/2019			Elliott Turner-Invoice 092919A, 09/29/2019	488.65	488.65
			Total Reimbursable Expenses		488.65
1			Markup ' Total Reimbursable Expenses	5.00%	24.43 513.08
			Tot	al	\$5,796.08

Invoice #092919A

Bangrass Bangrass

September 29, 2019

To: Midwest Water Operations LLC 1351 Jefferson Street Suite 301 Washington MO 63090

From: Elliott Turner 502 Three Forks Rd Richmond KY 40475

	Description	Price	Total
1 Bucket Chlorine + tax		\$170.66	\$170.66
2 Bucket Declhlor + tax		\$159.00	\$318.00

Total Due

\$488.66



Invoice



Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 500 Northwest Plaza Dr., Suite 500 St. Ann, MO 63074

DATE RCV	D 10 3 19 GL CODE
SCAN	EMAILJOB
DATAPP_	QB_10/1/19
DT PD	<u>419</u> CK# 1018
742-46	1168.00 107.001-4620.00

Project

				KY-Fox R	un Utilities Wa	stewater
Serviced	Qty.	Item Code	Description		Price Each	Amount
9/26/2019 9/26/2019 9/26/2019 9/26/2019	1 2 2 2 2 1	KY-Bluegrass Operati Non-contract (Operat Non-contract (Expert Non-contract (Operat Vehicle Use	Contract Operational Services for October Clean up. AG Repair to pump and blower.AG Repaired pump and blower. JR Rebuild of influent pump and return. JA Vehicle Use		4,133.00 70.00 100.00 70.00 35.00	4,133.00 140.00 200.00 140.00 35.00
			÷	Tota	1	\$4,788.00



Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

Date	Invoice
10/2/2019	. 965

Project

Bill To

DATE RCVD	013/19 GL CODE 743
SCAN	EMAILJOB
DATAPP	QB 10 11 9
DT PD_114	<u>19</u> _CK#_1018

				KY-Go	olden Acres Waste	ewater
Serviced	Qty.	Item Code	Description		Price Each	Amount
Serviced	Qty. 1	Item Code			4,133.00	4,133.00
				Tota	al	\$4,133.00



Invoice

Date	Invoice	
10/2/2019	966	

Project

Bill To

DATE RCVI	10/3/19	GL CO	DE <u>743</u>
SCAN	EMAIL	J(ОВ
DATAPP		2B_10	1119
DT PD	4/19	CK#	1018

				KY-Gr	eat Oaks Wastev	vater
Serviced	Qty.	Item Code	Description		Price Each	Amount
Jerviceu	1	KY-Bluegrass Operati	Contract Operational Services for October		4,133.00	4,133.00
				Tota		\$4,133.00



Invoice

Date	Invoice
10/2/2019	, 967

Project

Bill To

DATE RCVD	10/3/19 GL CODE 742
SCAN	EMAILJOB
DATAPP	QB [0]1/19
DT PD	119 CK# 1018

				KY-K	ingswood Waste	water
Serviced	Qty.	Item Code	Description		Price Each	Amount
9/24/2019 ,	Qty. 1 1	KY-Bluearass Operati	Description Contract Operational Services for October Worked on blowers so that we could run two, to prep hauling. TM Vehicle Use	are sludge for	4,133.00 100.00 35.00	4,133.00 100.00 35.00
				Tota	al	\$4,268.00





Date	Invoice
10/2/2019	968

Project

Bill To

DATE RCVD	10 3 19 GL CODE 742
SCAN	JOB
DATAPP	QB10/1/19
DT PD	<u>4/19</u> CK#_ <u>1018</u>

				KY-Lake Co	olumbia Utilities	Wastewater
Serviced	Qty.	Item Code	Description		Price Each	Amount
9/24/2019 9/25/2019	1 4 2 2	KY-Bluegrass Operati Non-contract (Operat Non-contract (Expert Vehicle Use	Contract Operational Services for October Extra clean up due to plant abandoned. AG Repaired airlift returns, cut brush and trees off fence. Vehicle Use	тм	4,133.00 70.00 100.00 35.00	4,133.00 280.00 200.00 70.00
	-					
			>			
				Tota	al	\$4,683.00



Invoice

Date	Invoice
10/2/2019	969

Bill To

DATE RCVD	10 3 19 GL	CODE 742
SCAN	_EMAIL	_JOB
DATAPP	QB_	10/1/19
DT PD_11	<u>tlig</u> o	CK# <u>10(8</u>

]		Project	
				KY-LH	Treatment Was	tewater
Serviced	Qty.	Item Code	Description		Price Each	Amount
	1	KY-Bluegrass Operati	Contract Operational Services for October		4,133.00	4,133.00
2						
		,				
	10					
1						
				a		
					~	
		,				
				Tota	al	\$4,133.00



Invoice

	Date	Invoice
3	10/2/2019	970

Bill To

DATE RCVD	10/3/19 GL CO	DDE 742
SCAN		JOB
DATAPP	QB0	1119
DT PD_14	<u>4/19</u> _ск	#_1018

Project	
KY-Persimmon Ridge Waster	water

Serviced	Qty.	Item Code	Description		Price Each	Amount
	1	KY-Bluegrass Operati	Contract Operational Services for October		4,133.00	4,133.00
		-				
						ġ.
0			i Anti-		10	
	1			2		
						0
					2	
			i de la companya de la compa		34	
				Tete		C. 122 00
				Tota	11	\$4,133.00



Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 500 Northwest Plaza Dr., Suite 500 St. Ann, MO 63074

Date	Invoice
11/6/2019	1008

DATE RCVD	11/8/19	GLCO	DE	V
SCAN	EMAIL	J(DB	-0
DATAPP		QB_10	31	19
DT PD 12/3	0/19	CK#	100	60

107,001	- #33,559.43	
752-	# 860.00	

		107,001- #:	0.00 St 21-19 KY-Airvi	Project	
		15-2-4 80	Cr00	iew Utilities Wa	stewater
Serviced	Qty.	Item Code	Description	Price Each	Amount
	- interest	-KY-Bluegrass Operati	Contract Operational Services for November	4,133.00	4,133.00
10/3/2019	3.33333	Non-contract (Expert	Trash removal, Brooklyn, parts purchased, installed new decant line from polishing cell prep for sludge removal, install new plant to dechlorination box, install new RAS down pipe, electrical panel review effluent pump, new blower filter. JR	100.00	
10/7/2019	3,58333	Non-contract (Operat	Trimming and cleaning up trees next to or leaning over the plant. KC	70.00	250.83
10/10/2019	7.33	Non-contract (Operat	Airview running over, trash and debris is from system, had all pipes plugged, cleared clarifier influent pipe. AG	70.00	513.10
10/10/2019	8.5	Non-contract (Expert	Airview running over, cleared trash and debris from system, had all pipes plugged, cleared clarifier influent pipe. JR	100.00	850.00
10/11/2019	13	Non-contract (Operat	Blower work, aligned pulleys, new belts, new blower manifold hoses, added decholine chamber, jetted clarifier influent pipe. Cleaned and unplugged clarifier influent pipe. AG	70.00	910.00
10/11/2019	13.08333	Non-contract (Expert	Airview fixed water leak, unplugged clarifier inlet pipe, aligned belt pulleys, installed new blower belts, fixed manifold air leak, replaced blower discharge hose, rough in dechlorination unit. Trouble shoot effluent pump float. JR	100.00	1,308.33
10/12/2019	10	Jetter Unit Operator	Mobilizing and site planning setup for following week. AG	180.00	
10/12/2019	9	Jetter Operator	Line cleaning and repair-Mobilizing and site planning to get jetting set up for following week, IR	70.00	10.7
10/14/2019	11	Jetter Unit Operator	Mobilize letter, set up at Airview Estates, manhole assessment, AG	180.00	
10/14/2019	12.5	Non-contract (Expert	Travel to job site, contact local water suppliers for bulk water for jetting services, develop parts list for replacement aeration header, digester header, effluent line replacement. Opened various manhole to confirm flow patterns and force main discharge point to develop jetting route plan. JR	100.00	1,250.00
10/14/2019	11	Jetter Operator	Line cleaning and repair-Mobilize jetter, set up at Airview estates, manhole and collection system inspection. CN	70.00	770.00
10/15/2019	13	letter Unit Operator	letted sewers at Airview . AG -	180.00	
10/15/2019	13.08333		Manufactured aeration and digester header, installed, troubleshoot effluent pump float switch, removed excessive debris buildup in and around clarifier inlet pipe for proper operation, remove excessive debris from RAS inlet, jetted clarifier and RAS inlet pipes, install walk grating to access waste valve, freed up stuck waste valve, tech assistance to jetting crew on several blockages, ordered filter assembly for blower, solicited quote for replacement JR	100.00	1,308.33
	1	1	Tota	al ₩38,	\$22.43

F,419,43

Page 1



Bill To

CSWR, LLC/KY-Bluegrass Utility Josiah Cox 500 Northwest Plaza Dr., Suite 500 St. Ann, MO 63074

Invoice

Date	Invoice
11/6/2019	1008

KY-Airview Utilities Wastewater

Serviced	Oty.	Item Code	Description	Price Each	Amount
10/15/2019	13	Jetter Operator	Line cleaning and repair-Jetted sewers at Airview. CN	70.00 180.00	2,520.00
10/16/2019	14	Jetter Unit Operator	Jetted sewers at Airview, AG	100.00	1,400.00
10/16/2019	14	Non-contract (Expert	Finished Installing new pipe digester, adjusted air diffuser direction, manufactured and installed new dechlorination feeder, removed half antiquated aeration blower, inquired local contractors for sewer repair, spoke with sludge company for Brooklyn plant. Replaced about 200 foot effluent line, added additional weight to effluent pump float, JR		969.50
10/16/2019	13.85	Jetter Operator	Line cleaning and repair-letted sewers at Airview. CN	70.00	909.00
10/18/2019	5	Jetter Unit Operator	latted sewers at Airview, AG	180.00	1,050.00
10/18/2019	10.5	Non-contract (Expert	Removed old plant components, discussion on additional plant needs for basic, proper operation. JR	100.00	
		letter Operator	Line cleaning and repair-Clean and jet sewer lines. CN	70.00	420.00
10/18/2019 10/ <u>22</u> /2019	6 3.25	Non-contract (Operat	Installed a sleeve for decolonization tablets and gathered up a few more tires and trash from site.kc	70.00	
10/23/2019	12	Non-contract (Expert	Airview-mark sewer line issue locations for contractor, pinned plant, checked lift station, plant review with operators, checked settle ability.	100.00	1,200.00
10/26/2019	з	Non-contract (Expert	JR Customer at 95 East Airview sewer backup complaint, upstream / downstream manholes, clear free flowing, spoke with customer, verified	100.00	300.00
			sewer backed up in their outside clean out, opened upstream neighbor's clean out no backup present, opened clean out in ditch appeared to be over main no back up present. Both adjoining clean outs within about 15 feet of customers clean out. Conveyed info to Ben. JR		1752
10/30/2019	4	Non-contract (Operat	Addressed issue at house 97 opened manholes found standing water. Worked on blower	70.00	280.00
10/31/2019	2	Non-contract (Operat	Acquired rain gear.klc Check for blockage at house 97 W Airview Drive opened manholes up and downstream and cleaned up bypass site at lift station. KC	70.00	140.00
			The second	70.00	140.00
10/31/2019	2	Non-contract (Operat 12 Vehicle Use Reimb Group	Vehicle Use	35.00	420.00
			Quality Inn & Suites-Lodging, 10/11/2019, ag-307	77.51	
10/11/2019			Quality Inn-Lodging, 10/11/2019, jr-309	77.5	
10/11/2019			Napa Auto Parts-Materials, 10/11/2019, AG	98.7	
10/11/2019 10/11/2019			Lowe's-Materials, 10/11/2019, JR	¥436.9	2 436.92
			Tot	al	



Midwest Water Operations LLC 1351 Jefferson Street, Suite 301 Washington, MO 63090 admin@midwestwaterop.com

Bill To

Date	Invoice
11/6/2019	1008

Project	
KY-Airview Utilities Wastewater	

Serviced	Qty.	Item Code	Description	Price	e Each	Amo	
Serviced 10/11/2019 10/11/2019 10/12/2019 10/12/2019 10/15/2019 10/15/2019 10/15/2019 10/15/2019 10/15/2019 10/15/2019 10/15/2019 10/16/2019 10/16/2019 10/16/2019 10/16/2019 10/16/2019 10/17/2019 10/12/2019 10/25/2019 10/31/2019 10/31/2019			Lowe's-Supplies, 10/11/19, JR Tractor Supply-Materials, 10/11/2019, JR Masters Supply IncInvoice 4609285, 10/11/2019, JR Quality Inm & Suites-Lodging, 10/12/2019, ag-309 Quality Inn-Lodging, 10/15/2019, jr-307 Quality Inn-Lodging, 10/15/2019, jr-309 Quality Inn-Lodging, 10/15/2019, Jr-310 Lowe's-Materials, 10/15/2019, JR Quality Inn-Lodging, 10/16/2019, jr-309 Quality Inn-Lodging, 10/16/2019, jr-309 Quality Inn-Lodging, 10/16/2019, jr-307 Quality Inn-Lodging, 10/16/2019, jr-308 Lowe's-Materials, 10/16/2019, Jr-108 Quality Inn-Lodging, 10/17/2019, jr-207 Hydro-Kinetics Corporation-Invoice 11034, 10/23/2019 Thompson and Son Electric LLC-Invoice 2019-255, 09/30/2019 Total Reimbursable Expenses Markup Total Reimbursable Expenses		343.15 29.47 38.43 98.11 98.11 87.09 109.14 109.14 109.14 109.14 109.14 19.57 87.09 87.09 87.09 87.09 87.09 110.60 77.51 77.51 180.54 313.09 5,958.19 195.00 5.00%		343.15 29.47 38.43 98.11 87.09 109.14 109.14 109.14 59.10 19.57 87.09 87.09 87.09 87.09 87.09 110.60 77.51 180.54 313.09 5,958.19 195.00 8,855.72 442.79 9,298.51
				Total		\$	38,622.4



INVUICE IVUO

		Quality Inn & Suites (KY	129) Account: Date:	679694 10/11/1	
		2009 N. Mulberry St.	Room:		550
		Elizabethtown, KY 42701	Arrival Date:	10/10/1	9
QUALITY.		(270) 765-4166	Departure Date:	10/11/1	9
CHOICE		GM.KY129@choicehotels com	Check in Time:	10/10/1	19731 PM
March 1997			Check Out Time:		
GRIFFEN, A	NDREW		Rewards Program ID:	GP-AX	G418010
111744 HGH	HWAY DD		You were checked out by:		
HANNIBAL,	MO 63401		You were checked in by:	ksisou	
			Total Balance Due:		
ost Date	Description	Comment			AROUR
0/10/19	Visa Payment	Charles and the second second second	STATE OF COMPANY		(77.51)
0/10/10	100 0,000	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	(X06 86		
10/10/19	Room Charge	#307 GRIFFEN,	ANDREW		70-30
10/10/19	State Tax				り 浩士
0/10/19	City / County	Гах			2 24
0/10/19	Occupancy Ta	ax			0.75
and the second	tarda des desest	Folio Summary	10/10/19 - 10/10/19		
					70/30
	Room Charge)			4.22
	State Tax	Tox			2.24
	City / County				0.75
	Occupancy Ta Visa Payment				(77.51)
	visa Paymen	L	Balance)ue:	0.00

This rate is eligible for partner rewards. If this rate is changed, you may no longer be entitled to Choice Privileges points.

If payment by credit card, I agree to pay the above total charge amount according to the card issuer agreement.

M 0

CHOICE privileges.

Congratulations. You are earning Choice Privileges Points for this stay. And rew Griffin Atwice

			Account:	679694812	
QUALITY.		Quality Inn & Suites (KY129)	Date.	10/11/19	
		2009 N. Mulberry St.	Room:	300 ssi	
		Elizabethtown, KY 42701	Arrival Date:	10/10/19	
		(270) 765-4166	Departure Date:	: 10/11/19	
		GM.KY129@choicehotels.com	Check In Time:	10/10/19.3	13 FM
			Check Out Time:		
ROGERS, JON			Rewards Program ID:	GP JXR736	5619
UNKNOWN			You were checked out by:		
HANNIBAL, MO 63401			You were checked in by:	ksisou	
50			Total Balance Due:	0.00	
Post Date	Description	Comment			AGOME
10/10/19	Visa Payment	Contraction of the second s			(77-54)
		XXXXXXXXXXXXX2990			
10/10/19	Room Charge	#309 ROGERS, JON			70:30
10/10/19	State Tax				4.55
10/10/19	City / County 7	Гах			2.24
10/10/19	Occupancy Ta	х			0.75
A 14 19 19 19		Folic Summary 10/10/1	9 - 10/10/19	- A	
LEO E SUM S	Room Charge	Contraction of the second s	al da hafazo di protesi rivo		70-30
	State Tax				4.22
	City / County	Гах			2.24
	Occupancy Ta				0,75
	Visa Payment			14.10.000.001	(77.54) V
	•		Balance I		0.09

This rate is eligible for partner rewards. If this rate is changed, you may no longer be entitled to Choice Privileges points.

If payment by credit card, I agree to pay the above total charge amount according to the card issuer agreement.

x CHOICE privileges.

Congratulations. You are earning Choice Privileges Points for this stay

Aprilen R